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Semester 1l | _712: Financial Management
3 Credits | LTP: 2:1:1 Compulsory Generic Core Course |
1. Business Finance: Introduction to Business Finance, Meaning and Definition of Financial

Management, Objectives of Financial Management- (Profit Maximization and Wealth Maximization),
Modern Approach to Financial Management- (Investment Decision, Financing Decision, Dividend Policy
Decision), Finance and its relation with other disciplines, Functions of Finance Manager {3+2)

2. Techniques of Financial Statement Analysis: Introduction, Objectives of financial statement
analysis, various techniques of analysis viz Common Size Statements, Comparative Statements, Trend
Analysis, Ratio Analysis, Funds Flow Statement & Cash Flow Statement {10 + 2)

3, Working Capital Management: Meaning of Working Capital, its components& types, Operating
Cycle, Factors affecting working capital, Estimation of working capital requirement. (Total Cost
Method & Cash Cost Method) (8 + 2)

4, Capital Structure: Meaning and Factors affecting Capital Structure, Different sources of
finance. Concept and measurement of Cost of Capital (measurement of Specific Cost and WACC),
Trading on Equity, Concept of Leverages and its types.{6 +2)

5. Capital Budgeting: Meaning, Definition of Capital Budgeting, Time value of money.Tools of
evaluation of the project based on traditional techniques and modern techniques - ARR, Payback
Period, Discounted Payback Period, NPV, Pl & IRR (6+2)

Note: Numerical Problems will be asked on following topics only—

Common Size Statements

Comparative Statements

Trend Analysis

Ratio Analysis (Calculation of ratios plus its interpretation)

Estimation of working capital requirement (Total Cost Method & Cash Cost Method)
Operating Cycle

Measurement of Specific Cost (Cost of Equity, Preference, Retained Earnings and Debt) and WACC
Capital Structure

Leverages

Capital Budgeting (ARR, Payback Period, Discounted Payback Period, NPV, Pi & IRR)
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Suggested Text Boaoks:

Financial Management, Shashi K. Gupta and R.K. Sharma {Kalyani Publication)

Basics of Financial Management, V.K. Saxena and C.D.Vashist (Sultan Chand & Sons)

Financial Management, A Contemporary Approach, Rajesh Kothari (SAGE)

Financial Management, Dr. Mahesh Abale & Dr. Shriprakash Soni (Himalaya Publishing House Pvt. Ltd.)
Working Capital Management, Theory and Practice, Dr. P. Periasamy (Himalaya Publishing House)
Financial Management, | M Pandey (Vikas Publishing House Pvt. Ltd)

Fundamentals of Financial Management, A.P.Rao (Everest Publishing House)

Advanced Financial management, N.M. Vechalekar
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Suggested Reference Books:
1. Financial Management, Rajiv Srivastava and Anil Misra (OXFORD University Press)
2. Financial Management, Ravi Kishore (Taxmann)
3. Financial management, V.K. Bhalla (S. Chand)
Financial Management, Jonathan Berk, Peter DeMarzo and Ashok Thampy (Pearson Publication)
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Sinhgad Technical Education Society's
SINHGAD INSTITUTE OF BUSINESS ADMINISTRATION & COMPUTER APPLICATION
Kusgaon (Bk.), Lonavala, Pune 410401

MBATSEM I
TEACHING PLAN
(AY-2021-2022: Semester- 1l)

Subject : 202: Financial Management Faculty Name: Mrs. Sadhana Awate
Class: MBA-I Sem Il
% Subject Results For Last Two Years :

‘ 2019-20 | |
| 2020-21 |
i N |
Lect. | Unit Planned Topic & Contents Planned Conducted
~ No. ' No. Dates | Dates
09/5/2022 | In.trodu.ct|on to Business Finance, Meaning and Definition of 09/5/2022
1 il Financial Management,
0/5/2022 Objectives of Financial Management- (Profit Maximization
2 1 10/5/20 and Wealth Maximization), | 10/5/2022
|
- | Modern Aﬁ)roach to Financial Management- (|nvestment_ -
3 il e Decision, Financing Decision, Dividend Policy Decision), o
12/5/2022 F!nance and its relation with other disciplines, Functions of 11/5/2022
4 il Finance Manager
5 ) | 17/5/2022 Format of Balance Sheet 121512022
6 |2 18/5/2022 | Format of Income statement - 17/5/2022
7 ‘2 | 19/5/2022 Comparative statement 18/5/2022
8 2 23/5/2022 | Common Size Statement 19/5/2022
9 |7 | 24/5/2022 Trend Analvsis 23/5/2022
10 |2 | 25/5/2022 Ratio Analysis — All Rations - 24/5 (2 lectures)
11 2 26/5/2022 Sums on Ratio analysis 30/5 /2022
12 |2 | 27/5/2022 | Sums on Ratio analysis 30/5 (Extra Lect.)
13 |2 | 30/5/2022 Evaluation -1 (Case Study) 1/6/2022
14 |2 31/5/2022 | Funds Flow Statement (Format) 3/6/2022
15 |3 01/6/2022 Cash Flow Statement (Format) - 6/6/2022
| o —
16 3 03/6/2022 Meaning of Working Capital, its components& types 716/2022
17 |3 | 06/6/2022 Operating Cycle, - Sums p— 7/6/2022
’/‘//’J‘:’_ r‘“.:].’j ,I‘,':‘\K\_
18 3 | 07/8/2022 | Factors affecting working capital g%‘r’f" NN 8/6/2022
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[49 |3 08/3/2022 | Estimation of working capital requirTenTent - Total Cost Method | 09/6/2022
20 _-i 3 .i_0_9/6/2022—|i EAsettihmoadti_on of workingc_apital requirén?ent - Cash Cost ' 09/6/2022—
21 iI 3 13/6/2022 | Sums on working capital requirement - 131612022
59 ; 4 | 14/6/2022 ' illoeuarlnsgoe;r;i(:];:sé:;ors affecting Capital Structure, Different 14/6/2&2

23 |4 15/6/2022 Evaluation 2 — (Test of 20 Marks) - 15/6/2022

| 24 4 16/6/2022 | Calculation of Cost of Debt o 16/6/2022
25 |4 | 20/6/2022 Calculation of Cost of Equity - 20/6/2022

26 |4 | 21/6/2022 Calculation of Cost of Preference share capital | 21/6/2022
27 |4 | 22/8/2022 | Calculation of WACC - | 22/6/2022 o
28 —f. 4 | 23/6/2022 | Sums on Capital Structure planning 231612022

29 4 27/6/2022 | Sums orﬁpital Structure planning 24/6/2022
30 |' 4 | 28/6/2022 | Trading on Equity concept 28/6/2022

31 |4 29/6/2022 Types of Leverage — formulas 29/6/2022

32 |5 30/6/2022 Evaluation 3 — (Test of 10 Marks) 30/6/2022
33 |5 | 04/7/2022 Sums on Leverage 04/7/2022
34 5 05/7/2022 Evaluation — 4 (Project Report Presentation) 05/7/2022 B
35 5 1 06/7/2022 | Meaning, Definition of Capital Budgeting 06/7/2022

36 15 07/712022 Time value of money — Simple interest calculation 07/7/2022
37 |5 11/7/2022 Time value of money — ComBound interest calculation 08/7/2022

' 38 5 121712022 Capital Budgeting Techniques — Payback period, ARR period | 11/7/2022
39 5 13/7/2022 | Evaluation — 5 (Assighment) - 13/7/2022

40 |5 | 14/7/2022 | Capital Budgeting Techniques — NPV and P! - 14/7/2022

41 5 18/7/2022 Capital Budgeting Techniques — IRR,mJnted 18/7/2022
42 5 19/712022 Combined Sums of All techniques of C_apital Budgeting 19/7/2022
43 5 20/7/2022 Combined Sums of All techniques of Capital Budgeting 20/7/2022
44 21/7/2022 gz:z:zg (C):feli;\?;/;a]rsity with model answer E)aper, Doubt 91/7/2022
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Course Outcomes:
Subject:- Financial Management

On successful completion of the course the learner will be able to

Co

COGNITIVE
ABILITIES

COURSE OUTCOMES

C0202.1

REMEMBERING

DESCRIBE the basic concepts related to
Financial Management, Various techniques of
Financial Statement Analysis, Working Capital,
Capital Structure, Leverages and Capital
Budgeting.

C0202.2

UNDERSTANDING

EXPLAIN in detail all theoretical concepts
throughout the syllabus

' C0202.3

APPLYING

PERFORM all the required calculations
through relevant numerical problems

C0202.4

ANALYSING

ANALYZE the situation and

0 comment on financial position of the firm
(] estimate working capital required

O decide ideal capital structure

O evaluate various project proposals

C0202.5

EVALUATING

EVALUATE impact of business decisions on
Financial Statements, Working

Capital, Capital Structure and Capital
Budgeting of the firm




Programme Qutcomes (POs):
At the end of the MBA programme the learner will possess the

1. Generic and Domain Knowledge - Ability to articulate, illustrate, analyze, synthesize and
apply the knowledge of principles and frameworks of management and allied domains to the
solutions of real-world complex business issues

2. Problem Solving & Innovation - Ability to Identify, formulate and provide innovative
solution frameworks to real world complex business and social problems by systematically
applying modern quantitative and qualitative problem solving tools and techniques.

3. Critical Thinking - Ability to conduct investigation of multidimensional business problems
using research based knowledge and research methods to arrive at data driven decisions

4. Effective Communication - Ability to effectively communicate in cross-cultural settings, in
technology mediated environments, especially in the business context and with society at large

5. Leadership and Team Work - Ability to collaborate in an organizational context and across
organizational boundaries and lead themselves and others in the achievement of organizational
goals and optimize outcomes for all stakeholders.

6. Global Orientation and Cross-Cultural Appreciation: Ability to approach any relevant
business issues from a global perspective and exhibit an appreciation of Cross Cultural aspects of
business and management.

7. Entrepreneurship - Ability to identify entrepreneurial opportunities and leverage managerial
& leadership skills for founding, leading & managing startups as well as professionalizing and
growing family businesses.

8. Environment and Sustainability - Ability to demonstrate knowledge of and need for
sustainable development and assess the impact of managerial decisions and business priorities on
the societal, economic and environmental aspects.

T

Z/ 9, Social Responsiveness and Ethics - Ability to exhibit a broad appreciation of the ethical and
value underpinnings of managerial choices in a political, cross-cultural, globalized, digitized,
socio-economic environment and distinguish between ethical and unethical behaviors & act with
integrity.

10. LifeLong Learning — Ability to operate independently in new environment, acquire new
knowledge and skills and assimilate them into the internalized knowledge and skills.
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SIBACA, Lonavala

SINHGAD INSTITUTE OF BUSINESS ADMINISTRATION AND COMPUTER APPLICATION

Academic Calendar 2021-22:Semester II/IV

MONTH DATES EVENTS / ACTIVITES COORDINATOR
9 Sem IT Students Reporting All Faculty
10 ' Commencement of Lectures All Faculty
12 Guest Lecture on Carrier Opportunities in MBA br. Pradnya Bhandare and Dr. Reena Nath
N . Sbacializations o
13 ' External SIP VIVA_VOCE Sem ITI Dr. Bharati Jagdale
May-22 18 Dr. Reena NAth/Dr. Rajendra Bhadale/ Prof.
| | Traffic Awareness Programme Nilesh Patil/ Prof.Sadhana
. Pradnya Bhand R th, Prof.
25 Guest Session on TPR Dr. Pradnya Bhandare, Dr. Reena Nath, Prof
I Sadhana Awate
27 Brand Logo Competition/Brand Quiz Dr. Rajendra
| 31 1st Evaluation (CIE) All Faculty
| 1 | Guest Session on Human Rights Dr. Krishna Sharma
I 3 | Local Industrial Visit (Parle-6) Dr. Bharati Jagdale/ Prof. Nilesh Patil
5 | Environmental Day Mr. Satish Kamble
6 ' Hariyali (Tree Plantation Programme) All Faculty
9 - ~ Khari Kamai All Faculty
Jun=22 13 | Resume Building Workshop (Dr. Jayesh Minase - Dean, br. Bharati Jagdale
- Central Placement Cell)
15 Days Celebration Dr. Bharti Jagdale & Dr. Pradnya Bhandare
17 | 2nd Evaluation (CIE) All Faculty : ]
21 International Yoga Day Dr. Bharati
24 - 30 3rd Evaluation (CIE) All Faculty
' 6 Business Plan Dr. Krishna Sharma/ Prof. Nilesh Patil
[ 11 3rd Evaluation (CIE) All Faculty
13 Bhatkani Dr. Rajendra Bhadale / Dr. Krishna Sharma
Jul-22 19 Guest Lect on Udyo jak-An Entrepreneurship br. Krishna Sharma
Development Proaram _|
21 Alumni Meet Dr. Bharati Jagdale/ Prof. Nilesh Patil
22-25 | Remedial Classes and Pending Evaluation All Faculty
25-29 } Final Internal Exam All Faculty

Note : Holiday list may change as per the STES circular

Evaluation will be adjusted as per the dates of SPPU online examination

Director, SIBACA
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Class Activity
1) Paper Planes

Want to find out if your students are up to date with the lessons? The paper
planes game is a great way to make learning fun. Ask each student to write a
question from experience taught the previous day on a piece of paper.

Divide the class into two teams and ask each of them to make planes out of those
papers. Now the groups are to chuck their aircraft at each other. The students
pick up the airplanes and answer the questions.

2) Group Discussion :- Current Events - Several Topics.

¢ Students can find current events, cases, or newspaper articles and
remove the ending/outcome from the article.

e We can break the class into teams and have them evaluate it and
decide how the situation could be resolved using different leadership
techniques. For example, how would a scientific manager handle this
situation? Or would a telling or participative manager work best
here? Another great event to review is the NASA Challenger issue
and an opener to talk about Group Think.

e For my business law class | like finding strange law cases, remove the
decisions, then have the students use their knowledge of the
materials they were asked to read prior to class to identify how the
cases were decided.

o For a great activity in business communications | will find the same
news article on Fox News and on MSNBC (for example) and identify
the differences. This is also a good way to demonstrate how to be
critical when evaluating online information.
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Concurrent Evaluation Parameters

Academic Year 2021-2022

Name of Faculty Member :- Prof. Sadhana Awate
Subject Name & Code :- 202 - Financial Management

MBA | Semester — 1l

Sr. No Evaluation Parameter Date " Reevaluation for Marks (50)
-  slow learners
1 Assignment | 13/7/2022 1R 31 10
2 Class Test—1 15/6/2022 20
Class Test -2 30/6/2022 A U3l
3 Case Study evaluation | 01/6/2022 = 10 B
4 Project on Ratio 04/7/2022 10
Analysis (0 l :H 29\
— I
B ___ S 50 |

Checked / Verified by D&

SIBACA

' DIRECTOR
Sinhgad Institute of Business 4dministration
& Computer Application

Kusgaon (Bk.),

Off Mumbai-Fune

Name

CXpiessway,

Lonavala Dist. Pune 410 401




MBA | SEM- II
202 Financial Management

20 10 10 10 50

Sr. No. | Seat No. Name of Students CcT assign '—Project Ease study | Final marks
1 |34816 KIRAN SHIVAJI AVHAD 17 8 8 9 42

2 [34817  |PRATIK NANDKUMAR PATIL 16 7 7 8 | 33
3 |[34818 KUNAL BALU TUNGE 17 8 8 i 40
4 (34819  |ABHISHEK KISHOR RAMTEKE 19 9 9 9 46
5 [34820 PRAMOD RAYCHAND DANGADE 18 8 8 8 42
6 |34821 KAHIRA SURVE 16 8 8 8 40
7 [34822 KESHAV VIRENDER CHOUDHARY 15 8 8 8 39
8 [34823 MARUTI BHASKAR BOORA 16 8 8 8 40
9 [34824 NEHAL BALU SALVE 15 7 I 7 36
10 |[34825 ROHIT DILIP SALVE 16 7 7 7 37
11  [34826 SUMIT GAUTAM SALVE 15 7 7 7 36
12 |[34827 GANESH SUBHASH SHINDE 18 8 8 8 42
13 [34828 HRITIK PRADEEP SONARIKAR 18 8 9 8 43
14 [34829 RUTWIK MILIND SURYAWANSHI 18 8 8 8 42
15 [34830  |AKASH AVINASH JAMDADE 17 9 8 8 42
16 [34831 PRATIK LAXMAN ANGRE 18 9 8 8 43
17  [34832 SAMIKSHA RAJAN BHOIR 18 8 8 9 43
18 [34833 BHUSHAN SURESH KHADSE 18 8 9 8 43
19 [34834 SUMEET VILAS GORE 19 9 9 9 46
20 |34835 DIPALI AVINASH HIWARKAR 19 9 10 9 47
21 |34836 RUSHIKESH FULCHAND JADHAV 18 9 8 9 44
22 34837 MANJIRI SANJAY KAMBLE 17 8 8 7 40
23 34838 SUYASH SUDAM KANGNE 19 9 10 9 47
24 34839  |AKSHAY ASHOK KOLGE 18 8 8 9 43
25 34840 SNEHAL KASHINATH KURKUTE 18 9 9 8 44
26 |34841 PRANALI ANIL LOHAR 18 9 9 8 44
27 |34842 GAURI SANJAY MORE 18 9 8 9 44
28 34843 KRUTIKA BHALCHANDRA PATIL 18 9 9 9 45
29 |34844 PRERNA PRAMOD KHANDAGALE 19 9 10 9 a7
30 |34845 NAMRATA BALKISHAN RAPELLI 19 9 10 9 47
31 [34846  |ANAND DHONDIRAM RATHOD 17 9 8 8 42
32 34847  [SAGARKUMAR MOHAN RANA 19 9 10 9 47
33 |34848 SHAHRUKH KHAN 18 9 9 9 45
34 34849  |ADITYA SUDHAKAR SHERKHANE 18 9 9 45
35 |34850 SHIVPRASAD SURYAKANT KULKARNI| 17 8 8 7 40
36 34851 SHUBHANGINI DILIP YEOLE 19 9 10 9 47
37 |34852  |TEJAS RAJESH GHOTKAR 18 9 8 9 44
38 |34853 EKTA ANIL TOPE 18 9 9 9 45
39 |34854  |AMRUTA MAHADEV GHOLVE 15 7 7 7 36
40 34855  |ASHA AMAR GURWANI 18 9 9 9 45

41 34856 PRATIKSHA CHANDRAKANT 15 8 8 7
EKAMALLI 38
42 |[34857 MANSI RAJESH MOHITE 115 6 6 6 33
43 |34858  |JYOTIHARIBHAUMORE  ~Z«¢” 7715 | 8 8 7 38
44 |34859 PURVAJA GAJANAN UPLEHEHWAR 18 94\\ 9 44
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45 |34860  |SANIKA SUNIL NANDE 15 8 8 7 38

46 |34861  |AMIT KUSHABA SHIVSHARAN 14 6 7 6 33

47 |34862  |SHRUTI SHRIKRISHNA BACHATE 19 9 9 8 45

48 |34863  |SUNNY SUNIL JANBANDHU 18 9 9 8 44

49 |34864  |PRACHI RAM TAKLE 18 9 9 8 44

50 [34865  |AJAY AVINASH BANKAR 15 8 7 7 37

51 |34866  |SAMRAT MOHAN BANSODE 18 9 9 9 45
52 [34867  |SOHEL SHAKIRHUSAIN DESHMUKH | 18 8 8 8

42

53 [34868  |PRASHANT CHANDRAKANT 14 8 g 8 38

54 [34869  |NAYAN SURYAMANI RANGARI 15 37

55 [34870  |SHYAM SANJAY DAHAGANE 19 9 46
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Assignment Questions

SINHGAD INSTITUTE OF BUSINESS ADMINISTRATION AND COMPUTER APPLICATION

Q
f

ollowing ratios

Semester Il 202 — Financial Management

1. From the following Balance sheet of XYZ Ltd. Prepare Vertical Balance Sheet and calculate the

a) Current Ratio
b) Liquid Ratio
¢) Absolute Liquid Ratio

d) Current Ratio to Fixed Assets Ratios

e) Debt to Equity Ratio
f) Proprietary Ratio

g) Capital Gearing Ratio
h) Fixed Assets Ratio

Liabilities

Balance sheet as on 31° March 2021

Amount (Rs) | Assets - | Amount (Rs.) |
' Equity Share Capital 12QO_O(&_[ Goodwill 400000
| 7% Preference Share Capital 600000 [ Plant & Machinery 800000 |
| General Reserve 300000 | Land & Building B 600000__'
I: P&L Ale 140000 | Furniture 100000 |
Prov. For Taxation 180000 | Inventories 800000 |
Bills Payable 130000 | Bills Receivable 50000 |
| Bank Overdraft 30000 | Debtors . 200000 |
| Creditors B B 100000 | Bank | 200000 |
| 13% Debentures o 500000 | Investment (short term) : 30000
3180000 | : 3180000 |

12. Raman Ltd. Had an annual sales of RS. 40000 units at Rs. 100 per unit. The company works for 52
weeks in the year. The cost details of the company are given below:

a) The company has the practice of storing raw materials for 6 weeks requirements.

Particulars Unit cost (Rs.)
Raw Material B 40
Labour 20
Overheads | 10
Total Cost 70
Profit per unit 30 N
Selling price per unit 100

b) The wages and other expenses are paid after a lag of 4 weeks
c) Furtherthe debtors enJoy a credit of 8 Weeks and company gets a credlt of 4 weeks from suppliers

HEEESEE - = T E




Q3. The cash flow streams for two alternatives investments ABC and XYZ are: Calculate

Year ABC XYZ
1) Pay Back period — |
0 (200000) (210000)
2) Net Present Value (NPV) using 11% discount rate = T _:'—80000 |
3) Benefit cost ratio (PI) using 11% discount rate 2 80000 60000
__ [
4) Discounted payback period 3| 100000 80000 |
4 | 80000 | 60000 |
5) Which would you choose and why? 5 60000 80000

Q4. What is Financial Management and explain the objectives and scope of Financial Management.

e 05. State the components, Types and Factors affecting Working Capital.

VLo L




SINHGAD TECHNICAL EDUCATION SOCIETY’S
SINHGAD INSTITUTE OF BUSINESS ADMINISTRATION AND COMPUTER APPLICATION

Class Test
Subject :- Financial Management (202)
Class :- MBA | SEM Il Vesk -0) Date :- 15/6/2022
Marks :- 20 Marks Time :- 30 Min

From the following balance sheet of Ram Ltd. as at 31 March 2020 and 31% March 2021, prepare
Comparative Balance Sheet and also offer your comment thereon

| Liabilities | 31/3/2020 | 31/3/2021 | Assets 31/3/2020 | 31/3/2021
| Equity Share Capital | 120000 | 160000 | Land and Building | 100000 150000
Prefere Share Capital 60000 95000 | Plant & Machinery _ 40000 45000 |
Reserve & Surplus | 30000 | 35000 | Stock - : 60000 | 82000 |
Profit & Loss A/c 18000 | 20000 | Debtors | 40000 | 45000
| Bank Overdraft 25000 | 45000 | Bills Receivable | 10000 30000
Creditors - 25000 | 30000 | Prepaid Expenses 6000 | 8000
Provision for tax 15000 22500 | Cash at Bank 40000 | 58500
Proposed Dividend | 8000 | 20000 | Cash in Hand 5000 | 9000
Total 301000 427500 Total 301000 427500 |




SINHGAD TECHNICAL EDUCATION SOCIETY’S
SINHGAD INSTITUTE OF BUSINESS ADMINISTRATION AND COMPUTER APPLICATION

Class Test ~ O
Subject :- Financial Management (202)
Class ;- MBA I SEM I Date :- 30/6/2022
Marks :- 10 Marks Time :- 30 Min

A proforma Cost sheet of a company is as follow

Elements of cost Rs. Per unit
I_Raw Material | 80 -
Direct Labour 30

Overheads 60

Total Cost 170
| Profit ) 30 -
| Selling Price | 200

The following particulars are available:

1) Raw Materials are in stock on an average for one month.

2) Materials are in process, on an average for half a month.

3) Finished goods are in stock on an average for one month.

4) Ccredit allowed by suppliers is one month. Credit allowed to debtors is two month.

5) Llagin payment of wages is 1 %2 weeks. Lag in payment of overheads is one month.

6) One fourth of the output is sold against cash. Cash on hand is to be maintained at RS.
25000

7) You are required to prepare a statement showing the working capital needed to
finance a level of activity of 104000 units of production.

8) Provide 15% of net working capital for margin of safety.

9) You may assume that the production is carried on evenly throughout the year.

10) Wages and overheads accrue evenly throughout the year and assume 52 weeks in a
year.

SIBACA
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In January 2012, Arpit Agarwal, managing director of chemical manufacturing company BBC Pvt. Ltd.,
was contemplating the alternatives that he could explore before the company proceeded with its plan to
sign a contract with Indian Railways (IR). Agarwal had been a leading member of BBC since its
beginnings in 2004, BBC now had an advance acceptance document confirming its contract with IR, yet
the company was suffering from a lack of working capital due to a combination of extending liberal credit
to its customers and repaying debts too quickly. Therefore, Agarwal was not sure what the company’s
next step should be.

BBC

BBC Pvt. Ltd. was an Indian chemical manufacturing company established in 2004. The company’s
registered officc was in Bangalore and its manufacturing plant was in Lucknow. BBC was managed by
two directors, Agarwal and Mukesh Kumar. Kumar was a science graduate and Agarwal had a degree in
management,

BBC was categorized as a small-scale industry under the domain of chemical manufacturing. It produced
and sold stable bleaching powder using the raw material liquid chlorine. Since both the raw material and
the end product were highly toxic BBC was also classified as a hazardous industry.1 A license from the
Government of India’s Department of Industrial Policy & Promotion was required in order to store the
cylinders of liquid chlorine. The company usually procured its raw material from the Sonebhadra district
in Uttar Pradesh. The price of this raw material could fluctuate wildly, from as low as INR10 per tonne to
as high as INR10,000. per tonne. This wide price range was based upon suppliers’ capacity to store and
sell liquid chlorine within the limitations of licensed quantities. Any raw material exceeding these
licensed quantities had to be sold at lower a price.

" According to the Environment (Protection) Act, 1986 any industry handling or dealing with hazardous substance which may
cause adverse effects on the health of the people and the environment may be put under the category of hazardous
industry. Thus, industries relating to the products of chemicals petroleum fertilizer, leather highly inflammable liquid gases
etc. can be classified as hazardous industries. The Environment (Protection) Act, 1986, Ministry of Environment and
Forests, www.envfor.nic.in/legis/env/eprotect_act_1986.pdf, accessed November 15, 2012.

1his document is autharized for use only by shalabh sharma at Universily of Pune until Ne
posting is an infringement of copyright. Permissions@hbsp.harvard.edu or 6
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Stable blcaching powder could be manufactured through onc of two techniques: absorption or absorption.
The product manufactured by the absorption technique was of better quality than the product
manufactured by the adsorption technique. BBC used adsorption, which meant that its product was of an
inferior quality compared to the products of its competitors. The company’s main competitors were
industry giants like the Aditya Birla Group, the DCM Group, Grasim Industries Limited, ctc.; however,
these companies were also BBC’s suppliers of liquid chlorine.

Because of the more affordable (but lower quality) adsorption technique used in production, BBC was
able to reduce its operating costs with respect to installation of equipment, maintenance and electricity
cxpenditure. Despite producing a bleaching powder of inferior quality, the use of adsorption allowed the
company to enjoy a favourable market share due to the cost advantage BBC was able to pass on to its
customers.

BBC’s customers could be divided into two broad categories: government accounts and private accounts.
The governnient placed orders whenever there was a demand in any of its departments. Private contracts
were negotiated according to industry factors such as the reputation/standing of the involved party, past
dealings, size of the order, etc. Orders from private customers were usually smaller than government
orders and the BBC’s customer base was largely comprised of private accounts.

The company enjoyed a credible position with its bankers. Its main bank was Union Bank of India, a
nationalized bank. BBC had a cash credit limit of INR2.5 million, which had been fully utilized. During a
mecting with the bank manager regarding the IR contract, Agarwal could sense the manager’s reluctance
to extend a fresh line of credit to BBC. The bank manager mentioned that the interest on the loan required
to complete the contract with IR would be 14.5 per cent; the offer was against a pledge of share
certificates for an existing loan with the bank, in light of the fact that BBC was carrying existing
unsecured loans that resulted in interest payments of more than INR600,000 annually.

WORKING CAPITAL MANAGEMENT

BBC had been following a conservative approach to working capital, as reflected in its high level of net
working capital — more than INR4.2 million in fiscal year 2010/11 (see Exhibit 1).

The net working capital of the company had always remained positive, as reflected in its balance sheet
(see Exhibit 1). BBC’s assets were more than 10 times its liabilities. These assets were mostly in the form
of inventories and accounts receivable. However, trade credit of the firm had become a major liability.
The company’s management had been very conservative and traditional with respect to repaying loans
before the credit period; from 2009 to 2011, BBC’s liquid-asset-to-total-asset ratio ranged between 62 and
66 per cent — whereas the industry benchmark was 30 per cent.

BBC’s inventory could be catcgorized into three groups: raw materials, finished goods and packing
materials. From 2009 to 2011, inventory in all three of these categories had risen significantly, increasing
the total inventory by almost 85 per cent. Raw material and packing material were valued at cost on a
first-in-first-out (FIFO) basis. Finished goods were valued at cost or at net realizable value —— whichever
was less.

Although such high levels of inventory eliminated the possibility of disruptions in manufacturing due to a
stockout, it had led to wastage of BBC’s working capital. A large stock of finished product stored in the
company’s premises had long been a cause of concern for Agarwal (see Exhibit 2). He knew that the
company’s sales had gradually decrecased. Immediate action was required as decreased sales would
negatively affect the profitability of the company and BBC’s return on capital employed in the future.

This document is authorized for use only by shalabh sharma at University of Pune until November 2014. Copying or
posting is an infringement of copyright. Permissions@hbsp.harvard.edu or 617.783.7860.



Page 3 9B12N026

BBC’s debtors had remained more or constant with minor fluctuations. The credit periods on the loans
ranged from 15 days fo almost two years. The largest amount due on a single account was INR4 million.
Debtors/receivables turnover ratio of the company had ranged from 2.9 to 3.2 times for the last three
financial years. Despite this, BBC continued to extend liberal credit to new accounts.

The company had been maintaining adequate levels of cash but these levels would not be sufficient for
additional orders like the proposed contract with IR. The cash and bank balance in BBC’s balance sheet
was inclusive of a fixed deposit maintained with the bank. The company also indulged in future
commodity trading. The profits from these activities were apparent in BBC’s profit and loss statement
(see Exhibit 3).

BBC had been too quick in paying back its creditors. This had affected the company’s liquidity: the
longer the repayment period, the lower the net present value of the payment and the higher the value to
the firm. The company also maintained a cash credit limit of INR2.5 million with Union Bank of India.

THE CONTRACT WITH INDIAN RAILWAYS

Operations were running relatively smoothly at BBC but Agarwal knew that there was an urgent need to
upgrade the company in order to make it a truly competitive market player. The IR contract could prove
to be such an upgrade, and it had therefore been an aspiration of Agarwal’s since 2011. He had registered
his company for all three divisions of Indian Railways in the northern part of India (Northern Railways,
North Eastern Railways and North Central Railways). This contract would open the gates between BBC
and IR for long-term business, and could potentially act as a stepping stone for BBC to become the
preferred supplier of bleaching powder for other big players in the industry as well; however, the contract
would be a challenge and would require a professional team working to make BBC eligible. Agarwal
desperately needed a manager who could handle the administration and official correspondence of this
account efficiently, as well as monitor operations along with the floor supervisor.

As part of the contract, IR was demanding an onsite office, a warchouse and a workshop within the BBC
factory premises. In addition, the document of advance acceptance clearly outlined proposed quarterly
onsite inspections. These inspections would have to be conducted at the factory premises before any lot
was dispatched to IR. Furthermore, establishing an onsite IR office would cost a onetime expenditure of
approximately INR200,000, as well as an increase in administrative costs.

The company had to put its stock in a new warchouse as part of the proposed contract. As of January
2012, BBC did not have any warchouse that met the required safety norms. All materials, including spare
parts, raw material, packaging material and finished products, were kept in a semi-covered storage area
within the factory premises; this often led to losses due to deterioration in the quality of material. The
approximate cost of building a new warehouse would be INR500,000.

There was also an urgent need to create a separatc workshop within the factory for safety and
maintenance. Since BBC’s manufacturing process involved various hazardous chemicals, maintenance of
the existing machinery was a crucial activity. The workshop could be used to repair rusted or worn-out
machine parts that were employed in the manufacturing. Certain critical parts had to be repaired regularly.
Having a separate workshop exclusively for such activities would be very helpful in daily operations of
the factory. The company estimated an expenditure of approximately INR500,000 for establishing such a
workshop.

Above all, BBC needed to maintain adequate cash reserves to meet all of its payments and continue its
usual production activities without any interruption. The total amount required for the upgrade — INR1.2

This document is authorized for use only by shalabh sharma at University of Pune until Ny ,Q!)/er 2014. Copyirk
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million — was beginning to worry Agarwal. BBC had already reached its cash credit limit of INR2.5
million and its recoverables were blocked in the form of either inventories or receivables. In financial
year 2010/11, the company had to pay more than INR640,000 in financial charges and interest. Agarwal
regretted his previous decision to avoid putting BBC’s money in short-term investments, which could
have been a source of funding for the upgrade that the IR contract would require. Retrospectively, he
realized that BBC had been shortsighted in extending liberal credit to its customers and being more
prompt in repaying debBts than business demanded.

THE WAY FORWARD

BBC was able to attain many orders and manufacture its product at a cost much lower than its
competitors; this fact reassured Agarwal, although he knew that there were issues that needed immediate
action. Agarwal was aware that BBC’s gross block was continuously decreasing and the company was
therefore shrinking — rather than growing — at a rapid rate.

Agarwal knew that in order to complete the contract with 112. BBC would require a significant upgrade by
December 2012. How could the finances required for this upgrade be secured? Should Agarwal seek to
improve BBC’s working capital management or pursuc complete financial policy restructuring?

I Nimisha Kapoor and Professor Sandeep Goel are from MDI, Gurgaon, India.

SR
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Source: BBC Pwvt. annual reports, 2009-2011.
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Exhibit 3
BBC PROFIT AND LOSS STATEMENT — 2009-2011
) 2011 | 2010 [ 2009
Income o B N
Sales 9,544,409 8,529,838 12,539,108
Other income 602,873 176,603 250,296
Increase/ Decrease in Stock -134,040 335,549 -1338,827
Total 10,013,242 9,041,991 1,265,577
Expenditure s __ N
Raw Material Consumed 4,982,486 3,412,916 | 5,340,943
Manufacturing Expenses 3,434,866 3,699,344 4,765,355
Directors Remuneration 360,000 432,000 360,000
Other Expenses 223,791 451,052 935,404 -
Depreciation 270,798 324,757 355,292
Interest & Finance Charges 641,252 628,315 674,905 ]
Total 9,913,194 8,948,385 12,431,899
Profit Before Tax 100,048 93,605 223,676
Profit After Tax
Add: Transfer from previous year | 370,841 307,736 163,044
Balance Sheet B
Provision for Income Tax 30,900 30,500 57,000
Balance carried to Balance Sheet 439,990 370,841 307,736

[
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Exhibit 1

BBC BALANCE SHEET — 2009-2011

| 2011 | 2010 | 2009
i —
Sources of funds '
Shareholders funds | :
Share capital 950,000 | 950,000 950.000
Reserve & surplus 439,990 370,841 307,736
Loan Fund 2
Secured loan 180,345 1.284.237 1,237,475
Unsecured foan 5,018,221 4,603,476 4,223,011
Total | 6,588,557 7,208,556 6,718,222
Application of Funds 1 B
| Fixed assets | . -
Gross Block | 2,621,861 | 2,944,618 3,103,368
Less: Depreciation 270,798 | 324,757 355,292
Net Block 2,351,064 | 2,619,861 2,748,076
Assets, Loans & Advances _"_ L B ]
Inventories 870,146 740,749 | 322,848
Sundry debtors B 2,948,850 12,936,732 3,355,773
Cash & Bank Balance 453,079 815,640 554,800 — |
Loans & Advances 252,199 356,636 | 272,211
Total 4,524,274 4,849,757 | 4,505,632
Less: Liabilities _ ' e (| [ -
Liabilities | 130.166 | 135,348 | 363,486 |
| Provisions 156,615 1 125,715 |1 172,000
| Total 286,781 261,063 | 535,486
_Net Assets | 4,237,493 4,588,694 4,047,146 B
Total 6,588,557 7,208,556 | 6,718,222

Source: BBC Pwt. annual reports, 2009-2011

Exhibit 2

VALUATION OF INVENTORIES — 2009-2011

. 2011 2010 2009
Inventories | 870,146.2 740,749 | 322,848
| Raw Materials [ 432,071 166,573 | 149.924
| Packing Material | 85915.2 87,976 5,624
| Finished Goods 352,16&_] 486,200 167,300
Source: BBC Pvt. annual reports, 2009-2011
A NSTAA
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CASE STUuDY -BBC PVT.LTD

Case Overview:

This case of working capital challenges of BBC Pvt. Ltd. , a small scale industry
producer and seller of bleaching powder. This case intended to teach first year
students the concept and importance of the working capital management in the
business for survival as well as for long term growth.

BBC has followed the traditional approach to working capital Management. Its
current Assets are more than current liabilities. The company repays debt before the
crdit period but liberal credit policy for debtors. It extends credit sales for large
periods and its large inventory in the form of raw material and finished goods. As
result of this excessive blockage of working capital.

In 2012 the company bid on a contract with Indian railway. For that company need to

do up gradation immediately. For Improvement Company require more fund for an
investment. Mr. Agarwal needs to make decision about how to secure adequate funds
for the upgrade that BBC needs in order to fulfill its promising contract.

The case stress importance of working capital Management in a business for its short
term survival and long term growth. This case used to develop insight with respect to
working capital management.

Learning Objective

To make the student understand basic concept of working capital and importance of
Working capital, various component of working capital, various sources of working

capital finance.

Pedagogy

The Objectives of this case would be achieved by means of lectures and classroom
discussions of case study. Case materials and other course related articles are given
well in advance. Before conducting case study in the classroom theory part will be
covered so that student can understand the various concepts related to the case S‘u{dy.

PowerPoint present will be to make better understanding of the problems‘ and

conditions given in the case.




Case Objectives:

1. To understand concept and importance of working capital.

2. To understand component of the working capital

3. To study various Sources of working capital finance to achieve organization
objective

4. To study various strategies for effective receivables management, payables

management, cash management and inventory management.

Following Points discussed in the before conducting the case:
. Meaning and definition of working capital
. Importance of working capital.
. Components of working capital

. Concept of optimum working capital finance

1

2

3

4

5. Factors affecting on working capital

6. Discussion on format of working on showing requirement of working capital
7. Sources of short term and long term working capital finance.

8. Strategies for effective inventory management

9. Strategies of effective cash management

10. Strategies for effective receivables management.

11. Strategies for effective account payables.

Case Facts:
 BBC Pvt Ltd . Established — 2004
» Registered office in — Banglore ,Manufacturing Plant — Lucknow
* Directors — Two
Mr. Agarwal ( Management Degree)
Mr. Mukesh Kumar ( Science Graduate)
Small Scale Industry - Domain of Chemical Manufacturing ,Hazardous
~ Industry
SIBACA | Product : Bleaching powder

LONAVALA . .
BBC Also indulged in Commodity Trading ( Other Income )

Raw Material used for production : Liquid Chlorine
- ‘]fi‘quid Chlorine
— Procurement From Sonebhadra District ( U.P.)

— Fluctuating Price ( Low as Rs.10 Per tonne to Rs.10000 Per tonne )



— Suppliers -: Aditya Birla Group , DCM Group ,Grasim Industris Ltd.
e Manufacturing Techniques for Bleaching powder
— Absorption
— Adsorption
Technique use by BBC - BBC use Adsorption technique which mean that the quality
of product is Inferior as compare to competitors. Due to this Technique company
Was able to reduce operating Cost ( Installation of Equipment , Maintenance &
electricity )
e Company Market share : Favorable Market Share ( Because of Cost
Advantage )
e Main Competitors :- Aditya Birla Group , DCM Group ,Grasim Industris Ltd.
etc.
e Customers
— Government
*  Large Orders as per demand in the department
— Private
* Large Customers but orders are less than Government Orders

e Bank for transaction - Union BOI

»  Working Capital Approach: BBC Use Conservative working capital
Approach
* In case of Conservative Approach a large investment in current assets
resulting in a high liquidity level.
+ It involves using long term debt and equity to finance non-current assets
and some current assets as well.
* Firms that use this approach have a large amount of working capital and
thus relatively face lower risks.
* However, long term financing is more expensive than short term financing.
e Working Capital Position of BBC :
+ Positive working capital _
* High Level of Working Capital (Net) — more than Rs.4.2 millidh in
fiscal year 2010-11
* High Level of Inventory

« Eliminate possibility of stock out situation
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It had led to wastage of working capital

Large stock of finished goods stored in the co. premises

Debtors — more or constant

Debtors Turnover Ratio — Range from 2.9 to 3.2 times ( from last
Three financial Years)

The Largest amount due on a single account was Rs.4 million

BBC extend credit to new account

Quick repayment of creditors — Lower the NPV of Payment and High
Value of the Firm but affect on Companies liquidity

The Cash and Bank balance - Fixed deposit maintain with bank

e Sales position :

Co. sales had decreased gradually

decreased sales affect on profitability and ROCE of the company in
future

Debtors — more or constant

Credit period on the loan — ranged from 15 days to 2 Year.

Problem In the Company :

Debtors Turnover Ratio — Range from 2.9 to 3.2 times ( from last
Three financial Years)

The Largest amount due on a single account was Rs.4 million

BBC extend credit to new account

Quick repayment of creditors — Lower the NPV of Payment and High
Value of the Firm but affect on Companies liquidity

Adequate Level of Cash had been maintaining but these level would
not be sufficient for Proposed Contract With Indian Railway

Mr. Agarwal had registered his company for three divisions of IR (
North , North east, North Central).

Contract — IR demanding onsite office , warehouse and workshop
within BBC factory premises

The document of advance acceptance clearly outlined proposed
quarterly onsite inspection

Inspection should make before any lot was dispatched to IR.



«  Establishing onsite expenditure — Approx.Rs.200000 plus increase in
admin cost.

«  Company should put its stock in new warehouse ( Building new
warehouse cost Approx. Rs500000 and estimated expenditure for new
workshop Approx. Rs.500000)

«  BBC need to maintain adequate cash reserves to meet cash payment

«  Total amount required for up gradation — Rs.1.2 million

* Cash credit Limit — Rs.2.5 Million already reached

+  2010-11 the co. had to pay more than RRs.640000 for financial

charges and Interest

Questions for discussion:

1. Comment on working capital policy adopted by BBC Pvt Ltd.

2. Evaluate the company’s cash position with focus on credit policy towards
receivables and payables.

3. Is BBC a growing company? Which areas should be improved in the company for
future growth?

4. Should Mr. Agarwal seek to improve BBC’s working capital management or

pursue complete financial policy restructuring?

Analysis:

1. A. Class discussion start with information given regarding working capital.
Working capital is the capital available for conducting the day to day operations of the
business and consists of current assets and current liabilities.

BBC’s current assets are mainly in the form of inventory, receivables ,cash and bank
balance and loans and advances. The company’s levels of current assets are very high
as compare to current liabilities The current asset as a percentage of total asset is
approximately 65% but average ratio in the manufacturing sector is 30%.

It indicates the excessive working capital which is not good for the company.
Excessive working capital may prove disadvantageous to the company whereas
shortage of working capital is also undesirable.

BBC has positive working capital but the company has high deferral periods and

in short term deposits.
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B. Discussion on types of working capital Approach and effect of each .Focus on
approach adopted of BBC and its effect on liquidity position
Types of Working Capital Approach
e Conservative
o Aggressive
C. Component of working capital given in the case.
Current Assets Components
Current Liability Component
D. Discussion on Factors determining working capital requirement.
e Nature and size of the business
e Production policy
e Demand position
e Operating cycle
e Credit policy

E. Discuss the need of optimum working capital

F. Operating risk: High

2. Company’s cash Position analyze based on current Assets.

Management should focus on optimum cash level to meet the short term requirement.
BBC’s sales have been in the form of Credit. Company adopted liberal credit policy
.As a result of this large amount has been involved in debtors. There is slight
fluctuation in the debtors which indicate the debtors are almost constant for last three
years.( refer Exhibit 1)

Huge inventory also form a part of current assets i.e. raw material and finished goods .
BBC needs a sound collection policy to reduce the debtors and increase cash position.

BBC needs to focus on quick sales to convert inventory into the cash.

3. Discussion on various techniques of receivables management in detail and find out
suitable policy for the organization.

4. BBC cannot be called the growing company. Because:
a. Company is started shrinking

b. Debtors collection policy shows casual approach




c. Repayment of creditors before the credit period.
d. Huge amount of inventory is block

e. Blockage of working capital

f. Blockage of funds

g. Reduction in cash balance

h. Reduction in gross block

4. Mr Agarwal needs to focus on working capital. Following are suggestion for
improvement in working capital.

a. Focus on account receivable. Offer some discount on quick payment

b. Focus on increase in sales.

c. Inventory should be managed by using JIT technique.

d. The company should focus on realization of current inventory.
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Unit -1 Business Finance

e Contents :-

e Introduction to Business Finance,
* Meaning and Definition of Financial Management,

® Objectives of Financial Management- (Profit Maximization
and Wealth Maximization),

* Modern Approach to Financial Management- (Investment
Decision, Financing Decision, Dividend Policy Decision),

* Finance and its relation with other disciplines,

e Functions of Finance Manager

Business Finance

* Finance represents the money management and the process
of acquiring the funds. Finance is a board term that describes
the activities related to banking, leverage or debt, credit,

capital markets, money and investments.

* Business finance tells about the funds and credit employed in
the business. It also helps to manage the funds/money to
make your business more profitable by considering financial
statements (profit and loss accounts, balance sheets and cash

flow statements).

12-Jul-22
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Business Finance

® Business finance refers to funds availed by business owners to
meet their needs that may include commencing a business,
obtaining top-up funds to finance business operations,
obtaining {inance to purchasc capital assets for the business,

or to deal with a sudden cash crunch faced by the business.

Types of Business finances

i bere f nancs tonztzrm financs

Feaferred chares

volss discounting

aengs, leass finance

{actor ing are luginesy e ete.

of zreclt
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Short term finance

Financing the business for a short period of time (less than 1
year) is short term finance. It is also called working capital
financing.

Trade credit, working capital loans, invoice discounting,
factoring, and business line of credit comes under short term
finance.

Advantages of short term finance are less interest, disbursed

quickly and less documentation.

Main Disadvantages of short term finance are the money
which we get is smaller, it has fixed period of loan, interest rates

keep on increasing, effects business and its liquidity.

Medium term finance

e This will be considered for two reasons, one when long term
capital is not available and secondly, when deferred revenue

expenditure write off period is three to five years.

* Financing for a period for medium term is between three to
five years. Preferred shares, Bonds, lease finances, etc. comes
under medium term finances.

¢ Medium term loans are more conservative than long term
investments, but involves more risk than short term. It often

looks for balance between risk and return.
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Long term finance

® Itis provided for a period of more than ten years. Long term
finance is also called fixed capital finance. Equity capital,
preference capital, Debentures, term loans, retained earnings
comes under long term finance.

® The main purpose of getting these kinds of finances is to
carry out the business on an expansionary scale from which,

greater economic benefits are expected to arise in future.

Financial Management

* “Financial management is the activity concerned with
planning, raising, controlling and administering of funds used
in the business.” — Guthman and Dougal

® “Financial management is that area of business management
devoted to a judicious use of capital and a careful selection of
the source of capital in order to enable a spending unit to
move in the direction of reaching the goals” — J.F. Brandley

* “Financial management is the operational activity of a
business that is responsible for obtaining and effectively
utilizing the funds necessary for efficient operations.”-

Massie

12-Jul-22
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Traditional approach

 The traditional approach to the FM is restricted to raising to
funds from various sources and completion of the legal
formalities required to do the same. This suggest that a
finance manager should know how to raise the funds and he

is not supposed to do anything more than this

Modern Approach

® The modern approach to the FM says that there are three
important functions which are expected to be performed by

the Financial Management.
1) How much amount of funds will be required by the firm?
2) How to raise the amount required by the firm¢

3) How to invest the amount raised so that the objectives of

financial management as well as the firm will be achieved?
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Scope /Modern Approach of Financial
Management

Financial Management

|
Financing | Investment Dividend

Jecision Decision Decision

Fig. 1- The scope of Financial Management

Investment
Decision
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Role of the financial manager

The financial management department of any company is handled by

a financial manager.
This department has numerous functions, such as:
e Calculating the capital required
* Formation of capital structure

o Investing the capital

Allocation ofprofits

Effective management of money .

L ]

Financial control

Two major objectives
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Profit Maximisation

® Profit maximisation is used as a standard of financing
decisions. According to this approach, a firm should
undertake all those activities which add to its profits and
eliminate all others which reduce its profits. This objective
highlights the fact that all the decisions—financing, dividend

and investment, should result in profit maximisation.

Arguments in favour of profit
maximisation approach

® Profit is a vardstick of efficicncy on the basis of which economic
efficiency ol a business can be evaluated.

e | ||\‘1]1:~ in efficient allocation and utilization of the scarce means

_ hecause resources arc applied to-such uses enly which maximize
the profits. ‘

® The rate of return on capital employed is considered the best
measurement of the prolits. '

¢ Profitacts as a motivator which helps the business organisation in
becoming more efficient through hard work.

® By maximizing profits, social and economic welfare is also
maximized,

® Every business has limited capital, therefore, its efficient use is
measured in terms of maximum profits.
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Unfavourable Arguments for Profit
Maximization

. It is vague

= Itignores the time value of money
= It ignores the society

= Jtis incomplete concept

= Itis only for short term

* It emphasis on profit only

* It has a narrow scope

* Itis a traditional approach

* Itignores the risk factor

* Itis secondary objective

Wealth maximization

¢ Wealth maximization is one of the modern approaches which try
to overcome the drawbacks of profit maximization.

* In modern times, profit maximization is not considered to be an
ideal criterion for making investment and financing decisions. The
prime objective of a business entity is to maximize value for its
owners, equity shareholders.

® Wealth maximization is almost universally accepted and
appropriate goal of a firm.

® According to wealth maximization, the managers should take
decisions that maximize the net present value of the shareholders
or shareholders wealth.

¢ [t means to maximize the market value of shares

12-Jul-22
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Arguments in favour of profit
maximisation approach

® Itis for long term

¢ ii. It emphasis on shareholders wealth

® iii. It considers society

® iv. It has a wider scope

® v.Itis a modern approach

® vi. It considers the risk factor

® vii. It considers time value of money

® viii. It is primary objective

* It considers the effect of earnings per share, dividends paid or any
other return to shareholders on the wealth of the shareholders.

Unfavourable Arguments for Wealth
Maximization

(i) Wealth maximization assumes that the market price ol shares of a
company is directly influenced by the inancial decision taken |1)f i But
in the real world sitviation this assumplion does pot hold good becise
L':-1|1|1'.l|1)f-::]n'viﬁr [actors, there are several Ceonomy .~:|wrifh factors e
well as l|u|u.~:|r}' :i|)rL'if'iL' factars which influences the market value of
shares

(ii) Wealth niaximization is nothing, it i« also profit maximization, it is the
indirect name of the profit maximization.

(iii) Wealth maximization creates ownership-management controversy.
(iv) Management alone enjoy certain benefits.

(v) The ultimate aim of the wealth maximization objectives is to maximize

the profit.

(vi) Wealth maximization can be activated only with the help of the
profitable position of the business concern

12-Jul-22
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Financial Management & Economics

* Economic concepts like micro & macroeconomics are

directly applied with the financial management approaches.

* Investment decisions, micro & macro environmental factors

are closely associated with the functions of financial manager.

® Financial management also uses the economic equations like
money value discount factor, economic order quantity etc.

¢ Financial economics is one of the emerging area, which
provides Immense oppor tunities to finance, and economical

areas.

Impact of Qther Disciplines on Financial Management

Srandal Decising Arcas

Spaort

{Javestmer tAnalysis

2 eeking Capital Mamagement

3 Sources and Costs of Funds

4 Determ sation of 2 Capial Structurs
5.Disidend Palicy

6.&aulyes of Risk ard Resurss .

Pasplaas o
Rases

'

T e
Sharehiolder Wealth

Maxiriization
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Financial Management & Production
Management

® Production management is the operational part of the
business concern, which helps to multiple the money into
profit. Profit of the concern depends upon the production
performance. Production performance needs finance,
because production department requires raw material,
machinery, wages, operating expenses etc. These
expenditures are decided & estimated by the financial
department & the finance manager allocates the appropriate
finance to production department. The financial manager
must be aware of the operational process and finance
required for each process of production activities.

Financial Management & Mathematics

¢ Modern approaches of the financial management applied
large number of mathematical & statistical tools &
1'.0.('.]11‘1ir]L1L".s.

@ They are also called as econometrics.

® Economic order quantity, discount factor, time value of
money, present value of money, cost of capital, capital
structure theories, dividend theories, ratio analysis &
working capital analysis are used as mathematical & statistical

tools & techniques in the field of financial management

12-Jul-22
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Financial Management & Marketing

* Produced goods are sold in the market with innovative &
modern approaches. For this, the marketing department

needs finance to meet their requirements.

e The financial manager or finance department is responsible
to allocate the adequate finance to the marketing

department.

* Hence, marketing & financial management are interrelated &

depends on each other.

Financial Management & Human Resource

® Financial management is also related with human resource
department, which provides manpower to all the functional

areas of the management.

* Financial manager should carefully evaluate the requirement
of manpower to each department and allocate the finance to
the human resource department as wages, salary,
remuneration, commission, bonus, pension & other
monetary benefits to the human resource department.

Hence, financial management is directly related with human

resource management 5

12-Jul-22
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Financial Management & Accounting

e Financial Accounting It is concerned with the preparation of reports
which provide information to users outside the lirm. The most common
reports are the linancial statements included in the annual reports of stock-
holders and potcnlial investors. The main objcclive of thc.\‘c—rcl)orts is 1o
inform stockholders, creditors and other investors how assets are controlled
l)y afirm. In the ]ighl ol the {inancial statements and certain other
information, the accountant prepares [unds [ilm statement, cash {low

statement and budgets.

* Cost Accounting: It deals primarily with cost data. It is the process of
classilying, recording, allocating and reporting the various costs incurred in
the operation of an enterprise. It includes a detailed system of control for
material, labour and overheads. Budgetary control and standard casting arc
integral part of cost accounting.

* Managcement Accounting: Functions o management accounting include
all activities connected with collecting, processing, interpreting and

presenting information to the management.
& &

12-Jul-22
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Format of Vertical Balance Sheet

|_ o = B Particulars Amount | Amount |
1} Equity »nd Liabilities
i) Shareholder's Funds B -
| @) Share Capital -
Fruity Share capital XXX
| Preference Share Capital XXX XYV
b) Reserves and Surplus
General Reserves XXX
Capi'.::l_ reserves AnA
Profit and Loss A/c XXX
Securities Premium XXX XXX
Total Shreholder's Fund (i) XXX
i) Non- Currant Liahilities _
a) Long-Term Borrowings (Secured and Unsecurer ' _uiy)
Bank (Term) Loan XXX
Debentures XXX XXX
b) Long-Term Provisions XXX
Total Non- Current Liabilities (ii) XXX
.uj Current Liabilities
Short Term Borrowing XXX
Creditors XXX
Trade Payables XXX
Bills Payables XXX
Outstanding Expenses XXX
Prepaid Incomes
Proposed Dividend XXX
Provision for Tax XXX
Bank Overdraft XXX XXX
Total Current Liabilities(iii) XXX
Total Equities and Liabilities (i+ii+iii) XXXX
2) Assets
i) Non- Current Assets
a) Fixed Assets
Tangible Assets
Plant and Machinnery XXX
Furniture XXX
Land and Building XXX
Intangible Assets
Goodwill XXX
Copyright XXX
Patents XXX
Tade Marks XXX




b) Non- Current Investments XXX
¢) Long-Term Loans and Advances XXX
Total Non- Current Assets(i) XXX
|ii) Current Assets
short term Investments XXX
Stock/Inventories XXX
Trade Receivables XXX
Cash and Cash Equivalents XXX
Bank XXX
Short term loans and advances XXX
Debtors XXX
Bills Receivables XXX
Prepaid Expenses XXX
QOutstanding incomes XXX
Total Current Assets (ii) XXX
Total Assets (i+ii) XXX
Format of Vertical Income Statement
Partiulars Amount Amount
1) Revenue From Operations XXXX
2) Add:- Other Income XXXX
3) Total Revenue (1+2) XXXX
4) Less :- Expenses
Cost of Material consumed XXX
Purchase of Inventories of Finished Goods XXX
Work in Progress and Stock in Trade XXX
Employees Benefits Expenses XXX
Finance Costs XXX
Depreciation and Amortisation Expenses XXX
Other Expenses XXX
Total Expenses XXXX
5) Profit Before Tax (3-4) XXXX
6) Less :- Tax XXXX
7) Profit After Tax (5-6) XXXX




Analysis of Financial Statements
|. The balance sheet
needs to be arranged in a vertical format which is suitable for further

analysis.
.............. Company Ltd.
Balance Sheetason ........................
- Particulars Amount ¥ Amount ¥

I} Sources of Funds
A) Ownpers Fund/Shareholders Fund.
a) Share Capital

Equity share capital XXX
Preference share capital. XXX
b) Add : Reserves and surplus
Profit & Loss A'c XXX
General reserve XXX
Securities Premium, XXX
¢) Less: Fictitious Assets XXX
Net Worth/Owners Fund. (XXX XXX
B Borrowed Funds ﬁ
Bank Loan XXX
Debentures (xxx)
Total Fund Available XXX
| I} Application of Funds
1) Fixed Assets XXX
Land and Building XXX
Plant and Machinery XXX
Furniture XXX
Vehicle: XXX XXX
2) Investment
3} Working Capital XXX
Current Assets
Quick Asscts
Cash XXX
Buank XXX




Debtors XXX
Bill Receivable XXX
. Total Quick Assets XXX
! Non-CQuick Assets

Stock XXX

Prepaid expenses XXX

Advances XXX XXX
Total Non-quick Assets
Total Current Assets (Quick + Non Quick Asset) XXX
Less Current Liabilities
Ouick Liabilities
Creditors XXX
Outside Expenses XXX
Bill Payable XXX XXX
Total Current Liability
Non-Cuick Liability
Bank overdraft XXX XXX
Total Current Liabilities
Working Capital (Current Assets Less Current Liabilities) XXX
Total Funds Employed /Applied XXX

Income Statement:

The Profit & Loss account needs to be arranged in a vertical format
which is suitable for further analysis. It is also called a vertical Income
Statement. Its format is given below.
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Company Litd.

Vertical Income Statement for the vear ended
Particulars Amount Amount
) ®)

Income

Sales XXX

{-) Sales Retum XN

Net Sales XXX
Less Cost of Goods Sold

Opening Stock XXX

Add: Purchases XXX

Add: Wages XXX

Add : Carriage Inward NXX

Add : Direct Exp. XXX XXX
Less Closing Stock XXX

Net Cost of Goods Sold XXX
Gross Profit Net Sales - Net Cost of Goods Sold) XXX

l.ess © Operating Exp.

0. Adwministrative Exp. NXX

b. Finance Exp. XXX

¢.  Selling Exp. XXX

Total Operating Expenses XXXX
Operating Profit (Gross Profit - Operating Expenses) XXXX
Add : Non-operating Income XXX
Less : Non-operating Exp. (XXXX)
Net Profit Before Tax XXX
Less : Tax (Charged on Net profit Before Tax) XXX
| Net Profit After Tax XXX




M/S co
Income statement
For Year ended

Particulars Rs Rs Rs
Sales
Gross Sales XX
Less : Returns (Inwards/Sales) (XX)
NetSales XX

Less : Cost Of Goods Sold
a) Opening Stock

Raw Material XX

WIP XX

Finished Good XX XX
b) Purchase XX

Less : Return (XX) XX

c¢) Direct Expenses and Fatory expenses

Carriage Inward (Freight) XX
Import Duty XX
Handling Charges XX
Wages and Salaries XX
Power and fuel Xx
FactoryExpenses XX
Depreciation on Machinery XX
Depreciation on Factory Building XX XX

d) Less : Closing Stock

Raw Material XX
WIP XX
Finished Goods XX (XX)
e) Less : Sale of Scrap (XX)
.'. COGS (atb+tc-d-¢) (XX)
Gross Profit XX

Less : Operating Expenses
a) Office and Administration Expenses :

Staff Salaries XX
Rent, Rates and Taxes XX
Unproductive Wages XX
Repairs to premises XX
Insurance XX
Printing and Stationary XX
Office Cleaning XX
Postage and Telephones XX
Staff Welfare Expenses XX
Conveyance Charges XX
Misc. Expenses XX

Depreciation on Office Bldg. & Furniture XX




b) Selling Expenses :

Carriage Outwards
Commission Allowed
Salesman commission/ Salary
Travelling Expenses
Entertainment Expenses

Sales Promotion Expenses
Advertising

Bad Debts (Normal)
Warehouse Expenses

¢) Finance Expenses :

Cash Discount
Bank Charges
Bank Commission
Bad Debts (Abnormal)
Foreign Exchange Loss

.. Operating Expenses (a+b+c)

Net Operating profit before interest
Less : Interest

Operating Profit After Interest

Add : Non Operating Income

XX
XX
XX
XX
XX
XX
XX
XX
XX

XX
XX
XX
XX
XX

XX

XX

Interest Earned / received
Misc. Incomes
Profit on sale of Fixed Asset
Profit on sale of Investment
Interest on Loan given to Outsiders
Dividend on Investments (Dividend Received)
Compensation received as per Court Order
Less : Non Operating Expenses & Losses
Loss on sale of Fixed Asset
Loss by Fire
Loss on sale of Investment
Penalty
Net Profit before Tax
Less : Income Tax
Net Profit after Tax
Add:Last Year Balance b/f (cr)
Less: Transfer to Reserves
Tranfer to Genera Reserve/ CRR/ Capital Reserve
Less: Preference Dividend
Less: Proposed dividend
Less: Interim Dividend

XX
XX
XX
XX
XX
XX
XX

XX)

(XX)

XX
XX
XX
XX

(XX)
(XX)
(XX)
XX)

.. Retained Earnings




M/S
Vertical Balance Sheet

Particulars Rs Rs Rs Rs

1. Sourees of Funds
1. Owners' Funds : (Sharcholder Fund / Net Worth)
A). Equity Sharcholder Fund :

). Equity Shares Capital XX
Add : B). Reserves and Surplus :
1. Capital Reserve XX
1), Capital Redemption Reserve XX
i), Share Preminm XX
iv). General Reserve XX
v) Profit & Toss A:C Cr. Balance XX
vi). Sinking l'und / Other Funds XX
Total Reserves and Surplus XX
Lesy 1), Losses & Fictitious Assets :
) Profit & Loss A/C Dr. Balance (XX)
i) Mise, Expendituee not written off
Preliminavy Expenses XX
Less: Written Of1 (XX) XX
Share issue kxpenses XX
Discount on issue of Shares & Debentures XX
Deferred Revenue Expenditure XX
Total Losses & Fictitious Assets XX
Total Owners' Funds XX

2. Borrowed Funds :
A). Secured Loans :

i} Debentures or Bonds XX
i1). Loans fiom Banks XX
i11). Loans from othei Financial Institutions XX
Total Secured Loans XX
B). Unsecured Loans :
i} Public Deposits (Fixed Deposits from Publiv) XX
i) Other Loans XX
I'etul Unsecured §,0ans XX
Total Borrewed Funds XX
Total Funds Available / Capital Emploved XX

1I. Application of Funds :
1. Net Fixed Assets :
A). Tangible :

1). Land and Building (Cost) XX
Less : Depreciation (XX) XX
i1). Leaseholds (Cost) XX
Less @ Depreciation (XX) XX
iii}. Plant & Machinery (Cust) XX
Less : Depreciation (XX) XX
iv). Fumniture & Fitlings (Cost) XX
Less ¢ Depreciation (XX) XX
v), Vehieles (Cost) XX
Less @ Depreciation (XX) XX
Net Tangibie Assets XX
). Intangible :
1), Goodwill XX
Less: wiitten Off (XX) XX
1), Patents. Trademarks & Designs XX
Net Intangible Assets XX
). Capital Work-in-Progress XX

Total Net Fixed Assets
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Particulars Rs Rs Rs Rs

2. Long 'Term Investmends :

i). Trade Investments XX
i). Investments in Immoveable Properties XX
iii). Investments in Capital of Partnership Firms XX XX

3. Working Capital :
A) Current Assets

Quick Assets :

a). Cash & Bank XX

b). Debtors (Net) XX

¢). Bills Receivable XX

d). Accrued Income XX

¢). Short Term / Marketable Investments XX

Total Quick or Liquid Assets XX

Add : Non Quick Asscts

i). Inventory XX

ii). Pre-Payments (Prepaid Expenses, Advance Tax etc) XX
Total Non Quick Assets XX
Total Current Asscls XX

B) Less: Current Liabilities
a) Quick Liabilitics

a). Creditors XX
b). Bills Payable XX
c¢). Advances Received XX
d). Outstanding Expenses XX
e). Accrued Interest XX
1). Provision for Taxation XX
g). Unclaimed Dividend XX
h). Proposed Dividend XX
Total Quick Liabilities XX
b) Non Quick Liabilities
Add : Bank Ovordrall XX
Total Carrent Liabilities (XX)
Net Curvrent Assets or Working Capital XX

Total Assers or Tota Funds Employed
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Problem 1

RATIO ANALYSIS

From the following Balance Sheet of XY Z Ltd. Calculate the follqwing ratios.

1. Current ratio

3. Absolute Liquidity ratio
5. Debt to equity ratio

7. Capital gearing ratio

~ Liabilities
Equity Capital
6% Pref. Capital
General Reserve
| Profit & Loss Alc
Prov. For taxation
Bills Payable
Bank Overdraft
Creditors

12% Debentures

Problem 2

2. Ligquid ratio - ek _
4. Current assels to Fixed assets ratio
6. Proprietary ratio
8. Fixed assets ratio

i

Balance Sheet as on 31% March 2019 B

Rs. Assets Rs.
10,00,000 | Goodwill(At Cost) 5,00,000
5,00,000 | Plant & Machinery 6,00,000
1,00,000 | Land & Building 7,00,000
4,00,000 | Furniture 1,00,000
1,76,000 | Inventories 6,00,000
1,24,000 | Bills Receivable 30,000
20,000 | Debtors 1,50,000
80,000 | Bank 2,00,000
5,00,000 | Investment (short-term) 20,000
29,00,000 ~29,00,000

# LY
LY ‘_4 %

Betal Manufacturing Company submits the following Profit and Loss Account for the year

ended 31% March 2019

Dr.

To Opening stock

To Purchases

To wages

To Manufacturing exp

To Gross profit ¢/d

To Selling & Dist. exp

To Admin. Exp

To loss by fire

To loss on sale of furniture
To Net Profit

Calculate:
1. Gross profit ratio
3. Operating profit ratio

Particulars

~ Profit & Loss A/c
Rs. Partic_ulars

1,60.000 y Closing Stock

48,000
32,000
1,04,000
3.96,000
8,000
45,600
2,400
1,600
56,000

1,13,600

By Gross profit b/d
By profit on sale of shares

- Cr
[ Rs.
3,20,000

76,000

3.96.,000
1.04.000
9.600

1,13,600

2. Net profit ratio
4. Operating net profit ratio




The summarised final accounts of J Ltd. & K Ltd are as follows

Balance Sheet

© y arens K Ltd K Ltd K Ltd K Ltd
Liabilities - z Assets - z
Share Capital 88,000 88,000 | Fixed Assets 1,21,000 97,000
Reserves 42,000 35,000 | Current Assets 1,25,000 | 1,03,000

8% Debentures 22,000 22,000
Current liability 94,000 55,000
2,46,000 | 2,00,000 2,46,000 | 2,00,000

Revenue Statement for the year

Particulars el AP
3 %

Sales 3,40,000 2,64,000
Less: Cost of Sales 2,97,000 1,98,000
Gross Profit 43,000 66,000
Less: Operating 23.000 44,000
Expenses

Net Profit Before Tax 20,000 22,000
Less: Tax 12,000 9,000
Profit After Tax 8,000 13,000
Less: Dividend 1,000 7,000
Retained Earning 7,000 6,000

You are required to calculate the following ratios and comment.
1. Proprietary ratio

2. Capital gearing ratio

3. Gross profit ratio

4. Operating ratio

5. Return on capital employed ratio

6. Return on proprietors equity ratio

7
8

. Expenses ratio
. Net profit ratio




Following are the Trading and Profit and Loss Account for the year ending 31st March 2011
and Balance Sheet of Jaipan Ltd as on 31st March 2011

Profit & Loss A/c

Particulars (4 Particulars (4
To Opening Stock 1,25,000 | By Sales 5,00,000
To Purchases 6,10,000 | By Closing Stock 3,55,000
To Gross Profit ¢/d 1,20,000
8.55,000 8.55.000
To Sundry Expenses 80,000 | By Gross Profit b/d | 1.20.000
To Net Profit 40,000
1,20,000 1,20,000
Balance Sheet
Particulars 4 Particulars 3
Share Capital 7,00,000 | Net Block 5,50,000
Reserves & Surplus 50,000 Stock 1,55,000
Add: Profit for the year 40,000 | 90,000 | Debtors 1,80,000
Bank Overdraft 35,000 | Cash 90,000
Creditors 1,50,000
9,75,000
9,75,000 9,75,000

You are required to calculate the following ratios and give your comments. Current Ratio,
Quick Ratio, Gross Profit to Sales, Stock Turnover, Debtors Turnover Ratio, net profit to paid
up Capital.
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Sums on Fund Flow Statement
Problem 1:

Funds Flow Statement:

{Rs. "000)
| 2003 2004 2003 2004
- | Rs Rs. | ~ Rs. Rs.
Share Capital | 300 400 Cash 30 90
Resgrve | 100 50 Accounts Receivable 105 150
Retained Earnings 30 60 Inventories 150 195
Accounts Payable | 45 135 Fixed Assets 190 210
|47 645 | 475 645
Additional Information :
{2) The company issued bonus shares for Rs. 50, 000 and for cash Rs. 50,000
{b) Depreciation written off during the year Rs. 15, 000. (B Com M.S5)

SOLUTION :
SCHFDULE OF CHANGES IN WORKING CAPITAL

R ‘ I—(_ ‘hanges in H(!r)’\mv ¢ u,'?!!m'
2003 2004. Increase Decrease
) _ it [ Rs. ‘ Rs Ry . Rs
Crrrent Asscls: '
Cash 30.000 90,000 60,000
Accounts Receivable 1.05,000 150,000 45,000 —
Inventories ~1,50,000 1.95.000 45,000 .
2,885,000 4,35,000
l.ess: Current Liabilities: = -
Accounts Payable 45000 _ 1,35000 | 90,000
Working Capital 2.,40,000 3.00,000
Increase in Working
Capital 60,000 - , 60,000
B 3.00,000 3.00,000 1,50,000 ] 1.50.000

FUND FLOW STATEMENT
for the year ended 31-12-2004 )
Rs. Rs.

50,000 Purchase of Fixed Assetls 35,000
45,000 Increase in Working Capital | 60,000

| 95,000 || ) 95,000

lssue of Share
Funds from Operation

Workings :
FIXED ASSETS A/C
B ‘ Rs. | Rs
To Balance b/d 1,920,000 By Adjusted P & L Alc 15,000
l {Depriciation)




SHARE CAPITAL A/C

Bulance cid

Balance b/d
Cash
General Rescrves

{Bonus Shares)

To Cash (Purchase) 35,000 By
2,25,000
— — ‘ -
To Balance c/d 4,001,000 By
I By
‘ | 3)‘
4.00.000

1o Fixed Assets
(Depreciations | |

o Balunce ¢ o

Problem 2:

£
15000 | Bv
1
60,000 By
750000

ADJUSTED PROFIT & LOSS A/C

Balance bid

Fund from Operation

L2 0000

25,000

s A

00000

SOL0010
SOLODG

V00 O

£y
SO

45.000
75.000

Ramco Cements presents the following information and

you are required to calculate funds from operations:
PROFIT AND LOSS ACCOUNT

To Operation Expenses

To Depreciation

To Loss on Sale of Building
To Advertisement Suspense Account
To Discount Allowed

To Discount on lssue of Shares
written off

To Goodwill written off
To Net Profit

. SIBACA

LONAVALA

52,000
~ [2.20,000 |

Ks.

1,00,000
40,000
10,000
5,000
500

500
12,000

By Gross Profit
By Gain on Sale of Plant

200,600
20,000

2,20,000




SOLUTION

CALCULATION OF FUND FROM OPERATIONS

Net Prafit (given)

Add : Non-fund or non-operating
items which have been debited
Profit & Loss Afc :
Depreciation
Loss on Sale of Building
Advertisement written off
{iscount writlten ofT
Goodwill written off

Lexs © Non-fund or non-gperating

items which have been credited to

Profit & Loss Alc :
Gain on Sale of Plamt

to

FUNDS FROM OPERATIONS

Alternatively :

 Rs. Re

52,000
40,000
10,000
5,000
500

[ 2.000 67.500

1,19,500

20,000 20,000

99 500

ADJUSTED PROFIT AND LOSS ACCOUNT

To Depreciation
To Loss on Sale of Building
To Advertisement Suspense A/C

To Discount written off
To Goodwill written off
To Closing Balance

Rs.
40,000
10,000
5,000

500
12,000
52,000

By Opening Balance
By Gain on Sale of Plant

{Balancing figure)

1,19,500

By Funds from Operations

Rs

20.000
99.500

1,19,500

SIBACA

LONAVALA




Problem 3:
The Balance Sheets of National Co. as on 31st December,
2003 and 31st December 2004 are as follows:

LWLV IRLY] s0.000 10,000

e Capital 00,000
Protit & lLos! [.00,000 ‘ 160000 ‘! S.00.000 | 8.00.000
e e L) () (il ]
umdr reciit | (2 1 G0 000 1 .
bills Payable 40,000 | 50,000 0.000 | 20.000
[ |
8.50,000 [11,75,000 - 8 $0.000

Additional Information:

(1) Rs. 50,000 depreciation has been charged on Plant and
Machinery during 2004.

(2) A piece of Machinery was sold for Rs. 8,000 during the year
2004. It had cost Rs. 12,000; depreciation of Rs. 7,000 had been
provided on it.

Prepare a Schedule of changes in Working Capital and a Statement
showing the Sources and Application of Funds for 2004.




SOLUTION :

SCHEDULE OF CHANGES IN WORKING CAFPITAL

) _ - - Changes r’_n_jio{km;{ Cuapital
feems 2003 2004 Increase Dr. Decrease Cr
A R B S Rs. Rs. __Rs
Current Assets :
Stock 100,000 75,000 - 25,000
Debtors 1,50,000 1,60,600 10.000 -
Cash | 20000 | 20,000
2,70,000 | 2,55,000 =
Current Liabilities -
Sundry Creditors 1.53.000 1,90,000 — 37,000
Bills Payable 40,000 50,000 - 10,000
Expenses OS5 7.000 - 5,000 | 2.000
2,00,000 | 245000
Working Capital 70.000 10,000
Net Decrease in
Working Capital I _ 60,000 | 60,000
- 70,000 70,000 72,000 72,000
STATEMENT OF SOURCE AND APPLICATION OF FUNDS
for the year ended 31st December 2000
Sources Rs. Applications - - Rs
Funds from Operations (1) 1.27.000 || Purchase of Land and
Buildings 44,000
Issue of Shares 2.00.000 || Purchase of Plant and
Machinery (2} 3,55,000
Sale proceeds of Machinery 8.000
Decrease in Working Capital 60,000
3,95,000 3,95,000
Workings
(1) ADJUSTED PROFIT AND LOSS ACCOUNT
Rs Rs.
To Plant & Machinery Afc By Balance b/d
{Depreciation of 2000} S0.000 (Opening Balance) 1,00.000
To General Reserve . By Plant & Machinery
{Transferred during 2000) 20,000 || (Profit on Sale) 3,000
To Balance c/d 1.60.000| By Funds from Operation
{Balancing figure) 1,27,000
2.30,000 | 2,30,000

SIBACA
LONAVALA



(2) PLANT AND MACHINERY ACCOUNT

To Batlance b/d

To Profit & Loss Afc
{profit on sale)

Te Bank A/c {Purchasc of
Machinery & Plant
(Balancing figure)

SIBACA
LONAVALA

D
AR

5,00,0G00
3.000

By Bank (Sale of Machincry)
By Profit & l.oss Alc
(Depreciation)
3,55,000 || By Balance c/d

|

|
8.5 s.oo'{)'"}

Rs
8.000
53,000

8,00,000

§,58,000



Problem 4:

From the following Balance Sheets of X Ltd. make out:
(1) Statement of Changes in Working Capital (ii) Fund Flow
Statement:

BALANCE SHEETS

Liahilities 2003 2004 Assers 2803 2004
Ry | R, Rs. Ry
tgquity Share Capital 3,00,000 [4.00,000 Goodwill 1.15.000 90,000
Redeemable Preference | 1.50,000 | 1,00,000 land & Buildings | 2.00,000 1,70,000
Share Capital
General Reserve 40,000 70,000 Plant 80,000 2,00,000
Profit & l.oss 30,000 48,000 Debtors 1.60.000 2.00,000
Proposed Dividend 42,000 50,000 Stock 77,000 1,09.000
Creditors 55,000 83,000 Bills Receivable 20,000 30,000
Bills Payable 20,000 16,000 Cash in hand 15,000 16,000
Provision for Taxation 40,000 50,000 Cash at Bank 10,000 8,000
6.77.000 | 8,17.000 6.77.000 8.17,000

Additiongl Information :
(1} Depreciation of Rs. 10,000 and Rs. 20.00Q have becn charged on Plant and Land and
Buildings respectively in 2004.

(2) A dividend of Rs. 20,000 has been paid in 2004.

(3) Income-tax of Rs. 35,000 has been paid during 2004.

SOLUTION :

(8. Com. Hons. Delhi)

STATEMENT OF CHANGES IN WORKING CAPITAL

Changes in Working Capital
2003 2004 | Increase Decrease
Dr, Cr,
Rs Ry Rs. Ry,
Current Assels
Debtors 1,60,000 2,00,000 40,000 -
Stack 77,000 1,09,000 32,000 -
Bills Receivable 20,000 30,000 | (0,000 —
Cash in hand 15,000 10,000 - 5,000
Cash at Bank | 10,000 8,000 — 2,000
| 2.82.000 | 3.57.000 |




Currene Liabilities
Creditors
Bills Payable

Waorking Capitul
Increase in

Working Capital

Saurces of Fund

Fund from Operation ()
issuc of Equity Bharcs

Sale of Land and Buildings (b)

Workings

1o Balance b/d
To Bank {Purchase of
Plant) {Balancing figure)

To Balance b/d

‘ 51,000

| 2,00,000 |

55,000

20,000

75,000
2.07,000

2,538,000

FUND FLOW

LRy
| 1.76,000 ||
1.00,000 |
| |
10,000 |

|

] 2 86.000

(a) PLANT
" —
Rs.

1 80,000
[.30,000

[ 2.10,000 |

(b) LAND AND BUILDING ACCOUNT

Rs. -
| 2,00,000

|

83.000

16,000 4,000

99,000 ]

N 2.58,000

2,58,000
STATEMENT
Application of Fund

Purchase of Plant {a)
Redemption of Preference
Shares

Payment of Dividend
Payment of Income Tax
Increase in Working Capital

86.000

ACCOUNT

By Profit & Loss A‘c

{Depreciation)
By Bafanece ¢/d

By Prolit & loss A/c
(Depreciation)

By Bank ({Sale of Land &
Buildings)

By Balance c’d

(c} ADJUSTED PROFIT AND LOSS ACCOUNT

To General Reserve
To Dividend (d)
Tea Provision for Taxation(e)
To Goodwill
To Depreciation
Plant
Land
To Balance ¢/d

2,06,000

I Rs i
[ 30,000
28.000
45,000
25,000

| 10.000
20,000
48,000

=Sl

By Balance b/d
By Funds from Operations

2E.000

51,000
86,000

| R._Y
[ 1.30.000

S0.000

20,000
35 000
51,000

2.86.000

| B

10,600
| 2.00.000
| 2,10,000

16.000
. 70,000

2.00.000

| fix.
10,000
1.76.000

2.06.000



(dy PROPOSED DIVIDEND ACCOUNT

Rs. | 1 Rs
To Bank Adc 20,000 || By Balance bid [ 42,000
To Balance ¢/ S0.000 || By Profit & Loss Ak I

_ | (Balancing figure) 28,000
o | 70.000 | | 70,000

{¢) PROVISION FOR TAXATION ACCOUNT

Rs ’ Rs
To Bank A'¢ 35,000 By Balance b/d 40,000
To Balance c/d 50,000 | By Profit & Loss Alc

| | {(Balancing higure) 45,000
_ _ [#s.000 ]| S [ 85000
Problem 5

The following are the summarised Balance Sheets of a
company as on 31st December 2003 and 2004:

Liahilities | 31-12-2003 3i-12-2004
Ry Rs.
Equity Share Capital 2,00,000 2,40,000
£% Debentures 50,000 .-
Securities Premium - 10,000
General Reserve 30,000 50,000
Profit & l.oss Account 48,000 68,000
Sundry Creditors 1,30,000 1,50,000
Proposed Dividend 20,000 24,000
Provision for Depreciation:
Plant & Machinery 1,40,000 1,50,000
Fumiture 6,000 4,000
Assels 6.24,000 6,96,000
Land and Buildings 1.05,000 1,50,000
Plant and Machinery {at cost) 2,90,000 3,20,000
Fumniture (at cost) 2,000 10,000
Inventories 1,30,000 1,05,000
Sundry Debiors 75,000 85,000
Cash 15,000 26,000
6.24,000 6.96,000

SIBACA
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Additional information is as follows:
(1) Furniture which cost Rs. 5,000, written down value Rs. 1,000
was sold during the year 2004 for Rs. 2,000.

(2) Plant and Machinery which cost Rs. 20,000 and in respect of
which Rs. 13,000 had been written off as depreciation was sold
during the year for Rs. 3,000.

(3) The dividend of 2003 was paid during 2004.

You are required to prepare (a) a Statement of changes in working
capital during 2004 and (b) Funds flow statement for the year 2004.

S, ) 9\\\
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SOLUTION :

STATEMENT OF CHANGES IN WORKING CAPITAL

Current Assets ©
Cash
Sundry Debtors
tnventories

Current Liabiities
Sundry Creditors

Waorking Capital
Net decrease in
Working Capital

Sowrces

Issur of Share Capital
Securitics Premium
Sale of Fumiture

2003

15,000
75.000
1.30,600
2.20,000

130,000
[,30,000

" Effecs on Warking Caprial

90.000

90,000

24 Increase
Ry s
26,000 1000
85,000 10,000
1.05.000
216000
[.50.,000 i
1.50.000 |
66,000 .J
24,000 24,000 ‘
90,000 45,000 |

FUNDS FLOW STATEMENT
for the year ended 3ist December 2004

|

Sale of Plant and Machinery |

Funds from Operajions

Net decrease in working capital |

Workings:

| 171,000

Rs. ] -

40.000
10.000
2.000
3,000
92,000
24,000

Applications
Redemption of Debentures
Purchase of Land & DBuildings
Purchase of Plam and
Machinery

Purchase of Fumiture
Dividend paid for

Dhverease

Rs.

25,000

20,000

R,

50,000
45,000

50,000
6,000
20,000

| 1,71.000

PROVISION FOR DEPRECIATION ON PLANT & MACHINERY

To Plant & Machinery
{on sold machinery)
To Balance ¢/d

Ry
13.000

1.50,000

1.63.000

By Balance b/d

By Adjusted P & L. Afc
{[Depreciation provided
during the year)
{Balancing figure)

Rs
1.40.,000

23.000

1,63.000

To Balance bid
To Cash {Purchase)
{Balancing {igure)

PLANT AND MACHINERY ACCOUNT

3,40,000

Rs
2,90,000 |

50,000 ||

]

By Cash (Sales)

By Provision for Depreciation
on Plant and Machinery

By Adjusted P & L Alc
{Loss on sale)

By Balance o/d

Ry
3,000
13,000

4,000

3.20.000




PROVISION FOR DEPRECIATION ON FURNITURE A/C

Ry Rx
To Fumiture Ac 4.000 By Balance b'd | 6,000
{Deprecianion on fumiture sold)
To Balance ¢’d 4.000 By Adjusted I & L. Ac
(Balancing figure) [ 2000
8.000 8.000
FURNITURE ACCOUNT
Rs. I | Ky
f'o Balance b'd | 9000 || By Cash (Sules) | 2.000
Fo Adjusted P & E A 1.000 |‘ By Provisions for 1,000
(Profit an Sale) depreciation '
Fo Cush (Purchase) 6.000 | By Balunce ¢/d 10,000
16.000 || 16,000
ADJUSTED PROFIT & LOSS ACCOUNT
Rs 1:' | Ry
To Transfer to General Reserve 20,000 || By Balance bid | 48.000
To Proposed Dividend (2000) | 24,000 By Profit on Sale of Furniture 1,000
To Provision for Depreciation : By Funds from Operations 92,000
Plant & Machinery 23,000 '
Fumiture 2,000 "
To Loss on Sale of Plam | A.000 ‘
lo Balance ¢ d | 68,000 ||
141000 | [1.41,000
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Problem 6:
Following are the comparative Balance Sheets of Good
Luck Co. as at 31st De_(_:__ember:

Liabilites L2003 2004 | Assels 2003 2004
_ | Ry | Rs Ul _ | Ry 1 Hs
Share Capital 1 10,00.000 | 11.00,000 | Goodwill 50,000 | 40,000
Debentures 5,00.000 3.0(},000\ Land & Buildings 4,20,000 | 6.60,000
General Reserve i 2.00,000 | 2.00,060 || Plamt and Machinery | 6,060,000 [ 800,000
Profit & loss | 110,000 | 1,90.000( Steck2,50.000 210,000
Income Tax Provisions | 40,000 | 1,10.000 || Debtors 3,060,000 2,40.000
Crediors i 50,000 40000 || Cash 3.00.000 24,000
Bills Payablc - 20000 30,000 || Preliminary Lxpenses 33,000 20,000
Provision for Doubtful 30,000 24.060
Debts
19.50,000 | 19.94,000 19.50.000 | 19.94,000

Additional Information :
() During the year 2004, a part of machinery costing Rs. 7,500 {Accumulated deprectation
thereon being Rs. 2,500} was sold for Rs. 3.000.
(by Dividend for Rs. 1,00.000 was paid during the year ended 31st December 2004,
() Income Tax Rs. 50,000 was patd during the year 2004,
() Depreciation for the year 2004 was provided as follows :

s
L.and and Buildings 10.000
Plant and Machinery 50,000

You are required 10 prepare .

(7} A schedule of change in Working Capital and

(i) A Statement showing the Sources and Application of Funds (CA M Com. Utkal, Poonal
SOLUTION :
SCHEDULE OF CHANGES IN WORKING CAPITAL

Changes in H’u;};g Capital

feomy 2003 2004 Increase Decrease
- ) I S i p— Dr — R
( ‘wrrent Assels Ry R R Ks.
Closing Stock 2,50,000 2,10,000 - 40,000
Debtors. less
Provision 2.70,000 2,16,000 54,000
Cash 3,00,000 24,000 ' 2,76,000

| 820,000 4,50,000




Cureent Liahilies i

Creditors 50,000 40,000 10,000
Bills Payable 20,600 30,000 10,000
7_0,00{)_ [ 70,000
Working Capital | 750000 | 3.80,000
Net Decrease in -' '
Working Capital \ 370,000 | 3,70.000
B I 7,50,060 7.50,0600 | 3.80,000 3,80,000 _
FUNDS FLOW STATEMENT
Sources ‘ Rs l‘ Applications Ry
Funds from Operations (3) ] 3,82,000 || Payment of Dividend 1.00.000
Sale of Machinery 3,000 Payment of Income ‘fax 50,000
Issue of Share Capital 100,000 Purchase of Land and \ 2.50,000
Buildings (2) \
Decrease in Working Capital 3.70,000 Purchase of Plant and | 2.55,000
| Machinery (1)
. Redemption of ‘ 200,000
Debentures
} §,55,000 | §.55,000
Warkings : :
(1) PLANT AND MACHINERY ACCOUNT
| Ry ' Ry,
To Balance b/d 6,00,000 By Bank {Sales) 3,000
To Bank (Purchase) 2,55,000 By Profit & Loss A’c 2,000
{Balancing figure) (Leoss on Sale)
By Profit & Loss A/ 50,000
{Depreciation)
| By Balance c/d 8.00,000
l[ 8.55,000 8.55,000
(2y LAND AND BUILDING ACCOUNT
B : [ Ry | ' T Rs
To Balance bid | 4,20,000 By Profit & lLoss Alc ! 10,000
To Bank (Purchasce) 2.50.000 {Depreciation)
(Balancing (igure} 1 By Balance c¢/d 6,60.000
6,70,000 6,70,000
(3) ADJUSTED PROFIT AND LOSS ACCOUNT
Rs Rs
To Depreciation !
Machinery 50.000 By Balance b/d [, 10,000
Land & Buildings | 10,000 By Funds from Operations 3,82,000
To Dividends 1,00,000 ||
To Income Tax Provision (4) 1,20,000 !




To Loss on Sale of Machinery 2.000
To Goodwill Written Off 10,000 ||
To Preliminary Expenses 10.000
Written OfF
To Balance ofd ~ 1.90.000
192,000 492,000
(4} INCOME TAX PROVISION ACCOUNT
Ry, I iy
To Bank (Payment) 50.000 || By Balance b/d 40,000
To Balance c¢/d 110,000 | By Profit & Loss A'c 1,20.000
________ ; {Balancing figure) |
160,000 || - 1.60,000




Fund Flow Statement

Definition: Fund Flow Statement summarises the movements of funds
in the business between the two accounting periods. It provides
analytical data about the procurement and utilization of funds.

Three statements are prepared during the fund flow analysis:

1. Statement of Changes in Working Capital
2. Funds from Operations or Adjusted Profit and Loss Account
3. Fund flow Statement

Objectives of Fund Flow Statement

Primarily the Fund Flow Statement is used to assess the cause of funds
inflow and outflow. The objectives of the Fund Flow Statement is to:

Estimate the working capital of the undertaking.

. Find out the changes and causes of changes in working capital.

. Perform a comparative study of the business’s financial position.
Know the sources of the inflow of funds.

« Learn where the funds are being used.

- Formulate the policies for the financial soundness of the firm.

. Attain financial control over the business.

. Track and control the key resource of the company.

How to prepare Funds Flow Statements?

Firstly, we analyze the changes in working capital. The statement shows
an increase/decrease in current assets and liabilities between the two
years.

Accounting Treatment in Fund Flow Statement:

. The net increase in working capital under the application of funds.
. A decrease in working capital under the sources of funds.

SIBACA
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Format of Changes in Working Capital

Statement of Changes in Working Capital

{for the year ended_____)
L Previous | Current | YWorking Capital Changes
Porticulars ) v i
Year YEGT increase [decrense
Current Assets: (=} (=} (%) (%)

Cash in Hand

Cash at Bank

Short-term Investment (Marketable Securities)
Sundry Debtors

Bills Receivable

Accrued lncome

Prepaid Expenses

Stock-in-trade

Other Current Assets

(A)

Current Liobifities:
Sundry Creditors
Bills Payable
Cliststanding Expenses
Income received in advance
Bank Overdrafy
Other Current Liabilities

(8]

Working Capital (& ~ B}
IncreasefDecrease in Working Capital

Secondly, we calculate the funds from operations. It depicts an increase or
decrease in working capital due to operating activities.

We can calculate it by preparing:-

1. Statement of Funds Flow from Operations, or
2. Adjusted Profit and Loss Account

Accounting Treatment in Fund Flow Statement:

« Funds from operations appear under sources of funds.
« Funds lost in operations appear under the application of funds.

SIBACA
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Format of Funds from Operations

Dr Adjusted Profit & Loss Account Cr
Partictfars Amount Particulars Amournt
(<) (%)
To Depreciation By Balance b/d {Balance of P &
To Lass on Sale of Fixed Assets L Afc at the end of the
To Loss on Sale of Long-term pervious year)
Investments By Profit Sale of Fixed Assets
To Preliminary Expenses By Profit on Long-term
written off Investments
To Goadwill written off By Refund of Tax
To Discount an Dehentures . By Dividend on Investment
written off 8y Funds from Operations
To Provision for Taxation {Balancing figure}

To Dividend/interim Dividend

To Proposed Dividend

To Transfer to General Reserve

To Transfer to Sinking Fund

To Balance ¢/d (Balance of P &
L Afc at the end of the
current year)

funds Flow from Operations {for the }
Particulars Amount()

Net Profit after Tax for the Year HH XX K
Add: Non-Operating Expenses

Depreciation PIES N

Loss on Sale of Fixed Assets %%

Interest on Debentures K

Goodwill Written off XK

Pravision for Taxation XK

Proposed Dividend XXX

Dividend/Interim Dividend R

Transfer from P & L A/c X HHKHK
Less: Non-Operating Incomes

Interest an nvestments XX

Dividend on Investment XK

Prafit Sale of Fixed Assets XN

Interest on Bank Deposits K

Refund of Tax e {xxxxx}
Net Fund Flow from Operations HHHXK

SIBACA
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The third or final step in the process is making the fund flow statement.

The fund’s statement has two separate sections, that is:

1. Sources of Funds: It depicts the items responsible for the inflow of
funds into the business.
2. Application of Funds: This section shows the outflow of funds from
the business.

Application:

Format of Fund flow Statements in the form of an account

Funds Flow Statements (for the year ended____)

Particulars

Sources;

fund from Operations

Issue of Shares Capital

Issue of Debentures

Raising Long Term Loans

Sale of Fixed Assets

Sale of Long Term Investments
Mon-Trading Income [Dividend)
Decrease in Working Capital

Fund Lost in Operations

Redemption of Preference Share Capital
Redemption of Debentures

Payment of Long-term Loan

Purchase of Fixed Assets

Purchase of Long-term Investments
Payment of Dividend

Payment of tax {if treated as appropriation of profit)

Increase in Working Capital

SIBACA
LONAVALA
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Dr Adjusted Profit & Loss Account

Particulars

To Depreciation

To Loss on Sale of Fixed Assets

To Lass on Sale of Long-term
Investments

To Preliminary Expenses
written off

To Goodwill written off

To Discount on Debentures
written off

To Provision for Taxation

To Dividend/Interim Dividend

To Proposed Dividend

To Transfer to General Reserve

To Transfer to Sinking Fund

To Balance ¢/d (Balance of P &
L A/c at the end of the
current year)

Amount

()

Particulors

By Balance b/d {Balance of P &
L Afc at the end of the
pervious year)

By Profit Sale of Fixed Assets

By Profit on Long-term
Investments

By Refund of Tax

By Dividend on Investment

By Funds from Operations
{Balancing figure}

Cr

Ameount

(x)

Points to Remember

One must consider the following points while preparing funds flow

statements:

. Always prepare the changes in working capital first.
« The funds flow statement and operations funds must be prepared

simultaneously.
« Provide necessary working notes for the adjustments.




Importance of the fund flow statements

The fund flow statements are helpful to the firm’s stakeholders. As it
conveys vital information about the business. The importance or uses of
fund flow statements are as follows:

Management
Fund Flow Statements helps managements in the following ways:

1. It helps management to determine the plan of action for the future.

2. The fund flow analysis enables optimum resource allocation.

3. After analyzing the application of funds, management can formulate its
dividend policy.

4. The management can analyze and improve its working capital
positions.

5. It depicts the firm's financial position, which helps get loans easily.

Investors
Investors can get some vital information about the firm like:-

1. Abilities of the firms to pay them dividend
2. Firms capabilities to pay their obligations
3. Effective sourcing and usage of the funds

Creditors

Fund flow statements provide the actual financial position of the business
The creditors can find out the companies’ capabilities of repaying their
debts. It includes the short and long term liabilities of the business.

Government

The government uses these statements to know the firm’s capital
budgeting sources. The government forms industrial policies based on the
data given in this statement.Fund flow statements also help the
government in capital control.



Financial Institutions

The financial institutions seek information about the firm’s liquidity and
profitability. They get this information by way of Fund flow statements.

Researchers

To assess the financial soundness of business, researchers use various
financial statements. Fund flow statements help derive conclusions about
the financial position of enterprises.

Limitations of Fund Flow Statements

. Only provides additional information about funds. Therefore it cannot
be the substitute of the financial statements.

. It uses historical data, so it is not prepared with much accuracy.

« These statements only cover changes in working capital, not the cash.
However, analyzing changes in cash is a must.

. Important non-fund transactions are not included in these statements
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What is Working Capital?

Working capital is defined as the excess of current assets over current liabilities . It forms a
part of the aggregate capital of the business. Now, a business needs working capital to fund
its short term obligations. Typically, firms with an optimum level of working capital indicate
efficiency in managing its operations. This further enables the firm to pay for its short-term
dues and day-to-day operational expenses.

Therefore, working capital is a measure of business’ liquidity position, operational efficiency,
and short-term financial soundness.

Hence, working capital can be put into the following equation:
Working Capital = Current Assets — Current Liabilities

So, let’s have a look at what forms current assets and current liabilities of a business in order
to understand the above equation.

Current Assets

Current Assets are the assets of the business that can be easily converted into cash within a
year or normal operating cycle of the business, whichever is greater. These assets typically
include: )

o Cash and cash equivalents

o Inventory

o Accounts Receivable

o Marketable Securities

e Prepaid Expenses

e Other Liquid Assets
Current Liabilities
Current Liabilities are the obligations of the business that are due within one operating cycle
or a year, whichever is greater. Such liabilities are paid off by either using the current assets
of the business or by creating other current liabilities.

Therefore, Current Liabilities include:

e Accounts Payable

o Noies Payabie

e Current Portion of Long Term Debt
« Accrued Liabilities

e Unearned Revenues

Types of Working Capital
Depending upon the Periodicity & concept working capital can be classified as below:

o Permanent Working Capital

o Regular Working Capital

o Reserve Margin Working Capital

o Variable Working Capital

o Seasonal Variable Working Capital




e Special Variable Working Capital
Gross Working Capital
» Net Working Capital

1) Permanent Working Capital
It is that portion of the working capital that remains permanently tied up in current assets to
undertake business activity uninterruptedly. In other words, permanent working capital is the
least amount of current assets needed to carry out business effortlessly. Thus, it is also known
as {ixed working capital.

The amount of fixed working capital required by a business depends upon the size and the
growth of the business. For instance, minimum cash or stock required by a firm to undertake
the operational activities of the business.Now, permanent working capital can be further
subdivided into two categories:

2) Regular Working Capital
This is defined as the least amount of capital required by a business to fund its day-to-day
operations of a business. Examples include payment of salaries and wages and overhead
expenses for the processing of raw materials.

3) Reserve Margin Working Capital
Apart from day-to-day activities, a business may need some amount of capital for unforeseen
circumstances. Reserve Margin Working Capital is nothing but the amount of capital kept
aside apart from the regular working capital. These pool of funds are kept separately for
unforeseen circumstances such as strikes, natural calamities, etc

4) Variable Working Capital
This can be defined as the working capital invested for a temporary period of time in the
business. For this reason, it is also called as fluctuating working capital. Such a capital varies
with respect to the change in the size of the business or changes in the assets of the business.

5) Seasonal Variable Working Capital
This refers to the increased amount of working capital a business needs during the peak
season of the year. A business may even have to borrow funds to meet its working capital
needs. Such a working capital specifically meets the demands of business having a seasonal
nature.

6) Special Variable Working Capital
Supplementary working capital may also be required by a business to undertake exceptional
operations or unforeseen circumstances. The capital required for such circumstances is
termed as special variable working capital. Funds needed to finance marketing campaigns,
unforeseen events like accidental fires, floods, etc.

7) Gross Working Capital
This refers to the aggregate amount of funds invested in the current assets of the business. In
other words, Gross Working Capital is the total of the current assets of the business. These
include:

° Cash = |';|---'"‘.~\
« Accounts Receivable S\
» Inventory Vs NN
e Marketable Securities and u’;‘_;”’
e Short-Term Investments l::(\

N\



8) Net Working Capital
Net Working Capital is the amount by which current assets exceed the current liabilities of a
business.
Thus, the working capital equation is defined as the difference between current assets
and current liabilitics. Where current assets refer to the sum of cash, accounts receivable, raw
material and finished goods inventory. Whereas, current liabilities include accounts payable.

The amount of working capital in a business is the indicator of liquidity, operational
efficiency and short-term financial soundness of the business. Businesses having adequate
working capital typically have the ability to invest and grow.

On the other hand, businesses having insufficient working capital have higher odds of going
bankrupt. This is because of their inability to pay for their short-term obligations, thus
making it difficult for them to grow.

Factors Affecting the Working Capital:
The firm must estimate its working capital very accurately because excessive working capital
results in unnecessary accumulation of inventory and wastage of capital whereas shortage of
working capital affects the smooth flow of operating cycle and business fails to meet its
commitment.So finance manager must estimate right amount of working capital. The finance
manager must keep in mind following factors before estimating the amount of working
capital.

1. Length of Operating Cycle:

The amount of working capital directly depends upon the length of operating cycle.
Operating cycle refers to the time period involved in production. It starts right from
acquisition of raw material and ends till payment is received after sale. The working capital is
very important for the smooth flow of operating cycle. If operating cycle is long then more
working capital is required whereas for companies having short operating cycle, the working
capital requirement is less.

2. Nature of Business:

The type of business, firm is involved in, is the next consideration while deciding the
working capital. In case of trading concern or retall shop the requirement of working capital

jc lece hacanica lanath {\‘F r\nprqhn Cvr\]o 15 §M al
is less because operating mall.

The wholesalers as compared to retail shop require more working capital as they have to
maintain large stock and generally sell goods on credit which increases the length of
operating cycle. The manufacturing company requires huge amount of working capital
because they have to convert raw material into finished goods, sell on credit, maintain the
inventory of raw material as well as finished goods.

3. Scale of Operation:

The firms operating at large scale need to maintain more inventory, debtors, etc. So they
generally require large working capital whereas firms operating at small scale require less
working capital.




4. Business Cvcle Fluctuation:

During boom period the market is flourishing so more demand, more production. more stock.
and more debtors which mean more amount of working capital is required. Whereas during
depression period low demand less inventories to be maintained, less debtors, so less working
capital will be required.

5. Seasonal Factors:

The working capital requirement is constant for the companies which are selling goods
throughout the season whereas the companics which are selling seasonal goods require huge
amount during season as more demand, more stock has to be maintained and fast supply is
needed whereas during off scason or slack season demand is very low so less working capital
is needed.

6. Technology and Production Cvcle:

If a company is using labour intensive technique of production then more working capital is
required because company needs to maintain enough cash flow for making payments to
labour whereas if company is using machine-intensive technique of production then less
working capital is required because investment in machinery is fixed capital requirement and
there will be less operative expenses. In case of production cycle, if production cycle is long
then more working capital will be required because it will take long time for converting raw
material into finished goods whereas when production cycle is small lesser funds are tied up
in inventory and raw materials so less working capital is required.

7. Credit Allowed:

Credit policy refers to average period for collection of sale proceeds. It depends on number of
factors such as creditworthiness, of clients, industry norms etc. If company is following
liberal credit policy then it will require more working capital whereas if company is
following strict or short term credit policy, then it can manage with less working capital also.

8. Credit Avail:

Another factor related to credit policy is how much and for how long period company is
getting credit from its suppliers. If suppliers of raw materials are giving long term credit then
company can manage with less amount of working capital whereas il suppliers are giving
only short period credii ihen company will require more working capital to make payments to
creditors.

9. Operating Efficiency:

The firm having high degree of operating efficiency requires less amount of working capital

as compared to firm having low degree of efficiency which requires more working capital.

Firms with high degree of efficiency have low wastage and can manage with low level of

inventory also and during operating cycle also these firms bear less expense so they can
manage with less working capital also.




10. Availability of Raw Materials:

If raw materials are easily available and there is ready supply of raw materials and inputs then
firms can manage with less amount of working capital also as they need not maintain any
stock of raw materials or they can manage with very less stock. Whereas if the supply of raw
materials is not smooth then firms need to maintain large inventory to carry on operating
cycle smoothly. So they require more working capital.

11. Level of Competition:

If the market is competitive then company will have to adopt liberal credit policy and to
supply goods on time. Higher inventories have to be maintained so more working capital is
required. A business with less competition or with monopoly position will require less
working capital as it can dictate terms according to its own requirements.

12. Inflation:

If there is increase or rise in price then the price of raw materials and cost of labour will rise,
it will result in an increase in working capital requirement. But if company is able to increase
the price of its own goods as well, then there will be less problem of working capital. The
effect of rise in price on working capital will be different for different businessmen.

13. Growth Prospects:

Firms planning to expand their activities will require more amount of working capital as for
expansion they need to increase scale of production which means more raw materials, more
inputs etc. so more working capital also.

What is Significance of Working Capital?

Working capital is the life blood and nerve center of a company. Just as movement of blood
is necessary in the human body for marinating existence, working capital is very necessary to
uphold the horizontal running of a company. No business can run productively without a
sufficient amount of working capital. The main compensation of maintaining ample amount
of working capital is as under:

1. Solvency of the company: Sufficient working capital helps in maintaining
soivency of the company by providing continuous flow of manufacture.

2. For Goodwill of business: Sufficient working capital enables a business concern to
make punctual payments and hence helps in creating and maintaining goodwill.

3. Easy availability of loans: A business having sufficient working capital, high
solvency and good credit standing can assemble loans from banks and other on easy
and positive terms.

4. To avail cash discounts: Enough working capital also enables a concern to avail
cash discounts on the purchases and hence it reduces costs.

5. Normal supply of raw materials: Enough working capital ensures usual supply of




commitments which raises the confidence of its employees, increases their
competence, reduces wastages and costs and enhances manufacture and profits.

7. Utilization of favorable market situation: Only concern with sufficient working
capital can exploit positive market conditions such as purchasing its necessities in
bulk when the prices are lesser and by holding its inventories for upper prices.

8. Capability to face crisis: Sufficient working capital enables a concern to face
company crisis in emergency periods such as gloominess because during such
periods, usually, there is much pressure on working capital.

Operating Cycle

The operating cycle is the average period of time required for a business to make an
initial outlay of cash to produce goods, scll the goods, and receive cash from customers
in exchange for the goods

Pul:hase
Raw
Cash .
Materials
Production
Realization process
of income . T
Debt
collection/ Work in
Credit Progress
Payment
— Finished Production
’ Sales Goods process

Operating Cycle of a Business

A company’s operating cycle usually consists of three primary actions; purchasing resources,
producing the product, and selling the product. These actions create funds flows that are both
unsynchronized since cash disbursements typically take place before cash proceeds.
Example: Payments for store purchases takes place before the collection of receivables. They
are unsure because prospect sales and costs, which produce the particular receipts and
disbursements, cannot be forecasted with total exactness. If the firm is to uphold a cash
balance to pay the bills as they come outstanding. In addition, the corporation must invest in
_inyentories to fill customer orders punctually. And, finally, the company invests in accounts
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Receivables alteration period The inventory conversion period is the extent of time required
to manufacture and sell the product.

It is defined as under: Standard inventory Inventory change period =Cost of sales/365.The
payables delay period is the length of time the firm is able to reschedule payment on its
various resource purchases.

Equation is used to calculate the payables delay period:

Accounts due + Salaries, benefits, and Payroll taxes due Payables delay period = (Cost of
sales + Selling, general and executive expense) /365 Finally, the cash exchange cycle
represents the net time gap between the collections of cash proceeds from product sales and
the cash payments for the company’s different resource purchases.

It is calculated as follows: Cash conversion cycle = Operating cycle — Payable delay period

e (Cash Cost Approach:

Depreciation is a non-cash expense & there are no funds locked up in depreciation as
such, therefore it is ignored. Depreciation is neither included in valuation of work-in-
progress nor in finished goods. Working capital ignoring depreciation is known as
Cash Cost Approach of estimating working capital.

e Total Cost Approach:

Some companies may like to add depreciation as a current liability for working
capital estimation. The working capital calculated by considering depreciation is
known as Total Cost Approach of estimating working capital.

Sources of Working Capital Finance

. Loans from Commercial Banks:
. Public Deposits:

. Trade Credit:

. Factoring:

. Discounting Bills of Exchange:

. Bank Overdraft and Cash Credit

. Advances from Customers

1
2
3
4
5
6
7
8

. Accrual Accounts




Format of Working capital

1, TRADING CONCERN

STATEMENT OF WORKING CAPITAL REQUIREMENTS
~ Amount (Rs) |

Current Assels

(1) Cash

(1i) Reccivables ( For....Month’s Sales)----
(iii) Stocks ( For......Month's $ales)----
(iv)Advance Payments if any

Less : Current Liabilifies

(i) Creditors (For..... Month’s Purchases)-
(i1) Lag in payment of expenses
WORKING CAPITAL( CA-CL)

Add : Provision | Margin for Contingencies

NET WORKING CAPITAL REQUIRED




1. MANUEACTURING CONCERN

STATEMENT OF WORKING CAPITAL ﬁEO(HREM ENTS

Amount (Rs,)

Carrent Assels
(i) Stock of R M( for ....ntonth’s consumplion) - R
(iiWork-inprogress (for...months)
(a) Raw Materials -
(b Diireet Labour -
(c) Overheads -
(i) Stock of Finished Goods ( for ...month’s sales) < Codad (oSt
(a) Raw Materials
(h) Direct Lahuur} Todad (8
(¢) Overheads AL
(iv) Sundry Deblors ( for ..month's sales) a3 / #-(ast
(a) Raw Maerials
(h}DirectLahau&ToM (o8t
(¢) Overheads
(v) Payments in Advance (if any)
(iv) Balance of Cash for daily expenses
| (vii)Any ather item

Less: Current Lighiltties

(i) Creditors (Far..... Montt’s Purchases) - & T\«
(ii) Lag in payment of expenses

(iii) Any other

WORKING CAPITAL { CA - CL jxux

Add : Provision | Margin for Contingencies

NET WORKING CAPITAL REQUIRED




Practical Questions

1.Prepare an estimate of networking capital requirement of Zero company from the

data given below:

‘ Estimated Cost per Unit of Production

Raw Materials

Direct Labour

Overheads

!!.-lmrmn(per Unit (Rs. )

100

S

:_K)_ -

Selling price per unit

Rs. 240

Level of activity

1,04,000 units

LR

per

' Raw Materials in stock
|

average 4 weeks

Work in progress [Assume 100% stage of completion of
materials and 50 per-cent for labour and overheads]

Finished Goods in Stock

Credit allowed by Suppliers

average 2 weeks

average 4 weeks

average 4 weeks

Credit allowed to Debtors

SIBACA
LONAVALA

average § weeks

average 1 1/2 weeks.




Cash at Bank is expected to be Rs. 25,000. Assume that production is sustained during 52
weeks of the year.

Solution:

Statement of working capital requirement

Current Assets ?I:;“)u it g:.‘.])unt
Raw Materials (_2000 x 4 x 100) 1 8,00,000
Work in Progress N | -
B Raw Material (2000 x 2 x 100) : 4,00,000 [
Wages (_?.OOO x 2 x 40) 50% 80,000
| Overheads ;_2000 x 2 x 80) 50% 1.60.000 :,40,000 |
: ! Finished Stock ;20[]{) x 4 x 220) 17,60,000 N
R Debtors (2000 x 8 x\ggﬁg{? 35,20,000 3{1[}0}000
Cash 25,000
i | (TC(:)Kl)l Current Assets _ - ;7,45,000 :}’%50 00
Current Liabilities : |
('_n:ditors | (2000 x 4 x 100) 8,00,000
| - - L |
Outstanding Wages (2000 x 40 x 1.5)

SIBACA
LONAVALA




|
“ Total Current !
Liabilities (CL) ‘

|

9,20,000 ‘\

Net Working Capital (CA—CL) 58.25,000 ‘
‘ ) h“s 000
4 ’

Working Notes:

(/) Annual production is 1,04,000 units and year is consisting of 52 weeks. So, the weekly

production is 2000 units.
Sy Ovee
(if) Debtors have been taken at cost of production.

2. The cost sheet of PQR Ltd. provides the following data :

Cost per unit (Rs.)

Raw material 50 50

— —— B - T I T B
Direct Labour 20 10
Overheads (including depreciation of Rs. 10) 40 30

—'-5.‘
Total cost 110 QO O /

Profits

|
| Selling price 130

| I ]

Average raw material in stock is for one month. Average material in work-in-progress is for
half month. Credit allowed by suppliers: one month; credit allowed to debiors : one month,
Average time lag in payment of wages: 10 days; average time lag in payment of overheads 30
days. 25% of the sales are on cash basis. Cash balance expected to be Rs. 1,00,000. Finished
goods lie in the warehouse for one month.

You are required to prepare a statement of the working capital needed (o finance a level of

OB ,
the activity 0f54 000 units ofoutput Pr oduclzon is car; rzed  on even nh thr rurvlmm the vear and
,/Trﬂ‘@'

SO‘IA
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Solution : As the annual level of activity is given at 54,000 units, it means that the monthly
turnover would be 54,000/12 = 4,500 units. The working capital requirement for this monthly

turnover can now be estimated as follows :

I. Current Assets : Amount Amount

Minimum Cash Balance Rs. 1,00.000
[
Inventories :
Raw Materials (4,500 x Rs. 50) 2.25,000
Work-in-progress :
Materials (4,500 x Rs. 50)/2 1,12,500
Wages 50% of (4,500 x Rs. 2<O/)/2 22,500
[
Overheads 50% of (4,500 x Rs. 30)/2 33,750
Finished Goods (4,500 x Rs. 100) 4,50,000
T30 i

Debtors (4,500 % Rs.>< 75%) 3,37,500
Gross Working Capital 12,81,250 Rs. 12,81,250

I1. Current Liabilities :

— —— Jﬁl EII!II' — -'.;
S 7
S
Creditors for Materials (4,500 x Rs. 50) 2,25,000 é/
w SIBACA

| ~ '—‘é

Creditors for Wages (4,500 x Rs. 20)/3 30,000 ko

« qm

T CONAVALA |
L‘




Creditors for Overheads (4,500 x Rs. 30)

‘ ‘ Total Current Liabilities

Net Working Capital

Working Notes :

‘1,35,000

3,90,000

3,90,000

‘7‘1.91,250

1. The Overheads of Rs. 40 per unit include a depreciation of Rs. 10 per unit, which is a non-
cash item. This depreciation cost has been ignored for valuation of work-in-progress, finished
goods and debtors. The overhead cost, therefore, has been taken only at Rs. 30 per unit.

2. In the valuation of work-in-progress, the raw materials have been taken at full requirements
for 15 days; but the wages and overheads have been taken only at 50% on the assumption that

on an average all units in work-in-progress are 50% complete.

3. Since, the wages are paid with a time lag of 10 days, the working capital provided by wages
has been taken by dividing the monthly wages by 3 (assuming a month to consist of 30 days).

Qyﬁ 3.The following information has been extracted from the records of a Company :

Product cost sheet

— Raw materials are in stock on an average for two months.

Raw Materials Vs, 45
Direct Labour 20
Overheads 40
| I - o I~
Total 105
[

Profit 15
Selling price 120

. The materials are in process on an average for one month. The degree of completion is

LT

w respect of all elements of cost.
Z X
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— Finished goods stock on an average is for one month.

— Time lag in payment of wages and overheads is 17> weeks.

— Time lag in receipt of proceeds from debtors is 2 months.

— Credit allowed by suppliers is one month.

— 20% of the outpul is sold against cash.

— The company expecis to keep a Cash balance of Rs. 1,00,000.

The Company is poised for a manufacture of 1,44,000 units in the next year.

You are required to prepare a stalement showing the Working Capital requirements of the
Company

Solution :

Statement showing the Working Capital requirement of the Company

Current Assets : Amount(Rs.)

Stock of Raw Materials (12,000 x 2 x Rs. 45) 10,80,000
Work-in-progress (12,000 x 1 x Rs. 105) x 50% 6,30,000

Finished Goods (12,000 x 1 x Rs. 105) 12,60,000

Debtors (12,000 x 2 x Rs. 105 x 80%) t\} (oSt 20,16,000

Cash balances 1,00,000 50,86,000
Current Liabilities : L

Creditors of Raw Materials (12,000 x 1 x Rs. 45) 5,40,000

Creditors for Wages & Overheads (12,000 x 60 + 4)

L5 2.70,000 8.10,000
Net Working capital (C.A —C.L) 42.76.000




Working Notes :

[um—

Finished goods and Debtors have been taken at cost.
2. Production per month has been taken at 12,000 units. For payment of wages and overheads,
month is taken as consisting of 4 weeks.

4.Hi-tech Ltd. plans to sell 30,000 units next year. The expected cost of goods sold is as

follows
‘ Rs. (Per Unit)
Raw Material 100 h
Munufacturing expenses 30
—_— - i |
Selling, administration and financial expenses 20
Selling price “ 200

The duration at various stages of the operating cycle is expected to be as follows .

Raw Material stage 2 months
Work-in-progress stage 1 month
Finished stage 1/2 moitii
Debtors stage 1 month

Assuming the monthly sales level of 2,500 wunits, estimate the gross working capital
requirement if the desired cash balance is 5% of the gross working capital requirement, and
work-in-progress is 25% complete with respect to manufacturing
expenses. [B.Com. (H),
D.U, 2013 Adapted]
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Solution :

Statement of Working Capital Requirement

Current Assets :

Amt.(Rs. )

Stock of Raw Material (2,500 x 2 x 100)

Work-in-progress :

Amt.(Rs. )

5,00,000

Raw Materials (2,500 x 100) 2,50,000
Manufacturing Expense 25% of (2,500 x 30) 18,750 2,68,750
Finished Goods :
Raw Material (2,500 x 1/2 x 100) 1.25.000
Manufacturing Expenses (2,500 x 2 x 30) 37,500 1,62,500
Debtors (2,500 x _150) A} Cost _ 3,75,000

X T3,06,25():
Cash Balance (13,06,250 x 5/95) 68,750
Working Capital Requirement _ 13,75,000

~ Note: Selling, administration and financial expenses have not been included in valuation of
closing stock. However, Debtors have been valued at full cost. Alternatively, Debtors can
also be valued at Rs. 30.




—

-
=

5.Calculate the amount of working capital requirement for SRCC Ltd. from the
following information:

| Rs. (Per Unit)

I
Raw Material 160
Direct Labour 60
Overheads 120
Total cost 340
Profit 00

- | .

Selling price 400

Raw materials are held in stock on an average for one month. Materials are in process on an
average for half-a-month. Finished goods are in stock on an average for one month.

Credit allowed by suppliers is one month and credit allowed to debtors is two months. Time
lag in payment of wages is 1% weeks. Time lag in payment of overhead expenses is one
month. One fourth of the sales are made on cash basis.

Cash in hand and at the bank is expected to be Rs. 50,000 : and expected level of production
amounts to 1,04,000 units for a year of 52 weeks.

You may assume that production is carried on evenly throughout the year and a time period
of four weeks is equivalent to a month.

Solution :-

1. Current Assets : Amount Amount
Cash Bal Rs.
ash Balance 50,000

/__.:\ﬂ Stock of Raw Material (2,000
OMIBISTZEN: 160 x 4)

3 37N

£
&

12,80,000

/.
S

57
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Work-in-progress :

Raw Materials (2,000 x 160 x |Rs.
2) 6,40,000
Labour and Overheads (2,000 3.60,000 10.00.000

x 180 x 2) x 50%

Finished Goods (2,000 x 340 x
4)

27,20.000

Debtors (2,000 x 75% x 340 x

40,80.000

CL)

8) AL Cagy

Total Current Assets 91,30,000
Current Liabilities :

Creditors (2,000 x Rs. 160 x 4) 12,80,000
Creditors for Wages (2,000 x

Rs. 60 x 114) (80000
Creditors for Overheads (2,000

«Rs. 120 x 4) 2:60.000
Total Current Liabilities 24.20,000
Net Working Capital (CA — 67.10,000




6.The data of ABC Ltd. is as under:

Production of the year ' 69,000 units '
‘ Finished Goods inventory ' ‘3 months
|
|.
Raw Materials inventory : 2 months consumption I
! |
| |
Production process 1 month |
Credit allowed by Creditors ; .~ months
Credit given to Debtors \ 3 months
Selling Price per unit . Rs. 50 each
_ 1 . _
Raw Material 50% of selling price
Direct Wages , 10% of selling price
Overheads : 20% of selling price
| L |

There is a regular production on sales cycle, wages and overheads accrue evenly. Wages are
paid in the next month of accrual. Material is introduced in the beginning of production
cycle. Work-in-process involves use of full unit of raw materials in the beginning of
manufacturing process and other conversion costs equivalent to 50%.

You are required to find out working capital requirement of ABC Ltd.
Solution :

Monthly Production (69000 + 12) = 5750

Statement of Working Capital Requirement

SIBACA
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I. Current Assets:

RM (5,750 = 2 x 25)

Rs. 2,87.500

wIpP - RM (5,750 = 1 x 25) 1.43.750
— W (5,750 = 1 x 5) 50% 14.375
- O/H (5,750 x 1 x 10) 50% 28,750
I'G (5,750 x 3 x 40) 6,90,000
Debtors (5,750 = 3 = 40) A;( (o§4~ [6,90,000 Rs. 18,54,375
II. Current Liabilities:
Creditors (5.750 = 2 x 25) 2,87,500
Wages (5,750 x 1 x 5) 28,750 3,16,250
Working Capital Requirement (CA — CL) 15,38,125
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Capital Structure - Capital Suructure
¢ Capital structure can be defined as the
| rve e mix of owned capital and borrowed
Capital Structure capital
ﬁlﬂﬁ o %‘ .‘ "'-“"; : #FMaximization of shareholders’ wealth is
ZUNDS _:' y prime objective of a financial manager.
T:’ . S . J &‘:}“’:E‘j
Do:\; c‘npl_ii‘l Equlity énpitn

Capmhzauona_ndquxmlSu_dct;;c 1

"'\ Optimal Capital Sturcure

» Capitalization refers to the total amount of _ ,
0O The optimal or the best Capital Structure

long_term funds emp]oyed by the firm. implies the most economical and safe ratio
between various types of securities

) . . Qa It is that mix of debt and equity which
» Capital structure signifies the kinds of maximizes the value of the company and

" : : : minimizes the cost of capital.
securities and theitr proportion in the total P

capitalization of a firm.




Financial structure and capital steacture.

e liinancial structure is different from capital structure It
means the composition of the entire labilities side of the
balance sheet.

o It shows the wav in which the fiem’s assets are financed.
Ifinanctal structure includes long-teem as well as short-term

sources of finance

Capital structure signifies the proportion of long-term
sources of finance in the capitalization of the firm.
e Itis represented by sharcholders” funds and long-term

loans. Capital structure is a part of the Ainancial structure.

———ry— — T Ty

Importance/Features of Capital Structure

Maximum Returns

* Less Risky
» Safety

» Flexibility
» Economy
» Capacity

= Control

Factors affecting Capital Structure

Internal Factors

1} 8lze of Business

’) Nature of Business

1) Regularity and Certainty of Income
Il) Assels Structure

1) Age of the Firm

13} Desire to Retain Control

") Fulure Plans

3) Operating Ratio

1) Trading on Equity

10) Period and Purpose of Financing

Factors Affecting Capital Strucure
External Factors

Capital Market Condition
. Nalure ot Inveslors
Statutory Requirements
Taxation Policy
Policies of Financial Inslitulions
Cost of Financing
Seasonal Variations
Economic Fluctuations
Nature of Competition




Forms of pattern of Capital Structure:

(Sources of Finance)

Iic: capital structure of a new company generally includes the

following:

a) liquity shares
b) Preference shares
) Debentures or Bonds

d) Long-termloans

Theories of Capital Structure

"T'he four major theories or approaches which
explain the relationship between capital structure, cost of

capital and valuation of firm are:
1. Net Income (NI) Approach
2. Net Operating Income (NOI) Approach
3. The T'raditional Approach
4. Modigliani-Miller (MM) Approach

- Capital

LR
¥
s ing
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Structure Theoties

ASSUMPTIONS —
< Firms use only two sources of funds —
equity & debt.

TRADITICHAL WETIRCOME < No change in investment decisions of
APPROLCH APFROACH the finm, i.e. no change in total assets.

< 100 % dividend payout ratio, i.e. no
retained earnings.

< Business risk of firm is not allected by
the financing mix,

< No corporate or personal taxation.

% Investors expect future profitability of

the firm

»  Net lncome approach proposes that there is a definite refationship between

Capital Structure Theories —
A) Net Income Approach (NT)

= This approach has been propounded by Durand David in 1959

capital Structure and value of the firm.

»  According to this theory a firm can increase the value of the firm and reduce
the overall cost of capital by increasing the proportion of debt in its capital
structure to the maximuim possible extent,

= N1 approach assumptions —

o NI approach assumes that a continuous fncrease in debt does
not affect the risk perception of investors.

o Cost of debt (K) is less than cost of equity (K) [i.e. K, < K.]

o Corporate income taxes do not exist.




Capital Structure Theoties — Format of Calculating value of firm on the

A) NetIncome Apptroach (NI)

The total market value of the fiom (V) under the Net Tncome Approach is

basis of NI Approach

ascertmned by the following formula

V=S84D Net Operating (ncome (EBIT) | xxx
e \' = "Total market value of the firm  Less: Interest on debenture (1) X
. K | . | . Earning Available lo Equily Shareholders (N} il Xxx
¢ 8§ = Market value of equity shares (N1/Kc) Equily Capitalization Rate (Ke) G
o 1D = NMarket value of debt (1/Kd) Market Value of Equily (S)) Xxx
o NI= Net Income Ke = Cost of Vquity Market Value of Debl (D) N | Xxx
e | = Interest Kd = Cost of Dbt Tolal Value of the Firm (S+0) I ST
Overall Cosl of Capital (Ko) = EBIT/V (%) | Xxx (%)

¢ Fhe ovenall cost of capital (Ko) Or W eighted average cost of capital is

caleulated as under
Ko = EBIT/V
EBIT = Earning Before Interest and Tax

2) Ans :- Il the debenture debts arc increased (o Rs 00000 What shall be the value of

s W o - i
E.\Bm IE' {Ji h lfl IIlL.O me A pr}l‘OafC h the firm and oxerall cost of capital”? .
A company expeets EBIT of Rs 100000 [t has Rs 230000 8% Debentures The equity _ ; ‘v
capilalization ratc of the company is 10% = -
1) Calculatc the value of the firm and overall cost of Capital according to the Net Income _Nel Operating Income (EBIT) == 100000
Approach Less: Interesl on debenlure (1) (400000x8%) A2000
S anc i b ; ) shall he the valne of the: firm 7 - = —
2)1rthe debentuire debis are increased 10 Rs 400000 What shall he the value of the firm and Earning Available 1o Faviy Sharsholders (NI 68000

overall cost il enpiial *

- Equily Capilalization Rate (Ke) 10%
ns - . i P
Net Operating Income (EBIT) 100000 Markel Value of Equity (S) (68000/10%) 680000

Less: Interest on debenture (1} (250000x8%) 20000 Markel Value of Debt (D) 40_0000

Eaming Available to Equity Shareholders (NI) 80000 Total Value of the Firm (V) = (S+D) 1080000

Iﬂy Capitalization Rate (Ke) (Cos! of Equity) 10% Overall Cosl of Capilal (Ko) = EBIT/V (%) 9 26%

Markel Value of Equily (S) (80000/10%) 800000 (100000/10800000) x 100

Market Value of Debt (D) - 250000 e ) =

ol Vabe o e im (1)~ (5+0) 050000 e
Overall Cost of Capilal (Ko) = EBIT/V (%) 952% capital has decreased (from 9 52% to Y 26%)

(100000/10500000) x 100

SIBACA
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Capital Structure Theories —

A) Net Income Approach (NI)

As the proportion of
i debt (K) in capital

structure increases,
Wi i v | the WACC (K,)
o reduces.
el Lt
L2414

-éap—it;.lgti:uctu;e.'f heories — 15)) il
Net Operating Income (NOIT)

« Net Operating Income (NOT) approach is the exact opposite of the Net

Income (NI) approach

As per NOT approach, value of a firm is not dependent upon its capital
structure: Thus, There is no Optimal Capital Structure.

The capital structure decision is irrelevant and the degree of financial

leverage does not affect the WACC and market value of the firm

Assumptions —
o WACC is ahvays constant, and it depends on the business risk.

o Value of the firm is calculated using the overall cost of capital i.e.
the WACC only.

o The cost of debt (K) is constant.

o Corporate income taxes do not exist.

Capital Btrctire Theories —

B) Net Operating Income (NOI)

« MO proposttions (e school of though) =

~ The use of higher debt component (borrowing) in the capital
structure increases the risk of sharcholders.

» Increase in sharcholders’ risk causes the equity capitalization
rate to increasc, 1.e. higher cost of equity (K

« A higher cost of equity (K) nullifies the advantages gained
duc to cheaper cost of debt (K)

«= In other words, the finance mix is irrelevant and docs not

affeer the value of the firm.

» Theincrease in the proportion of debt in the capital structure

b The advantage associated with the use of the relatively less

NEUTRALIZATION

would lead to increase in the financial risk of equity share
holders

expensive debt in terms of explicit cost is exactly neutralized
by the implicit cost of debt represented by the increase in the
cost of equity capital.




Cap?tal Structure Theories —

B_ N Operadng Income (N OI):

= Cost of capital (K )

1§ constant.
Cost

- = As the proportion
— of debt increases,
(K,) increases.

= No effect on total

T bem cost of capital (wacc)

Format of Calculating value of firm on the
basis of NOI Approach

Nel Operating Income (EBIT/NOIy L

Overall Capilalization Rale (Overall Cost of Capilal) (Ko)  Xxx |
Tolal Value of lhe firm (EBIT/Ko) | Xxx
Less Markel Value of Debl (D). T o
IMarkel VaEe of Equity (S)) zixx

Eaming Available to Equily Shareholders (NOI — Interesl)_ Xxx

Equity Capitalization rate (NOI-Inlerest / S) X 100 ])(xx (%) |

Example of Net Opérating: Income Approach

A company cxpects EBIT of Rs 200000 it has Rs 800000. 7% Debentures The Overall
capitalization rale of the company is 10%

the Net Operating Income Approach
2) 1 lhe debenturc debls arc mereased 1o Ks 1200000 What shall be ithe value of the fini aud
Equity Capitalization Ratc (Cost of Equity)?

1) Ans

Net Operating Income (EBIT/NOI) 200000
Overall Capitalization Rale (Overall C_osl of Capital) (Ko) 10%

Total Value of lhe firm (EBIT/Ko) (200000/10%) | 2000000 |
| Less Market Value of Debl (D) (800000)
Market Value of Equily (S) 1200000
I_Ear_ning Available to Equity Shareholders (200000-56000) | 144000
 Equity Capilalizalion rale (144000/1200000) x 100 12%

1) Calculate the valuc of the firm and Equity Capitalization Rate (Cosl of Equity) according to

2} Ans Il the debenture debts are increased to Rs 1200000 What shall be the value of the
firm and Equity Capilalization Rate (Cost of Equity )?

Net Operaling Income {EBIT/NOI) 200000
Overall Capilalization Rale {Overall Cost of Capital) (Ko) 10%
Total Value of the firm {EBIT/Ko) (200000/10%) 2000000
Less Market Value of Debt (D) (120000)
Market Value of_Equily {S) 'moo
Eaming Available to Equity Shareholders (200000-84000) | 116000
Equity Capitalization rate (116000/800000) x 100 14.5%

Conclusion :- With the increase in debt financing (from Rs 800000 to Rs 1200000. the
value of the fim remaine unchanged bul Equity capitalization rate will increased
(from 12% to 14 5%)




o) Modlgham _ Miller Model (VM)

« MM approach supports the NOT approach, i.c. the capital

structure (debt-cquity mix) has no effect on value of a firm.

« MODIGLIANI- MILLER explain the relationship
between capital structure, cost of capital and value of the

firm under two Propostions:
1. When there is no corporate taxes

2. When there is corporate taxes

' athaI Structure Theoties —

C) Modigliani — Miller Model (MM)

1) WHEN THERE IS NO CORPORATE TAXES

e Ihe MODIGLIANI- MILLER Approach is identical to
NOI approach when there are no corporate taxcs.

e MODIGLIANI- MILLIIR arguc that in the absence of
taxcs, the cost of capital and value of the fiems are not
affected by capital structure or debt-cquity mix.

e Change in Debt/1iquity Ratio affect Ke But Ko remaining
constant. But beyond certain limit of debt the Kd increase
and Ke decrease again keeping Ko constant

Capltal Structure Theories —

I\Iodlgham Miller Model (MM)

+ As per MM approach, 2 identical firms(levered firm and Unlevered firm)
which are exactly similar in all resepct (except leverage) cannot have
different values for long period of time.

b If market value of identical firms are different ,"Arbitrage Process” will
take place

b Arbilrage process includes buying and selling of lhose securities which
are out of equilibrium in the capital market. i.e. Buying of undervalued
securities and selling of overvalued securities

b This will continue till the equilibrium is restored. Thus Arbilrage ensures
that the securities of two identical firms cannot sell at different price for
long.

L Thus Capital structure decision of a firm does not affect ils Market Value

Maodigliani — Miller Model (MM)
Assumption

I'he MM hypothesis is based on the following
assumption

e There is perfect market. It implies that
(a). Investors are free to buy and sell securities:

(b). they can borrow freely on the same term as
the firms do;

(c). Investors act in a rational manner.

SIBACA
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“Modigliani — Miller Model (MM)

Assumption

Capital Structure Theories —
C) Modigliani — Milles Model (MM)

There are no corporate taxes.
® There are no transaction costs.

® The payout is 100 per cent. That is, all the

earnings are distributed to shareholders.

# Firms can be grouped into homogeneous

risk classes.

2. When there are corporate taxes:

Modigliani an Miller have recognized that capital structure
would affect the cost of capital and value of the firm, when
there are corporate taxes

[fa firm uses debt in its capital steucture, the cost of
capital will decline and market value will increases. This 1s
because of the deductibility of interest charges for
computation of fax

Since interest is the tax deductible, the effective cost of

borrowing will be less than the rate of interest.

Modigliant — Miller: Model........

According to MM Approach, the value of levered firm (Which uses debt)
would be exceed that of lhe unlevered (Which does not use debt) by
and amount equal to the Levered tirm Debts mulliplied by the Tax rale

« Value of levered firm = Value of unlevered firm + (Tax rate x
Debt)
« VL=Vu+(DxT)
» According to the M-M approach, the value of an unlevered firm
(Which does not use debt ) can be calculated as follows
r Value of unlevered firm, Vu = EBIT(1-t)/ Ke (as only equily in CS)
Where EBIT = Earnings Before Interest an Taxes

T = Tax rate Ke = Cost of equity

Example ot MM Approach

Company A and B are homogeneous in all respects except that
Company A is levered while Company B is unlevered Company A has
Rs. 5,00,000 assumptions are met and the tax rate is 50% (3) EBIT is
Rs. 50,000 and lhat equity-capilalisation rate for Company B is 12%
What would be the value for each firm according to M— M's approach?
Solution:

Value of unlevered Firm (Vu) = [EBIT (1-{)}/Ke

=[50,000*(1-0 6)] / 12%

=Rs. 2,08,333

=Rs 2,08,333+ (Rs. 5,00,000 X 50%)
=Rs 4,58,333

Value of levered Firm (VL)

SIBACA
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titicism of MM Approach

1. Tmperfections do exist in Capital Market

2. I'he assumption of rate of interest fails in practice

3. Personal leverage is no substitute for corporate leverage

4. the assumption of the absence of transaction cost s
also not correct.

5:T'he assumption of non- existence of corporate tax s

also not correct.

Capital Structure Theories —

‘D) Traditional Approach

= "I'he NT approach and NOI approach hold extreme views on
the relationship between capital structure, cost of capital and
the value of a firm.

« ‘I'raditional approach (Sntermediate approach’) is a compromise
between these two extreme approaches.

» According to 'I'raditional Approach, weighted average cost
of capital decreases only upto certain level of financial
leverage and starts increasing beyond certain level of

judicious mix of debt and equity.

-'Capital Structute Theoties —
D) Traditional Approach

« Hlenee, Lraditional approach confiems the existence of an optimal capital
structure; where W ACC is minimum and value is the firm is maximum.
e Asper this approach, a best possible mix of debt and equity will maximize the

value of the fum

Cilpital Sttucture Theories —
D) Tradidonal Approach

‘U'he approach works in 3 stages —

1) Value of the firm increases with an increase in borrowings
(since Ky < K). As a result, the WACC reduces gradually.
‘I'his phenomenon is up to a certain point.

2 At the end of this phenomenon, reduction in WACC ceases
and it tends to stabilize. Futther increase in borrowings will
not affect WACC and the value of firm will also stagnate.

3) Increase in debt beyond this point increases sharcholders’
risk (financial risk) and hence K increases. K also rises duc
to higher debt, WACC increascs & value of firm decreases.




¢ Cost of capital (K )
is reduces initially.

= Ata point, it settles

* But after this point,
(K,) increases, due
to increase in the

cost of equity. (KK)

Cosl

Debt

Ca'p_its_il Structure Theories —
D) Traditional Approach

- kd

3
b

Compule lhe value of the firm, value of shares and average cost
of capital from the following information:

Net Operating Income
Total investment
Equity Capilalization Ral, If:

Rs 2,00,000
Rs 10,00,000

1) Firm uses no debl 10%
) Firm uses Rs. 4,00,000 as debl 11%
i) Firm uses Rs 6,00,000 as debt 15%

Assume that Rs. 4,00,000 debt can be raised al 5% and Rs 6,00,000

=1 be raised al 7% rate of Interesl

Net Operaling Income (EBIT)

2,00,000

2.00,000

2,00,000
Less: Inleres! on debenture (1) Al 20,000 42,000 |
Earning Available lo Equity |  2,00,000 1,80,000 1,58,000
Shareholders .
Equily Capilahzalion Rale (Ke) 10% 1% 15%
Market Value of Equity (S) 20,00,000 16,36,363 10,53,333
Market Value of Debt (D) - 4,00,000 6,00,000
Total Value of the Firm (V) = 20,00,000 20,36,363 16,53,333
(S+D) JEN—
Overall Cosi of Capital (Ko) = 10% 982% 12 09%
EBIT/V (%)

Conclusion - From (he solution aboyvc. we can conclude that the increasing the debt
portion, over a certain limit. has increased the cost of capital cventually.

EBIT(PBIT)- EPS Analysis

EBIT - Earning Before Inlerest and Tax

EFS - kafming per Share

EBIT-EPS analysis is a lechnique used to determine the optimal capilal
siructure in which the value of EPS has the highest amount for a given
amount of EBIT

EBIT-EPS analysis gives a scientific basis for comparison among
various financial plans and shows ways to maximize EPS

Hence EBIT-EPS analysis may be defined as 'a tool of financial
planning that evaluates various alternatives of financing a projecl under
varying levels ot EBIT and suggests the best allernalive having highesl
EPS and determines the most profitable level of EBIT'

SIBACA
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Explainations- When EBIT reaches the EBIT-EPS indifTerence point. both financing plans
generate equal EPS However i EBIT has a lower value equily financing will generate
higher EPS than debt financing For any valuc of EBIT to the right of the indifference
point. debt financing will give a higher value of EPS because of a higher degree of
Tinancial leverage

E’kample'_._of EBIT- EPS Analysis

* Suppose, ABC Lld. which is expecting the EBIT of Rs.1,50,000 per
annum on an investment Rs.5,00,000, is considering Lhe finalization of
the capilal structure or the financial planSuppose, it analyzes the
following four options to raise the required funds of Rs 5,00,000.

1) By issuing equity share capilal of RS. 100 each

1) 50% funds by equily share capital and 50% funds by 12%preference

shares

3) 50% funds by equily share capital, 25% by 12% preference shares and

5% by issue of 10% debentures

1) 25% funds by equily share capital, 25% as 12% preference share and

0% by the issue of 10% debentures

ssuming that ABC Ltd. belongs to 50% tax bracket, the EPS under the
ibove four options can be calculated as follows:

Ans - Working note

Rs.500000
|

[ | i |
240 1) 25000 eguity 1) 1258 ety
,I,?"ma, 2?5:'{'?0 shate of Re 100 each shintes of lre 1040

SO0 wauity sl B aacly = e, 250000 * Ra. 260000 £agh = Hs, 125000

R T00each= o, P12 et shate 2 12% Piet shate
Fis. B000G0 ‘jﬂm‘: e Aggoq  PPAl=BSIZS000  capitus Re1zb00)
: 3110% dutiemline = 3) 10% Duliwniue =

A

R 1F6000 RS 250000

EBIT 150000 150000 150000 150000
Less- Interest = = 12500 25000
EBT 150000 150000 137500 125000
Less—Tax (50%) 75000 75000 68750 62500
PAT 75000 75000 68750 62500
Less — Pref Dividend — 30000 15000 15000
Amount available to 75000 45000 53750 47500
Equily shareholders
No. of Equily shares 5000 2500 2500 1250
'EPS = Amount 75000/5000 | 45000/2500 | 53750/2500  47500/1250
available lo equity =15 =18 =21.5 =38
shareholders / no of
equity shares —

L il
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Indifference Point - Example

Debarathi Co Lid, is planning an expansion piogramme It 1equites Rs 20 lakhs
ol external financing for which it is considering two alternatives The fist
alternative calls for issu-ing 15,000 equily shaies of Rs 100 vach and 5,000 10%
Prefetence Shates of Rs 100 cach; the second alternative requiies 10,000 equity
shares of Rs 100 each, 2,000 10% Piefetence Shaies of Rs 100 each and Rs
8,00,000 Debentures catrying 9% intetest. The company is in the tax biackel of
50% You ate requited to caleulate the indilference point for the plans and verify
yotu answer by caleulating the EPS

Compruration o S wmdar DIferem Plam

Pha i Plantl

1l [T IR
Tow Tatieo Srom
o (RIS nlonn
leaw Iy [N L
A [N e
Tew Ploe s Diastol < 2000
Lary wo bkl 3 sha etk < %) 12 e
N ey eguets s S mn W
C D an s g e agans b cioddan Ix tam Saw

Ui Nvmse ol el ins 1500 o
K~ 1 2 R~ 120

Solution: Capial Mructune

Pins 1(RY Plan 1 (RS}

“Equity share wapital 1500000 Vi
107 Preference share wpinl 5.0C Co0 L
9% Debzntures = LR
Tatal 200600 200,003
Nuinher of equiny s1arcs 15.000 10 Cim

I et A bvel of EBIT. the LPS unider both ihe plar v | besame
AU-0-rp _ Kl - U, X11]
N - 13

CPS under Fst ellimatie

Agan EPS unde- 2ad ahiemnaver (X TIH0 78 (- T2,00000 - 0.5 o
ey to.mo
Now. scualizing bath the EPS we gt

Al -0)- 50000 1 X - 32 0000 - 0.5) - 30,000
14,000 B 10,000
= £2X- 50,000 _ Q5T 0N 0
TRE Th
DSV - $6.000
RS

b 3 i
= (IR 1K O P L
k000
(RS B0

War iy verify she result by eateubiing 5PS under Soth the plans

ading on Equity

The concept of trading on equity refers to the use of debt component in
the capital employed A company is required to create a capilal siructure
in such a way which help in increase weallh of equity shareholders

If use of debt in the capital structure increase the earning before equity
shareholders , such silualion is called lrading on equily They stand lo
gain of their earning per share increase with the inclusion of debt
component in the capital employed

Why and Where trading on equity is
used ?

Trading on equily is used 1o increase the eaming per share and lo
maximise lhe wealth of equily shareholders. This is possible when a
company needs more funds and raises debt funds for its financial
requirements  For this Return on Investment (ROI) should be more than
the Rale of Inleres! on Debt

Trading on equily can be used when the company is financially slrong
and is capable of paying fixed commitments in the form of interest

and preference dividend and repayment of long term funds raised in
time

SIBACA
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Example of Trading on Equity

¢ Total capilal employed = % .30,00,000
¢ Interest on debt =10%
¢+ Tax Rate =30%

Eamings before interest and tax (EBIT) =  4,50,000
Return on invesiment =
= (Net profit before interest and tax / capilal employed) x 100
= (¥ 4,50,000 /% 30,00,000) x 100
Return on investment = 15%

Components
Iquiih share capital # Leach
W Debonruns

1o

Japital Bmployed

Farnings before Interest and
Tan

Situation |

IR

34,520,000

Situation 11

EIRIERL RE 14}

550,000

Lessz Intorest o J12 7
Einning after interest

Leaslas 4 307

< LA
¥ 13,3008
T LB

RREVIRENS
T L3N0
75000

Lanning alter tax

T 245000

T L7A.000

Farning, Toer Shase

.
V1L
LS Chide A JRE T A
T, L

conclusion

L In the above situalion , though capital employed as well as rate of tax
are same but with the inclusion of debt in the second situation, earning
per share has increased from Z 12, 25 per share to 17.5 per share.

b Hence, there is trading on equity and the wealth of equity shareholders
has been increased

b It is due to the reason that ROl is 15% which is more than Rate of
Debt of 10%.
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Capital Structure planning

1) Progressive Company Ltd. has the following capital structure

Equity Capital (Rs. 10 each) Rs. 10,00,000
15% Debentures Rs. 8,00,000
Total Rs. 18,00,000

The company is planning to raise another Rs. 15,00,000 for modernisation

and expansion.

The following alternatives are considered :-

a) To raise the entire amount by equity share capital (Rs. 10 each)

b) To raise the amount by term loan at an interest rate of 16%

c) To raise 50% amount by equity capital and the balance by 16% term
loan.

d) To raise Rs. 8,00,000 by equity share capital, Rs. 4,00,000 by 16% term
loan and the balance by 14% preference share capital.
Assuming an income-tax of 50% and an EBIT of Rs. 8,00,000, advise the
company about the proper alternative on the basis of EPS.

2) XYZ Ltd has currently an ordinary share capital of Rs. 250 lakhs consisting of
equity shares of Rs. 100 each. The company is planning to raise another Rs.
200 lakhs for financing a major expansion programme. The following four
options are available

a) Entirely through ordinary shares
b) Rs. 100 lakhs through ordinary shares and the balance by 15% term
loan.
c) Rs. 50 lakh through ordinary shares, Rs. 150 lakhs through long term
borrowing at 15% rate of interest.
d) Rs. 100 lakhs through ordinary shares, and Rs. 100 lakhs through
preference shares with 14% dividend.
Expected EBIT of the company is Rs. 80 lakh. Calculate EPS under
each alternative and advise the company about the most beneficial
alternative. Income tax rate can be taken as 50%.
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Capital Budgeting (Unit 5)

2) A project costs ¥5,00,000 and has a.scrap value of
¥1,00,000 after 5 years. The net profit before depreciation
and taxes for the five years period are expected to be
¥1,00,000, 1,20,000, ¥1,40,000, ¥1,60,000 and ¥2,00,000
respectively. You are required to calculate the accounting
rate of return, assuming 50% tax rate and depreciation on
straight line method.

[Ans: Profit after deprecation and tax = 32,000, ARR = 16%]
3) Cash inflow and outflow of a project are given below:

Years | Cash Outflow (3) | Cash Inflow ])
0 75,000 -
1 15,000 10,000
2 - 15,000
3 - 30,000
4 40,000
5 - 15,000

The salvage value at the end of 5" year is ¥20,000. The PV
factor at 10% discount.

Calculate Net Present Value.
[Ans: Net Present Value = 34,4301

4) PKL LTD’s financial manager have to advise the board of
directors on choosing between two competing project
proposals, which require an equal investment of ¥50,000
and expected to generate cash flows as under:

Years | Project-I | Project-II
(§4) (£9)
1 24,000 10,000
2 16,000 12,000
3 10,000 18,000
4 Nil 24,000
5 12,000 8,000
6 6,000 4.000

Assuming the present value factor @ 10%. Calculate NPV
for both the projects.

[Ans: Net Present Value Project I: 3,378 Project II: ¥6,136]

5) The company has under consideration two mutually
exclusive proposals for the purchase of new equipment.
Assuming the tax rate to be 50% suggest the management
the best alternative using PV, factor at 10%.

Particulars Machine X|Machine ¥
Net Cash Outflow () 2,00,000 1,50,000
Scrap Value Nil Nil
Life (years) 5 5
Profit before depreciation and fax
(PBDT) R).
1st year 50,000 36,000
2nd year 60,000 40,000
3rd year 70,000 44,000
4th year 50,000 40,000
5th year 40,000 32,000
Calculate:

i) Payback Period

ii) Net Present Value

[Ans: Payback Period Machine X: 4 years, 1.5 months
(Approx.); Machine Y: 4 years, 3.8 months (Approx.); Net
Present Value Machine X: —20,915; Machine Y: -20,150]

6) ABC Ltd. is considering investing in a project requiring a
cash outflow of ¥1,00,000. Cost of capital as 10%.
Depreciation may be taken as 20% on original cost and
taxation at 50% of net earnings. Forecast for annual earning
after depreciation but before tax (EADBT) is as follows:

7

8)

9

10)

D)

e —
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_ Years 4
1 50,000
2 50,000
3 40,000
4 40,000
5 20,000 .
Calculate:

i)  Payback method.

ii) Rate of return method (on initial investment),

iii) Rate of retum method (on average investment).

iv) Net present value method.

[Ans: Payback Period: 2.25 years; ROR on Initial Investment:
20%; ROR on Average Investment: 40%; NPV: ¥54,065]

PCB Ltd. invests ¥5,000 in a project, which generates the
following cash flow in the next 4 years. The firm has a cost
of capital of 10%. The cash inflows are as under:

Years Cash Inflows
L ®
1 1,500
2 2,500
3 2,500
4 2500 |

Calculate profitability index.
[Ans: Profitability index (PI); 4.7]

You are given the following information relat
Ltd. for the year of recent performance of an,gsei:
Initial cash outflow ¥1,00,000

Life of the asset 5 years

Estimated annual cash flow 325,000

Calculate:
i)  Payback period AL ALY
ii) IRR o T

iii) Profitability index (PI) N

[Ans: Payback Period: 4 years; IRR: 8.07%, Profitability
index (PI): 1.25]

A Project needs a cash outflow of 2,77,000. The cost of

capital is 12%. The net cash flows are as under: ;1
| Years T v
1 60,000 i
2 80,000 iy
3 1,20,000 N
4 60,000 ‘
s 40,000 ‘

You are required to calculate NPV and IRR. Suggest
whether the project should accepted or not and why?

[Ans: Net Present Value = ~13,380; IRR = 10% (Approx)]
ABC Ltd. is considering two mutually exclusive projects.
Both require an initial outlay of ¥1,00,000 each and have a
life of 5 years. The company’s required rate of return is
10%. The expected cash flows are as follows:

Years Project X Project Y
) ®
1 40,000 60,000
2 40,000 30,000
3 40,000 20,000
4 40,000 50,000
5 40,000 50,000

Determine the net present value and internal rate of return of
each project and indicate which project should be selected
and why?

[Ans: Net Present Value Project X: ¥51,600; Project Y:
¥59,540; IRR Project X: 28%(Approx); IRR Project Y:
32%(Approx)]
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Max. Marks: 50

FINANCIAL MANAGEM ENT
— ___ ________________________——-—-___.___________
Time: 2Y2 Hours

Note: 1) All questions are compulsory.
2) Each question has an internal option.
3) Each question carries 10 marks.

4) Figures to the right indicate marks for that (uestion/sub-question,

5) Your answers should be specific and to the point,

6) Draw neat diagrams and illastrations supportive to your answer.

7) Use of simple calculator is permitted.

Ques | a) “Financial Management is something more than
an art of accounting and book-keeping.” Explain. 10)

Ans: Yes, the statement is true. Financial management is
something more than art of accounting and book keeping in the
sense that, accounting function discharges the function of
systematic recording of transaction relating to the
firm transaction in book of account and summarizing the same
for presenting in financial statement. Profit and loss Afc,
Balance Sheet, Fund Flow and Cash Flow Statements, Financial
Management use other method and techniques like capital
budgeting, statistical and mathematical models and computer
application in decision making to maximize the value of the
firm’s wealth and value of the owner’s wealth. Financial
Management is the key function, many firms prefer to
centralize the function to keep constant control on the finance
of the firm. This can be further explained by the help of the
strategies of financial management,

Key Strategies of Financial Management
Refer Unit-1, Page No.18

Or
Ques 1 b) ‘A Finance Manager is a person who is
responsible in a significant way to carry out the finance
functions.’ Justify. (10)

Ans: The statement is true. A finance manager s a person
who is responsible in a significant way as finance managers
perform data analysis and advise senior managers on profit-
maximizing ideas.

Meaning of Finance Manager
Refer Unit-1, Page No. 21

Functions of Financial Managers
Refer Unit-1, Page No. 21

Ques 2 a) Following are the summarised Balance Sheet of
Abhijit Ltd. as on 31" March, 2014 and 2015. You are
required to prepare a Funds Flow Statement for the year

ended 31 March, 2015, (10)

_' —_________ Balance Sheet - -
Liabilities | ¢ S Assets } 2 T

131.3.2014 | 31.3.2015 » 31.3.2014 3132015

Share 1,00,000 1,25,000| Goodwill 2,500
Capital

General 25,000 30,000/ Land and 1,00,000 95,000
Reserve Building

Profit and 15,250/ 15,300| Plant and 75000) 84,500

Loss A/e

Machinery

L;ng:terl; J

35,0000 67,600/ Stock 50,000 37,000
Bank Loan
Creditors 75,000 Debtors 40,000 32,100

for Tax Hand

Provision 15,000 17,500/ Cash in 250 4,300

Total @) | 2,65250] 255400 Total @) | 2,65.250 255400

Additional Information:

i) Depreciation written-off on Plant and Machinery
¥7,000 and on Land and Building %5,000.

i) Provision for tax was made during the year ¥16,500.

iii) Dividend of T11,500 was paid,

Ans: Refer Unit-2, Page No. 100

Or
Ques 2 b) The standard ratios for the industry and the
ratios of Anand Ltd. are given below. Comment on the
financial position of the company compared to industry

standards and give suggestions for improvement: 10)
Ratio Industry Ratio of

| | Standard Ratio | Mohit Ltd.
Current Ratio 2.3 2.6
Quick Ratio 1.6 1.10
Inventory Turnover Ratio 6 3
Average Collection Period 40 45

Net Profit Ratio %% 10%

Ans: Refer Unit-2, Page No. 81

Ques 3 a) i) Explain the importance of Capital Budgeting.
©05)

Ans: Importance of Capital Budgeting
Refer Unit-5, Page No. 200

Ques 3 a) ii) Charulata Ltd. is planning an investment in
new project. The investment budget of the company is
2,80,000. The company has following two investment

alternatives: ) i (05)
—Pargct_ll_g—rs B ] Year il?_je_c_tA_ ] Frnj_u?i}_
ntal Investment ¥ | 0| 25,000 | 20000
CashInflows (in?) | 1 | 4000 | 20000 |
2 | 8000 | 16000

————— 3 12,000 8,000

SN | 1000 |
L 0%

,ff\}"i‘;\d — rg}“_}:\. . 4
fe/ N5 [ e
f '-_-Jr h ';\':




Solved Paper (2016)

Compute the Net Present Value at 10% cost of capital and
suggest which project is profitable for the company.
Ans: Refer Unit-5, Page No. 210 +'a

Or
Ques 3 b) i) Explain the factors influencing Capital
Budgeting. g 05)

Ans; Factors Influencing Capital Budgeting
Refer Unit-5, Page No. 201

Ques 3 b) ii) From the following information you are
required to calculate ARR. An investment costing
740,00,000 is expected to produce following profits:  (05)

Year 3
1 3,20,000
2 6,40,000
3 7,20,000
4 2,40,000

Ans: Refer Unit-5, Page No. 206

Ques 4 a) A proforma cost sheet of Deepali Company

provides the following data: 10)
Cost per Unit T
Raw Material 10
Direct Labour 4
Overheads 6
Total Cost 20
Profit 5
Selling Price 25

The following is the additional information available:
Average raw material in stock — one month.,
Average works in process ~ half a month.
Finished goods in stock — on average one month.
Credit allowed to debtors — 2 months.
Credit allowed by suppliers — one monthe
Time lag in payment of wages — one month.
Time lag/in payment of overheads — one month.
‘ash balance is expected to be T25,000.

You are required to prepare a statement showing working
capital needed to finance a level of activity of 40,000 units
per Total Cost Approach Method of Working Capital

235

Additional Information:

i) Selling price Y100 per unit.

ii) Raw Materials in Stock, average 4 weeks.

iii) Work-in-progress, average 2 weeks.

iv) Finished Goods in Stock, average 4 weeks.

v) Credit allowed to Customers, average 8 weeks.
vi) Credit allowed by Suppliers, average 4 weeks.
vii) Lag in Payment of Wages, 1.5 weeks.

viii) Cash in Hand is expected to be, ¥50,000.

You may assume that production is carried-out on evenly
throughout the year (52 weeks) and wages and overheads
accrue similarly. All sales are on credit basis only. You
are required to prepare a statement showing working
capital requirement as per Cash Cost Approach Method
of Working Capital Estimation.

Ans: Refer Unit-3, Page No. 128

Ques 5 a) i) Write a note on factors affecting Capital
Structure, (05)

Ans: Factors Affecting the Capital Structure
Refer Unit-4, Page No. 145

1
Ques 5 a) ii) Pradnya Ltd. has the following capital

structure: (05)
Source | (4
Equity Capital (Expected Dividend 12%) 50,000
10% Preference Shares 25,000
8% Loan 75,000

You are required to calculate the WACC, assuming 50%
as the rate of Income Tax, before and after tax.

Ans: Refer Unit-4, Page No. 182

Or
Ques 5 b) i) Write a note on importance of capital
structure. 05)

Ans: Importance of Capital Structure
Refer Unit-4, Page No. 146

Ques 5 b) ii) Madhuﬁ Ltd. has its books on the following
amounts and specific costs of each type of capital: (05)

e ez vz

Estimation. You may assume that production is carried Book Market Specific
on evenly throughout the year and wages and overheads Type of Capital Value Value Costs
accrue, ® ®) (%)
Ans: Refer Unit-3, Page No. 125 Equity 6,00,000 9,00,000 15
Or Preference 1,00,000 1,10,000 8
Ques 4 b) Amey Ltd. is commencing a new project to Debt. 4,00,000 3,80,000 5
manufacture a plastic component, The following per unit | Retained 2,00,000 3,00,000 13
cost information has been ascertained for annual Earnings
production of 1,00,000 units. (10) Total ) 13,00,000 116,90,000
Raw Material Cost per Unit :0 Determine the WACC using:
aw Materia i) Book Value Weights P
Direct Labour 15 ii) Market Value Weigl;ts. \\m
Overheads (Including Depreciation of I5 per | 30 ) e N
Unit) Ans: Refer Unit-4, Page No. 185 2\
Total Cash Cost 85 c’\%ll;itt\-b' ;J“




236 MBA Second Semester (Financial Management) SPPU

SAVITRIBAI PHULE PUNE UNIVERSITY
MBA - SECOND SEMESTER EXAMINAION, 2017

FINANCIAL MANAGEMENT ]
Time: 2.15 Hours ; Max. Marks: 50

Note: 1) AH questions are compulsory with internal options.
2) All questions carries equal marks,

Ques 1 a) Define financial management. Explain goals of Ques 2 b) Priyadarshini Pvt, Ltd, has following capital

financial management. (10) structure: o (05
—__Souwrces 0O ¢ —

Ans: Meaning and Definition of Financial Management Equity Capital (Expected Dividend 12%) | 10,00,000

Refer Unit 1, Page No. 12 10% Preference Capital 5,00,000

Goals of Financial Management IM [ 1500,000

Refer Unit 1, Page No. 12 Calculate Weighted Average Cost of Capital assuming tax

rate of 50% before and after tax,
Or Ans: Refer Unit 4, Page No. 182

Ques 1 b) Explain the functions of finance manager in -

detail and elaborate (he relationship of financial Ques 3 a) From the following balance Sheets prepare fund

management with other functional disciplines. (10) flow statement and also prepare statement showing

changes in working capital,
Ans: Functions of Finance Manager

Refer Unit 1, Page No. 21 Balance Sheet

e . i

Liabilities _|31/12/94]31/12/95] _ Agsets 31/12/94] 31/12/95 |

. . . i 1,00,000 I ildi 13,200 i

Relationship of Financial Management with other ggll:;nghare 1,20,000 Building 55,400/ 1,13,2 ‘.

If‘l!n('.lil)l"lﬂl' D.isciplines/ Finance and Its Relation with Pref, Share N 10,000 Machinery| 35,600 51,300 1

Other Disciplines Capital |

Refer Unit 1, Page No. 19 General 6,000 11,000/ Furniture | 2,400 2,500 ;

Reserve |

Ques 2 a) Explain various factors affecting capital Profitand Loss | 7,500/ 20,700 Stock 36,500( 38,000 [

structure of the organisation. (05) A/C ’

5% Debentures - 26,000| Debtors 32,100| 38,000 * i

Ans: Factors Affecting Capital Structure of the Sund‘ry 43,500/ 48,400 Bank 4,800 4,000 i

Organisation Creditors : {
Refer Unit 4, Page No. 145 Bank 9,800/ 10,500

Overdraft ‘__j R S 4

Ques 2 b) Calculate Weighted Average Cost of Capital - 1,66,800/2,47,000 —11,66,800] 2,47,000 3

(WACCO) from the following, Adjustment:

Data of RIL Industries:

Depreciation written off during the ye machinery is

Source () in Lac ¥12,300 and on furniture is T400, ' 'L.;\ﬁff'_"“_“ir_@@: (10)
Equity share capital [20,000 shares] 40 Ans: Refer Unit 2, Page No. 96 / > \";;.
16% preference share capital 10 Or = BACA \]l._;.‘l‘
14% Debentures 30 Ques 3 b) Prepare Balance Sht‘é{ on tl%;_mlhf fo}}'g ring
[ 80 information given in terms of ratis. - /=//(10)
o i)  Debtors Turnover Ratio — 4 N\ A
The company pays dividend at 10%. Compute Weighted “J C""‘_ﬁ'"”" Turnover Ratio - _6‘({-9_‘“’?'.:|w
Average Cost of Capital (WACC) based of existing W) - Capital Turnover Ratio - 2 (to sales}—
Capita—l structure, (05) iv) Stock Turnover Ratio — 8 (to cost of sales)
v) Fixed Asset Turnover Ratio - 8 (to sales)
Ans: Refer Unit 4, Page No. 180 vi) Gross Profit Ratio — 259
vii) Gross Profit during the year - 71 ,00,000
Or vii) Reserves and Surplus - 35,000
Ques 2 a) State the importance of capital structure ix) Closing stock is more by 20,000 than openin 2 stock.
decisions in detail. (05) X) There were no long-term liabilities,
xi) All sales are no credit basis,
Ans: Importance of Capital Structure Decisions Prepare Balance Sheet.

Refer Unit 4, Page No. 146 Ans: Refer Unit 2, Page No. 79




239

Find out Payback Period, Net Present Value and
Profitability of Index. o (10)
Ans: Refer Unit 5, Page No. 217 57000
Or

Ques 4 b) A leading apparel Mfg, Co,"is considering
replacement of its existing cutting maghine with a new
automatic machine to improve the productivity. The cost
of new machine is ¥25 lakhs. The cost of the company’s
capital is 10% the incremental cash flows projected
during five years period are estimated as follows:

3 A
WAL

Year 1 2 | 3 | 4 5

Cash Flows @ In | 25 5.0 8.0 10.0 12.5
Lacs)

PVF at 10% 0.909 | 0.826 | 0.751 | 0.683 | 0.621

Comment on the suitability of the project by using NPV
and PI. (10)

Ans: Refer Unit 5, Page No. 215

Jues 5 a) From the following projections of XYZ Ltd. for
the next year, you are required to work out the Working

Capital (WC) required by the company: 10)
Annual Sales 314,40,000
Cost of Production Including Depreciation | 12,00,000
¥1,20,000

Raw Material Purchases 7,05,000
Monthly Expenses 30,000
Anticipated Opening Stock of Raw Materials 1,40,000
Anticipated Closing Stock of Raw Materials 1,25,000
Inventory Norms:

Raw Materials (Month) 2
Work-in-Progress (Days) 15
Finished Goods (Month) 1|

MBA Second Semester (Financial Management) SPPU

The firm enjoys the credit of 15 days on its purchases, and
allows 1 month’s credit on its supplies. The company has
received an advance of ¥15,000 oni sales orders. You may
assume that production is carried on evenly throughout
the year, and minimum cash balance desired to be
maintained is 10,000,

Ans: Refer Unit 3, Page No. 125

Or .
Ques 5 b) From the following information you are
required to estimate the net working capital,

Particulars Cost per Unit
)
Raw Material 2400
Direct Labour 3150
Overhead (Excluding Depreciation) 2300
Total Cost ?SS(TI

Additional Information:

i) Selling Price: 1000 per unit

ii) Output: 52,000 units per annum

iii) Raw Materials in Stock; Average 2 weeks

iv) "Work in Progress (Assume 50% of completion stage
with material consumption) Average 2 weeks

v) Finished Goods in Stock: Average 4 weeks

vi) Credit Allowed by Suppliers: Average 4 weeks

vii) Credit Allowed to Debtors: Average 8 weeks

viii) Cash at Bank: ¥50,000 A

Assume that production is carried out evenly throughout
the year. Assume 52 weeks equal to one year. All sales are
on credit basis. 10

Ans: Refer Unit 3, Page No. 132

R
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SAVITRIBAI PHULE PUNE UNIVERSITY

MBA - SECOND SEMESTER EXAMINATION - 2019
FINANCIAL MANAGEMENT
Time: 2.15 Hours ; Max. Marks: 50

Note: 1) All questions are compulsory,
2) Each question has an internal option.
3) Each question carries 10 marks,

4) Figures to right indicate marks for that question/sub-question,
5) Your answers should be specific and to the point,
6) Draw neat diagrams and i llustrations supportive to your answer.

7} Use of simple calculator is permitted,

Ques 1 a) “The wealth maximising objective js superior to

the profit maximisation objective”, Explain, (10)
Ans: Wealth Maximization is Superior to Profit
Maximization
Refer Unit 1, Page No. 15

Or
Ques 1 b) Describe the finance functions as divided into
three broad categories. 10)

Ans: Finance Functions/ Modern Approaches to Finanbcial
Management
Refer Unit 1, Page No. 18

Ques 2 a) i) Calculate three leverages from the following
data: (05)

Units sold (number)
Unit Sale Price
Fixed Cost
Variable Cost per Unit
' 8% Debt Capital

| %80,000
Ans: Refer Unit 4, Page No. 193

Ques 2 a) ii) The entire capital structure of a company is
provided. Determine the after tax Weighted Average Cost
of Capital (WACQ), assuming the tax rate of 259, 05)

___ Components of Capital | ¢
Equity - Capital (Expected | 15,00,000
_Dividend 11%)

10.5% Preforence Shaves | 10,00,000°
9% Debentures | 20,00,000

Ans: Refer Unit 4, Page No. 181

Or
Ques 2 b) i) Caleulate the Operating, Financial and
Combined Leverage from the following information: (05)

Sl g
| VariableCost | mag000
Interest __i_ 26,000
Fixed Cast 19,000

Ans: Refer Unit 4, Page No. 194

Ques 2 b) ii) Calculate the Weighted Average Cost of
Capital (WACC) based on Book Value Weights and
Market Value Weights of the company with following '

capital structure: (05) .:
Type of Capital | Book Value Market Post Tax '
i {® Value Costs %
S —— |/ I
Equity 10,00,000 14,00,000 14
Preference 4,00,000 4,50,000 9
Shares
| Debt 10,00,000 | 8,00,000 7

Ans: Refer Unit 4, Page No. 184 i

Ques 3 a) The following is Balance Sheet as on 31 March

2016 of the company,

Liabilities L4 _Assets =l " ?_:—

Equity 6,00,000 | Fixed Assets 35,00,000

Shares of

T10 each

Reserve 4,00,000 | Less: 500000 | 30,00,000

Fund Depreciation B o

Profit and | 5,00,000 Stock 6,00,000

Loss A/c

Long- 20,00,000 | Debtors 5,00,000

Term

Loans

Creditors 4,50,000 | Cash 1,00,000

Other 2,50,000

Current

Liabllttles - |
14200000 00 _1_42,00,000 |

Additional Information:

i) Profit earned during the year is ?4,50,000.
ii) Market Price of Share is Y500,

iii) Ignore provisions regarding taxations.

Calculate the following ratios:
Ques 3a) i) Debt-Equity Ratio.
Ques 3 a) ii) Current Ratio,

Ques 3 a) iii) Acid Test Ratio.
Ques 3 a) iv) Earning per Share.
Ques 3 a) v) Price Earning Ratio,

Ans: Refer Unit 2, Page No. 75
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Or
Ques 3 b) The following is summarised Balance Sheet as
on 31" March 2015 and 2016 of the company. Prepare a
schedule of changes in working capital and funds flow
statement for the year ended on 31" March 2016. (10)

Liabilities 2015 2016 Assets | 2015 2016
Share 80,000 | 90,000 | Machinery | 26,000 38,000
Capital
Profit and| 13,000, 24,000 |Building 45,000 | 45,000
Loss A/c ’
Long-Term 1,000 5,000 | Stock 10,000| 7,000
Loans
Sundry 8,000 5,000 | Sundry 16,000 | 22,000
Creditors Debtors
Cash in 5,000 12,000
_ |Hand
1,02,000 | 1,24,000 1,0,2,000 | 1,24,000

Ans; Refer Unit 2, Page No. 95

Ques 4 a) i) Despite weaknesses, the payback period
ithod is popular in practice? Explain. (05)

Ans: Advantages of Payback Period Method

Refer Unit 5, Page No. 203

Disadvantages/ Weaknesses of Payback Period Method
Refer Unit 5, Page No. 203

Ques 4 a) ii) A company is considering the purchase of a
new machine. The cost of machine is ¥22,50,000. The cost
cost of company’s capital is 10%. The following cash
inflows are expected during six year period. The PVF@
10% is also provided for 6 year period. (05)

Year1 | Year2 | Year3 | Year4 | Year 5 | Year 6

Cash 5,35,000 |5,86,000|5,59,000|4,80,000|6,14,000(6,37,000
Flows ()

PVF@10 | 0909 | 0826 | 0.751 | 0.683 | 0.621 | 0.564
%

Comment on suitability of the project by using NPV and
PL (05)

As: Refer Unit 5, Page No. 215

Or
Ques 4 b) i) Explain the merits and demerits of the time-
adjusted methods of evaluating the investment projects. (05)

_Ans: Merits/Advantages of NPV, IRR and PI
Refer Unit 5, Page No. 209, 211, 214
Demerits/ Disadvantages of NPV, IRR and PI
Refer Unit 5, Page No. 209, 212, 214

Ques 4 b) ii) There are two capital investment projects X
and Y with initial cost of each is T3,00,000. The cash inflows

for both projects are given for five year period. 05)
Year1 | Year2 | Year3 | Yeard4 | Year5

Project X| 50,000 | 70,000 | 60,000 | 1,20,000 | 80,000

® I

Project Y| 60,000 | 90,000 | 80,000 | 60,000 | 40,000

(4]
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Appraise the projects based on payback period.
Ans: Refer Unit 5, Page No. 204
Ques 5 a) Prepare a statement showing working capital

requirement to finance a level of activity of 10,400 units
per year. The cost structure is provided below:

Particulars Cost/Unit (%) 2
Raw Materials 10
Director Labour 5
Overheads 7
Profit 5
Additional Information:

i) Average raw material in stock — one month.

ii) Average material in process — 2 weeks (assume 50%
of completion stage with full material consumption).

iii) Average finished goods in stock — one and half
month.

iv) Credit allowed by suppliers — one month.

v) Credit allowed to debtors — one month.

vi) Time lag in payment of wages — 2 weeks.

vii) Time lag in payment of overheads — Imonth.

viii) Cash basis sales — 25%.

ix) Cash balance is expected to be ¥15,000.
The production is carried out evenly throughout the
year, (10)

Ans: Refer Unit 3, Page No. 126

Or
Ques 5 b) From the following information prepare a
estimated working capital requirement statement-
Projected annual sales 31,200 units. Selling Price per unit

is ¥80. 19)
Particular Cost per Unit as % of Selling Price
Raw Materials 45%
Direct Labour 25%
Overheads 15%

Additional Information:
i) Average raw material in stock — 3weeks.

ii) Average work in progress — Sweeks (assume 50% of
completion stage with full material consumption).

iii) Average finished goods in stock — 2weeks.

iv) Credit allowed by creditors ~ 4weeks.

v) Credit allowed to debtors — 3weeks.

vi) Time lag in payment of wages and overheads — 2weeks.
vii) Cash balance is expected to be ¥40,000. '
viii) All sales are on credit basis only.

The production is carried out evenly throughout the year.

Ans: Refer Unit 3, Page No. 127
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UNIT-WISE CLASSIFICATION OF PREVIOUS YEAR QUESTION PAPERS

UNIT 1
Second Semester Examination - 2014

la) “Financial management is nothing  but
managerial decision-making on asset mix,
capital mix and profit allocation.” Explain,

1b) “Liquidity and profitability are competing goals

for the finance manager.” Comment.

Second Semester Examination - 2015

1a) “Financial Management is closely related to

Economics.” Explain,

“The Finance Manager’s primary task is to plan

for acquisiion and use of funds so as to

maximise the value of the firm.” Do you agree

with the statement? Comment,

Second Semester Examination — 2016

la) “Financial Management is something more than
an art of accounting and book-kee ping.” Explain,

Ib) ‘A Finance Manager is a person who is
responsible in a significant way to carry out the
finance functions.’ J ustify.

Second Semester Examination ~ 2017

1 a) Define financial management. Explain goals of
financial management,

1b) Explain the functions of finance manager in detail
and elaborate the relationship of financial
management with other functiona] disciplines.

Second Semester Examination — 2018

1 a) Describe modern approaches to financial management.

1b) Explain functions of finance manager and key
strategies of financial management.

Second Semester Examination — 2019

Ques 1 a) “The wealth maximising objective is superior
to the profit maximisation objective”, Explain.

Ques 1 b) Describe the finance functions as divided into
three broad categories.

UNIT 2
Second Semester Examination - 2014

2 a) Following is the summarised Balance Sheet of
NDA Ltd. as on 31st March, 2013 and 2014. You

1b)

- are required to prepare a Funds Flow statement -

for the year ended 31* March, 2014.
Second Semester Examination - 2015

Balance Sheet

Liabilities | ¢ ¥ | Assets | ¥ [ 7 |
Share 2,00,000)2,50,000|Goodwill - 5,
Capital
General 50,000| 60,000(Land and|2,00,000{1,90,000
Reserve Building
Profit  and| 30,500 30,600/Plant  and|1,50,000 1,69,000
Loss A/c Machinery
Bank Loan | 70,000(1,35.200|Stock 1,00,000| 74,000
Creditors 1,50,000 —  |Debtors 80,000| 64,200
Provision 30,000, 35,000|Cash in 500| 8,600
for Tax Hand

Total  |5,30,500(5,10,800| Total

Additional Information:

) Depreciation written-off on Plant and
Machinery ¥14,000 and on Land and Building
310,000.

ii) Provision for Tax was made during the year
333,000,

iii) Dividend of ¥23,000 was paid.

2 b) The standard ratios for the industry and the ratios
of UPA Ltd. are given below. Comment on the
financial position of the company compared to
industry standards and give suggestions for

improvement.

[ Ratio Industry Standard | Ratio of
| Ratio | UPA L.

Current Ratio 24 25

Quick Ratio 1.5 1.07

[nventory Turmnover 8 4

Ratio

Average Collection 36 40

Period

Debt-Equity Ratio 2:1 1.35:1

Net Profit Ratio 7% 1.7%

Price to Earnings Ratio 15 488 |

An investment costing  ¥20,00,000 is expected
produce following profits:

Year (4
1 1,60,000
2 3,20,000
3 3,60,000
4 | 1,20,000

2 a) The ratios of two leading firms in the Heavy Commercial Vehicles (HCV) sector namely; Tetra Motors and
Rapid Auto are provided for the year ended on 31st March 2013, Interpret these ratios and comment on the

relative financial performance of the companies.
periormance of the comp
Ratios

Current Ratio

=== Quick Ratio
AW TRA755,. 1/ Grross Profit Margin%
N | Net Profit Margin%
Z)\{otal Debt to Equity
< W¥ixed Assets Tumover Ratio
Zinventory Turnover Ratio
SUEPSR)

SIBACA
LONAVALA

| Tetra Motors Rapid Auto
0.62 0.89
0.43 0.47
4.73 6.78
226 4.24
0.56 0.82
1.66 2.01
11.54 6.63
391 | 213 |
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2b) From the following balan¢e sheets as on 31* March 2012 and 31% March 2013 of Dayanand Ltd. You are
required to prepare funds flow statement.

Balance Sheet
Liabilities L Assets L4

31/03/2012 | 31/03/2013 31/03/2012 | 31/03/2013
Equity Capital 3,00,000 4,00,000 | Goodwill 1,15,000 90,000
8% Redeemable Pref. Shares 1,50,000 1,00,000 | Land and Building 2,00,000 1,70,000
General Reserve ] 40,000 70,000 | Plant 80,000 2,00,000
Profit and Loss A/c 30,000 48,000 | Debtors 1,60,000 2,00,000
Proposed Dividend 42,000 50,000 | Stock 77,000 1,09,000
Creditors 55,000 83,000 | Bills Receivable 20,000 30,000
Bills Payable 20,000 16,000 | Cash in Hand 15,000 10,000
Taxation Provision 40,000 50,000 | Cash at Bank 10,000 8,000
Total 6,77,000 8,17,000 | Total 6,77,000 8,17,000

Following additional information is provided:
i)  Interim Dividend of ¥20,000 has been paid in 2012-13.
ii) Income Tax paid during the year 2012-13 is ¥35,000.

-Second Semester Examination — 2016 ,
= ‘a) Following are the summarised Balance Sheet of Abhijit Ltd. as on 31* March, 2014 and 2015. You are required
to prepare a Funds Flow Statement for the year ended 31* March, 2015.

Balance Sheet

Liabilities T 31.3.2014 R 31.3.2015 Assets ¥ 31.3.2014 ¥ 31.3.2015
Share Capital 1,00,000 1,25,000 Goodwill - 2,500
General Reserve 25,000 30,000 Land and Building 1,00,000 95,000
Profit and Loss A/c 15,250 15,300 | Plant and Machinery 75,000 84,500
Long-term Bank Loan 35,000 67,600 Stock 50,000 37,000
Creditors 75,000 - Debtors 40,000 32,100
Provision for Tax 15,000 17,500 Cash in Hand 250 4,300
Total (}) 2,65,250 2,55,400 Total () 2,65,250 2,55,400

Additional Information:

iy Depreciation written-off on Plant and Machinery ¥7,000 and on Land and Building %5,000.
ii) Provision for tax was made during the year ¥16,500.
iiiy Dividend of ¥11,500 was paid.

2 b) The standard ratios for the industry and the ratios of Anand Ltd. are given below. Comment on the financial
position of the company compared to industry standards and give suggestions for improvement:

Ratio Industry Standard Ratio | Ratio of Mohit Ltd.
Current Ratio 2.3 26
Quick Ratio 1.6 1.10
Inventory Turnover Ratio 6 3
Average Collection Period 40 45
Net Profit Ratio 9% 10%

Second Semester Examination — 2017

3a) From the following balance Sheets prepare fund flow statement and so prepare statement showing
changedin working capital.
Balance Sheet
Liabilities 31/12/94 | 31/12/95 Assets 31/12/94 | 31/12/95 |

Equity Share Capital | 1,00,000 | 1,20,000 | Building 55,400 | 1,13,200

Pref, Share Capital - 10,000 | Machinery 35,600 51,300

General Reserve 6,000 11,000 | Fumniture 2,400 2,500

Profit and Loss A/C 7,500 | 20,700 | Stock 36,500 38,000 c\\"”'”“" ST

5% Debentures - 26,000 | Debtors 32,100 38,000 04

Sundry Creditors 43,500 48,400 | Bank 4,800 4,000

Bank Overdraft 9,800 10,900 SIBACA

L 1,66,800 | 2,47,000 1,66,800 | 2,47,000 LONAVALA

Adjustment:

Depreciation written off during the year on machmery is ¥12,800 and on furniture is ¥400.




244 MBA Second Semester (Financial Management) SPPU

3b) Prepare Balance Sheet on the basis of following information given in terms of ratios. (10)
i) Debtors Turnover Ratio — 4
ii) Creditors Turnover Ratio — 6 (to purchases)
iii) Capital Turnover Ratio — 2 (to sales)
iv) Stock Turnover Ratio - 8 (to cost of sales) )
v) Fixed Asset Turnover Ratio — 8 (to sales) i
vi) Gross Profit Ratio — 25%
vii) Gross Profit during the year — ¥1,00,000
viii) Reserves and Surplus - 335,000
ix) Closing stock is more by ¥20,000 than opening stock.
x) There were no long-term liabilities.
xi) All sales are no credit basis.
Prepare Balance Sheet.

Second Semester Examination - 2018 ,
3 a) The following data are extracted from the published accounts of two companies, ABC Ltd. and XYZ Ltd. In an

industry. - o . o
X ABCLtd. | XYZ Ltd.

Partl_cﬂars - ® @
Sales | 32,00,000 | 30.00.000
_Net Profit after Tax 1,23,000 | 1,58,000
Equity Capital (T10per Share Fully Paid) | 10,00,000 8,00,000

General Reserves - L 2,32,000 | 642,000
Long-term Debt - 8,00,000 | 5,60,000
Creditors 3,82,000 | 5,49,000

Bank Credit (short-term) 60,000 | 2,00,000

_Fixed Assets | 15.99.000 | 15,90,000
_Inventories 3.31.000 | 8,09,000

[ Other Current Assets 544,000 | 4,52,000

Prepare a statement of comparative ratios showing Liquidity, Profitability, Activity and Financial Position of
the two companies.

3 b) Prepare Fund Flow statement.

Liabilities 31/03/2008 31/03/2009 Assets 31/03/2008 31/03/2009
Bank OD 1,16,000 55,000 | Fixed Assets 62,000 70,000
Creditors 99,800 1,19,200 | Addition 8,000 17,000
Prop. Div. 16,000 24,000 70,000 87,000
Debentures 10,000 | Depreciation - 25,000 | 36,000
P&L 35,200 48,500 | Net 45,000 51,000
General Reserves 26,000 38,000 | Investment 10,000 15,000
Share Capital 75,000 1,00,000 | Stock 1,81,500 1,90,000

o Debentures | 1,31,500 1,38,700
] 3,68,000 3,94,700 s 3,68,000 3.94,700

Second Semester Examination — 2019 .
Ques 3 a) The following is Balance Sheet as on 31% March 2016 of the company.

Liabilities I Assets i

Equity Shares of ¥10 each 6,00,000 | Fixed Assets 35,00,000
Reserve Fund 4,00,000 | Less: Depreciation 500000 | 30,00,000
Profit and Loss A/c 5,00,000 | Stock 6,00,000
Long-Term Loans 20,00,000 | Debtors : 5,00,000
Creditors 4,50,000 | Cash ‘ 1,00,000
Other Current Liabilities 2,50,000 J

- | 42,00,000 42,00,000 |

Additional Information:

i) Profit earned during the year is ¥4,50,000.
ii) Market Price of Share is ¥500.

iif) Ignore provisions regarding taxattons.
Calculate the following ratios:

Ques 3 a) i) Debt-Equity Ratio.

SIBACA
LONAVALA
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Ques 3 a) ii) Current Ratio.

Ques 3 a) iii) Acid Test Ratio.
Ques 3 a) iv) Earning per Share.
Ques 3 a) v) Price Earning Ratio.

Ques 3 b) The following is summarised Balance Sheet as on 31* March 2015 -and 2016 of the company. Prepare a J
schedule of changes in working capital and funds flow statement for the year ended on 3 1% March 2016. (10)

.'\il ['-\"E f.’? A
\) -ﬂf ” 0’\

Liabilities 2015 2016 Assets 2015 2016 n
Share Capital 80,000 90,000 | Machinery 26,000 38,000 %
Profit and Loss A/c 13,000 24,000 | Building 45,000 45,000 %
Long-Term Loans 1,000 5,000 | Stock 10,000 7,000 |
Sundry Creditors 8,000 5,000 | Sundry Debtors 16,000 22,000
Cash in Hand 5,000 12,000
1,02,000 | 1,24,000 1,0,2,000 | 1,24,000
UNIT 3 iv) Finished goods in stock, average 4 weeks.

v) Credit allowed to customers, average 8 weeks.
vi) Credit allowed by suppliers, average 4 weeks.
vii) Lag in payment of wages, 1.5 weeks.

viii) Cash in hand is expected to be, ¥25,000.

Second Semester Examination - 2014

4 a) A proforma cost sheet of a company provides the
following data:

Cost Per Unit | ¥

Raw Material | 20 o .
Direct Labour | 8 You may assume that production is carried-out on

Overheads 15 evenly throughout the year (52 weeks) and wages
Total Cost 43 and overheads accrue similarly. All Sales are on
Profit 7 credit basis only. You are required to prepare a
Selling Price | 50 statement showing working capital requirement as

. o A . Cash Cost h method of king.
The following is the additional information BeR Cushy Co8¢ ApREogch 7o of Working

s Capital Estimation.
dvaitapberaw material in stock — one month P
Average works in process — half a month
Finished. goods in stock — on average one month

Second Semester Examination - 2015
4 a) A proforma cost-sheet of a company provides the

Credit allowed to debtors — 2 months following particulars:
C'redlt allpwed,by suppliers — one month Flemont of Cost Cost per Unit )
Time lag in payment of wages — one month @
Time lag in payment of overheads — one month Raw Material 80 "
Cash balance is expected to be 390,000 Direct Labour 30 t
~ You are required to prepare a statement showing Overheads 60 k;
working capital needed to finance a level of Total Cost of Production 170 h ‘
activity of 52,000 units of output as per Total Profit 30 ¢
Approach method of Working Capital Estimation. Selling Price 200

You may assume that production is carried on Following further particulars are available:

evenly throughout the year and wages and
overheads accrue.

4b) Namo Ltd. is commencing a new project to

manufacture a plastic component. The following
per unit cost information has been ascertained for

annual production of 1,04,000 units:

Cost Per Unit 4
Raw Material 80
Direct Labour 30
Overheads (Including Depreciation of Y10 per unit) | 60
Total Cash Cost g 170
Additional Information

i) Selling price ¥200 per unit.

ii) Raw materials in stock, average 4 weeks.

iii) Work-in-progress, average 2 weeks.

i) Raw materials are in stock on an average one
month.
ii) Materials are in process on an average half a
month.
iii) Finished goods are in stock on an average one
month.
iv) Credit allowed by suppliers is one month.
v) Credit allowed to debtors is two months.
vi) Lag in payment of wages and overheads are 1
month. :
vii) One fourth of the output is sold against cash.
viii):Cash on hand and at bank is expected to be
%25,000. ‘
You are required to prepare a statement showing the
working capital needed as per total approach method
of working capital to finance a level of activity of
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60,000 units of Production annually, The production
is carried-out evenly throughout the year,

4 b) The cost structure of a company’s product js
as follows:

. CostperUnit | ¢
Raw Materia] 20
Direct Labour 5
Overheads 15
Total Cost of Production | 40
Profit 10

 Selling Price 150 |

i)  The annual production is 2,40,000 units.

ii) It is the policy of the company te maintain
the stock of raw Materials equivalent te ane
month’s production,

iii) Half a month’s production will remain in
process . throughout the year (Stage of
complétion 50%),

iv) The finished goods remain in warehouse on
an average for a month,

V) The “ompany sells its goods on credit and
allows two months credit to its customers,

vi) The suppliers of Taw materials provide 3
months credit to the company,

vii) The period of lag for wages and overheads
is one month,

viii) A minimum cash balance of 325,000 is
expected to be maintained.

You are required to Prepare a statement showing
working capital requirement as per cash cost
approach method of working capital estimation,

Second Semester Examination — 2016
4a) A proforma cost sheet of Deepali Company
provides the following data:
| Cost per Unit_

Raw Materia]
Direct Labour
Overheads
Total Cost
Profit

Selling Price
The followin 2 is the additiona information
Maitableraw material in stock - one month,
Average works in process ~ half a month,
Finished goods in stock — On average one month,
Credit allowed to debtors ~ 2 months,
Credit allowed by suppliers — one month.
Time lag in payment of wages — one month,
Time lag in payment of overheads — ope month,
Cas ce is expected to be ¥25,000.
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You are required to prepare g Statement showing
working capital needed to finance a level of activity
of 40,000 units per Total Cost Approach Method of
Working Capital Estimation, You may assume that |
production is carried on evenly throughout the year 1
and wages and overheads accrue.

4b) Amey Lid. is commencing a pew project to
manufacture a plastic Component. The following
per unit cost information hag been ascertained for
annual production of 1,00,000 units,

e et [

_R_a\EMaten'al__ —— ——.] 40,

Direot Labour | 15

Overheads (Including !')n_-.pruL;i::t_um of T5 pei Unit) | 30

Total Cash Cost 85

Additional Information:

1) Selling price %100 per unit.

ii) Raw Materials in Stock, average 4 weeks,

iii) Work-in-progress, average 2 weeks,

iv) Finished Goods in Stock, average 4 weeks.

V) Credit allowed to Customers, average §
weeks.

vi) Credit allowed
weeks.

vii) Lag in Payment of Wages, 1.5 weeks,

viii) Cash in Hand js expected to be, 50,000,

by Suppliers, average 4

You may assume that production is carried-out on
evenly throughout the year (52 weeks) and wages
and overheads accrue similarly. All sales are on
credit basis only. You are required to prepare a
statement showing working capital requirement ag
per Cash Cost Approach Method of Working
Capital Estimation,

Second Semester Examination - 2017

5 a) From the following information you are required
to estimate the net working capital.

CostPer |
Particulars Unit
——— | ® |
Raw Material 400
Director Labour 150
_Overhead (_I‘:XL‘Illllfl!}i]__)_(‘!_l_r_ﬁiii_ﬂli()ll) 1300
L _Total Cost - 850
Additional Information: ——
Selling Price 1000 per unit

Output
Raw materials jp stock

¥52,000 units per annum
Average 4 weeks

Work in progress  (Assume Average 2 weeks
50% of completion stage with
full material consumplion)

Finished goods in stock Average 4 weeks
Average 4 weeks
Average 8 weeks

350,000

Credit allowed by suppliers
Credit allowed to debtors
Cash at bgn_k_
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Assume that production is. carried out evenly
throughout the year. Assume 52 weeks equal to one
year. All sales are on credit basis.

Or

5 b) Mithila Industries Ltd. cormnencmg a new project.
Following per unit cost information is given. Annual
production is 1,00,000 units.

Particulars Cost Per Unit ()
Raw Materials 40
Direct Labour 15
Overheads 25
Depreciation 05
Total Cost 85

Additional Information:

i)  Selling price is ¥100 per unit.

ii) Raw materials in stock average 4 weeks.

iii) Work in progress average 2 weeks. (Assume 50%
of completion stage with full material
consumption.)

iv) Finished goods in stock average 4 weeks.

v)  Credit allowed to customers 8 weeks.

vi) Credit allowed to suppliers average 4 weeks.

vii) Lag in the payment of wages and overheads 1.5
weeks.

viii) Cash-in-hand expected to be ¥50,000.

Production is carried out evenly throughout the year
(52 weeks) and wages and overheads accrue similarly
all sales are on credit basis. Calculate net working
capital as per ‘Cash Cost Approach Method’ of
working capital.

Second Semester Examination — 2018

5 a) From the following projections of XYZ Ltd. for the
. next year, you are required to work out the
' Working Capital (WC) required by the company:

Annual Sales ¥14,40,000
Cost of Production Including Depreciation ¥1,20,000 12,00,000
Raw Material Purchases 7,05,000
Monthly Expenses 30,000
Anticipated Opening Stock of Raw Materials 1,40,000
Anticipated Closing Stock of Raw Materials 1,25,000
Inventory Norms:

Raw Materials (Month) 2
Work-in-Progress (Days) 15
Finished Goods (Month) 1

The firm enjoys the credit of 15 days on its
purchases, and allows 1 month’s credit on its
supplies. The company has received an advance of
T15,000 on sales orders. You may assume that
production is carried on evenly throughout the
year, and minimum cash balance desired to be
maintained is ¥10,000.

Or
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5 b) From the following information you are required
estimate the net working capital.

Particulars Cost per Unit

(9] |

Raw Material %400 !
Direct Labour 150
Overhead (Excluding Deprcmatlon) 3300
Total Cost T850

Additional Information:

i) Selling Price: 1000 per unit

ii) Output: 52,000 units per anuum

iii) Raw Materials in Stock; Average 2 weeks

iv) Work in Progress (Assume 50% of completion
stage with material consumption) Average 2
weeks

v) Finished Goods in Stock: Average 4 weeks

vi) Credit Allowed by Suppliers: Average 4 weeks
vii) Credit Allowed to Debtors: Average 8 weeks
viii) Cash at Bank: ¥50,000

)

Assume that production is carried out evenly
throughout the year. Assume 52 weeks equal to
one year. All sales are on credit basis.

Second Semester Examination — 2019

Ques 5 a) Prepare a statement showing working capital
requirement to finance a level of activity of 10,400 units
per year. The cost structure is provided below:

Particulars Cost/Unit (?)
Raw Materials 10
Director Labour 5 ;
Overheads 7 :
Profit 5 ¢
Additional Information:

i) Average raw material in stock — one month.
if) Average material in process — 2 weeks (assume h
50% of completion stage with full material k
consumption). ‘
iii) Average finished goods in stock — one and half
month.
iv) Credit allowed by suppliers — one month.
v) Credit allowed to debtors — one month.
vi) Time lag in payment of wages — 2 weeks.
vii) Time lag in payment of overheads — Imonth. !
viii) Cash basis sales — 25%. -
ix) Cash balance is expected to be ¥15,000. 4 -

The production is carried out evenly throughout the year.

Ques 5 b) From the following information prepare a
estimated working capital requirement statement—
Projected annual sales 31,200 units. Selling Price per
unit is I80.

Particular Cost per Unit as % of Selling Price |
Raw Materials 45%
Direct Labour 25%
Overheads - 15%
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Additional Information:

1) Average raw material in stock — 3weeks,

i) Average work in PTOEIEss — Sweeks (assume 50%
of  completion Stage  with  full  materig]
consumption).

1ii) Average finished £00ds in stock ~ 2weeks.

iv) Credit allowed by creditors — 4weeks,

v) Credit allowed to debtors — 3weeks.

vi) Time lag in payment of wages and overheads —
2weeks.

vii) Cash balance is expected to be ¥40,000.

viii)  All sales are on credit basis only.

The production is carried out evenly throughout the year.

UNIT 4

Second Semester Examination - 2014

5a)i) Write a note on Capital Structure,
5 a) ii) Mamta Ltd. has the following capital structure:
_  Sewe e

Equity Capital (Expected dividend 12%) 5,00,000 |

10% Preference Shares 2,50,000
| 8% Loan - 7,50,000

You are required to calculate the WACC,
assuming 50% as the rate of Income Tax, before
and after tax,

5b)ii) Maya Ltd. has its books on the following
amounts and specific costs of each type of

—capital.
Type of Book | Market Specific
_ Capital Value _Value | Costs % B
Equity, 3,00,000 [ 4,50,000
Preference 50,000 55,000
Debt 2,00,000 | 1,90,000
Retained Earnings | 1,00,000 | 1,50,000 )

Total }) 6,50,000 | 8,45,000

Determine the WACC using: /

1) Book Value Weights S / o
arla o : . IS S‘BA

2) Market Value Weights el LONAVALA

Second Semester Examination - 2015"_ 5]

5a)i) A leading company mzt|:Llf‘;lculriiﬁ,(gbgmgeips' is

in need of a capital for its expansion-plans.
Which factors do you think are required to be
considered for raising the long-term funds to
finance the plan?

5 a) ii) The entire capital structure of g company is
provided alongwith the tax adjusted cost of each

component. Determine the Weighted
Average Cost of Capital (WACC).
ot o ' Tax Adjusted
| Componentsof Capltal | ¢ | Cost of Capital
| 12% Debentures | 30,00000 | gy
9% Preference Shares _20,00,000 j 9%

Equity Shares

5000000 [ 149

' ":r‘;\-"'ul Determine the WACC using:
| ___-',-|.f' i) Book Value Weights, ii) Market Value Weights.

' ;‘econd Semester Examination — 2017

MBA Second Semester (Financial Management) SPPU

5b)i) State the various assumptions made in capital
structure theories,

5b)ii) Rajaram L. has the following  capita]

Structure:
Particulars Market | Book Component
Values | Valyes Cost%
[ (Post-tax)
! — S Teax)
ﬁquily_(}_p_il;_u_ 8

Preference Share Capital 15
_Seglred_D_ebgliureg o j_ 40 14

Calculate Weighted Average Cost of Capital
(WACC) of the company based on both book and
markel values,

Second Semester Examination -~ 2016
Sa)i) Write a note on factors affecting Capital

Structure.
2 4) ii) Pradnya Ltd. has _the following capital
L 31:1_10|._urc;i1_unw R (4
Equity Capital (Expected Dividend 129%) 50,000
10% Preference Shares 25,000
8% Loan 75,000

You are required to calculate the WACC,
assuming 50% as the rate of Income Tax, before
and after tax.

5b)i) Write a note on importance of capital
5b) iiptMatiineri Ltd. has its books on the following

amounts and specific costs of each type
of capital;
Book Market
gi:: :t:f Value Value
— | 0 | ®
Equity 6,00,000 9,00,000
Preference 1,00,000 1,10,000
Debt 4,00,000 3,80,000
Retained 2,00,000 3,00,000
[ Earnings - 5 B
N\Total (%) _13,00000]  1690,000]

2 a) Explain various factors affecting capital structure
of the organisation,
2b) Calculate Weighted Average Cost of Capital
(WACC) from the following,
Data of RIL Industries:
Source

Equity share capital (20,000 shares) |
16% preference share capital
14% Debentures

e |

The company pays dividend at 10%. Compute
Weighted Average Cost of Capital.(WACC) based
of existing capital structure,
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2a)  State the importance of capital structure
decisions in detail.

2b)  Priyadarshini Pvt. Ltd has following capital
structure:
Sources X
Equity Capital (Expected Dividend 12%) | 10,00,000
10% Preference Capital 5,00,000
8% Loan 15,00,000

Calculate Weighted Average Cost of Capital
assuming tax rate of 50% before and after tax.

Second Semester Examination - 2018
2 a i) Explain factors affecting capital structure.

249

Ques 2 b) ii) Calculate the Weighted Average Cost of
Capital (WACC) based on Book Value Weights and
Market Value Weights of the company with following
capital structure:

Type of Book Value | Market Value | Post Tax
Capital ) (4] Costs%
Equity 10,00,000 14,00,000 14
Preference 4,00,000 4,50,000 9
Shares :
Debt 10,00,000 8,00,000 7
UNIT §

Second Semester Examination — 2014

3 a) i) ‘Capital Budgeting decisions are quite critical in

2 a ii) Mamta limited has following capital structure:

Source (4
Equity Capital (Expected Dividend 12%) | 5,00,000
10% Preference Shares 2,50,000
8% Loan 7,50,000

fou are required to calculate the WACC, Assuming

50% as the rate of Income tax before and after tax.

2 b i) Explain concept and measurement of cost of

capital.

2 b ii) The entire capital structure of a company is
provided along with the tax adjusted cost of
each component, Determine the WACC.

nature.’ Justify.

3 a) ii) Mahendra Ltd. is planning an investment in
new project. The investment budget of the
company is <2,80,000. The company has
following two investment alternatives:

Particulars Year | Project P | Project Q
Initial Investment ¥ 0 2,80,000 | 2,80,000
'Cash Inflows (in %) 1 40,000 2,00,000
2 80,000 | 1,60,000

3 1,20,000 -80,000

4 1,80,000 40,000

5 2,40,000 40,000

Source Amount Tax Adjusted Cost of
®) Capital
12% Debenture 30,00,000 8%
9% Preference Share | 20,00,000 9%
Capital
Equity Shares 50,00,000 14%

Second Semester Examination - 2019
Ques 2 a) i) Calculate three leverages from the

following data:
Units sold (number) 40000
Unit Sale Price 39
Fixed Cost 135,000
Variable Cost per Unit 37
8% Debt Capital 80,000

Ques 2 a) ii) The entire capital structure of a company
is provided. Determine the after tax Weighted Average
Cost of Capital (WACC), assuming the tax rate of 25%.

Components of Capital T
Equity  Capital  (Expected | 15,00,000
Dividend 11%)

10.5% Preference Shares 10,00,000
9% Debentures 20,00,000

Ques 2 b) i) Calculate the Operating, Financial and
Combined Leverage from the following information:

Sales 60,000
Variable Cost 328,000
Interest 6,000
Fixed Cost 319,000

Compute the Net Present Value at 10% cost of
capital and suggest which project is profitable
for the company.
3 b) i) Explain with example the term ‘Profitability Index’.
3bii) From the following information you are
required calculate ARR,
An investment costing “20,00,000 is expected

produce following profits:
Year ‘N o~ o
1 1,60,000
2 3,20,000
3 3,60,000
4 1,20,000

5 b) i) Write a note on NI Approach.

Second Semester Examination - 2015 S
3 a)i) What are the different types of capital budgetmg
decisions?
3 a)ii) A leading apparel manufacturing Company is
considering a replacement of its existing cutting
 machine with a new automatic machine to
improve the productivity. The cost of new
machine is (%) 25 lac. The cost of the company’s
capital is 10%. The incremental cashflows
projected during five year period are estimated

as follows:
Year 1| Year 2| Year 3| Year 4| Year 5
Cashflows 25| 500 800 10.00| 125
(R in Lac)
PVF@ [10%| 0.909| 0.826]| 0.751| 0.683| 0.621

Comment on the suitability of the project by
using NPV and PL.

\J\lNI‘un‘,}?_
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3b)i) Why capital expenditure budget is required for
corporate organisations?
3b)ii) A leading company in the infrastructure
contracts is considering a proposal for the
purchase of earth moving equiptient. The data
on the proposal is given below:
| Cost of the machine (3) | 30,00,000
Life of the machines 6 years _
Depreciation Straight line method

Salvage value (%) | Nil

The estimated cashflows before depreciation and
income tax in different years as follows:
Year | ¢ ]
| 7,50,000
8,00,000
8,50,000
10,00,000
12,00,000
14,00,000
Total | 60,00,000

The corporate tax rate is 30%. You are required to

calculate the cashflows after tax but before
depreciation and comment on the suitability of the
machine bases on pay-back period.

Second Semester Examination — 2016

3a)i) Explain the importance of Capital Budgeting.

3 a) ii) Charulata Ltd. is planning an investment in new
project. The investment budget of the company is
$2,80,000. The company has following two
investment alternatives:

Particulars | Year | Project A | ProjectB_
| Initial Investment ¥ | 0 | 28,000 | 28,000 _
Cash Inflows (in 7) 1 4,000 20,000

2 | 8000 | 16,000
3 | 12,000 1 8,000
4 18,000 4,000
5 24,000 4,000

Compute the Net Present Value at 10% cost of
capital and suggest which project is profitable for
the company.
3 b) i) Explain the factors
Budgeting.
3 b) ii) From the following information you are
required to calculate ARR. An investiient costing

influencing Capital

¥40,00,000 is expected to produce following profits:
Year | _ L4
1 3,20,000
2 6,40,000
3 7,20,000
L8 _2:40,000

Second Semester Examination — 2017
4 a) From the following information of Rushi Pvt. Ltd.,
suggest which of the machine to be purchased.

MBA Second Semester (Financial Management) SPPU

Expected earnings.after tax are given below. Each
machine requires, investment of 34,00,000.

’Tear Machine-A | Machine -
Cashflow | Cashflow
0 | (400000 | (4,00.000) |
1 40,000 1,20,000
2 | 12000] 160000
3 | 160000 | 200000
4 | 240000 | 1,20,000
5 | 160000 80000
Cost of capital is 10%. Calculate net present value
and profitability index.
4b) Balkrishna  Industries Ltd. has following

investment proposal which requires investment of
¥53,00,0000 and hag following income as cash

inflows.
[_Yg?_ Cash Inflows
1 | 1600000
, 2 | 1800000
3| 2000000

15,00,000

5 | 1500000
6 | 1000000

Assume cost of capital as 10%. Calculate pay-
back period, net present value and profitability
index.

Second Semester Examination — 2018

4 a) ABC Lud. is planning investment in new project.
The investment of the company is ¥30,00,000. The
company has following two alternatives. Assume
Cost of Capital at 12%

_Particulars | Project A  PVat12%

[ 700000 0893
2 | 10,00,000 0.797
3 1 9,00,000 0.712

4 __8,00,000 0.636 |
5 4,00.000 0.567

Find out Payback Period, Net Present Value and
Profitability of Index.

4 b) A leading apparel Mfg. Co. is considering
replacement of its existing cutting machine with 2
new  automatic machine to improve the
productivity. The cost of new machine is ¥25
lakhs. The cost of the company’s capital is 10%
the incremental cash flows projected during five
years period are estimated as follows:

Year =~
Cash Flows (¥ In
Lacs) _
PVK at 10%

Comment on the suitability of the project by using
NPV and PI.
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Second Semester Examination - 2019
Ques 4 a) i) Despite weaknesses, the payback period method is popular in practice? Explain.

Ques 4 a) ii) A company is considering the purchase of a new machine. The cost of machine is ¥22,50,000. The cost
cost of company's capital is 10%. The following cash inflows are expected durmg six year perlod The PVF@ 10%is |
also provided for 6 year period. J

" Year 1 Year 2 Year 3 Year 4 Year 5 Year 6
Cash Flows ® 5,35,000 5,86,000 5,59,000 4,80,000 6,14,000- 6,37,000
PVF@10% 0.909 0.826 0.751 0.683 0.621 0.564

Comment op suitability of the project by using NPV and PL

Ques 4 b) i) Explain the merits and demerits of the time-adjusted methods of evaluating the investment projects. (05)

Ques 4 b) ii) There are two capital investment projects X and Y with initial cost of each is ¥3,00,000. The cash
inflows for both projects are given for five year period.

Year 1 Year 2 Year 3 Year 4 Year 5
Project X (}) 50,000 70,000 60,000 1,20,000 80,000
Project Y (%) 60,000 90,000 80,000 60,000 40,000

Appraise the projects based on payback period.
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MODEL PAPER

FINANCIAL MANAGEMENT!

MBA - SECOND SEMESTER EXAMINATION

: :
Time: 2 V2 Hours Max. Marks: 50

Note: 1) All questions shall be com pulsory with mternal chonce within the questions.
2) FIVE questions each carries 10 marks, R '

3) Figures to the right indicate marks for that questlon/sub-question.

1) Answer any 5 out of §;
a) What do you mean by profit maximisation?
b) Define earnings per share.
¢) What is operating cycle?
d) Discuss gross working capital.
€) What is operating leverage?
f) Discuss profitability index.
g) What do you understand by internal rate of return?
h) Who is finance manager?
2) Answer any 2 out of 3;
a) Discuss the functions of financial management. '
b) Calculate the following ratios:
i)  Gross profit ratio

ii) Net profit ratio
iii) Current ratio
iv) Liquid ratio
v) Proprietary ratio

(2 marks each)

(5 marks each)

L e A T ¢

o,

Particulars L4 Particulars (s
Sales 30,00,000 | Fixed assets 15,40,000
Cost of sales 20,00,000. | Net worth 16,40,000
Net profit 4,00,000 | Debts (long-term) 9,00,000 ¢
Average inventory | 8,00,000 | Current liabilities 5,00,000
Other current assets 7,00,000 | Net profit before Tax and Interest | 8,00,000 ?
¢) From the following particulars, of Sun Pharma Ltd, - ,j;;
____Particulars 2018 2017
Revenue from operations | ¥10,00,000 ¥6,00,000 5
Cost of materials consumed | 60% of revenue from operations 50% of revenue from operations E
Indirect expenses 30% of cost of materials consumed | 20% of cost of materials consumed i
Tax rate 40% 40% ;
|

Prepare a common size statement of profit and loss.

3) @) From the following data, compute the duration of the net operating cycle for each of the two years and comment on

the increase/decrease:

(10 marks)

. R (in Thousands)

tarticnlirs Year1 | Year2 |

::‘*:\-”Ji‘- ?r, Stocks:

L7 )’("A Raw materials 20 27
/ \ \ Work-in-progress 14 18
( 5[ smacA | Finished Goods 2| 4
(FJ:J; LONAVALA /=) Purchases 96 135
NN /2l Cost of Goods Sold 140 180
W LS Sales 160 200
> Debtors 32 50

_Creditors 16 18

Assume 360 days per year for computational purposes.
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by the company for the year ending 311-3-2017.

Additional Information

i) Itis estimated that sale will increase by 25% next year.
ii) Maximum amount of overdraft that can be availed will be only ¥1,60,000.
iii) There will be no increase in the liability, due to increase in exports.

vi) -There will be no increase in total amount of cash and bank balances.

4)  a) Priyadarshini Pvt. Ltd. has following capital structure:

253
Or
b) The following are the extracts from the balance sheet of a company as on 31-3-2016. Compute the net working capital required
(10 marks)
Balance Sheet as on 31-03-2016
SRy Particulars A L4
" | Fixed Assets '
] . Land and buildings 5,00,000 | -
Plant and machinery 3,00,000 | 8,00,000
Current Assets
- Stock: 8,00,000
Debtors 3,00,000
Cash and bank 2,00,000
13,00.000
Less: Currerit Liabilities
Creditors 3,40,000
Taxation 80,000
Bank overdraft 1,40,000
Bills payable 1,60.000
7,20,000
Working Capital 5.80.000
13,80,000
iv) Period of credit allowed to customers and stock turnover will remain unaltered.
v) Period of credit allowed by creditors and that for bills payable will remain the same. . !
(10 marks)
Sources R =
Equity Capital (Expected Dividend 12%) | 10,00,000
10% Preference Capital 5,00,000
8% Loan 15,00,000

Calculate Weighted Average Cost of Capital assuming tax rate of 50% before:and after tax.

Or
b) Calculate operating leverage, financial leverage and combined leverage from the following information: (10 marks)
Particulars X Company Ltd. | Y Company Ltd.
®) ®)
Sales 25,00,000 35,00,000
Variable Cost 7,00,000 11,00,000
Fixed Cost 8,00,000 10,00,000
Interest 3,00,000 4,00,000

5) a) A company issues 10% irredeemable debentures of ¥1,00,000. The company is in the 55% tax bracket. Calculate

the cost of debt (before and after tax) if the debentures are issued

(10 marks)

i) AtPar;

1) 10% discount; and

iii) 10% premium.

Or

b) Balkrishna Industries Ltd. has following investment proposal which requires investment of ¥53,00,0000 and has
following income as cash inflows.

(10 marks)

Year | Cash Inflows —

1 16,00,000 >

2 18,00,000

3 20,00,000

4 15,00,000

5 15,00,000

6 10,00,000




Sinhead Institute of Business Administration & Computer Application Lonavala
Internal Examination Juiy 2022
NBA Semester 11
Subject — (202) I'inancial Management

Max Marks 50 Time 2 Hrs

Instructions:
A. All Questions are compulsory (10 marks eacli)
B. Eacli question has an internal option.
C. Use of simple calculator is permitred.

Q.1. A Finance Manager is a person who is responsible in a significant way to carry

out the finance functions.” Jusufy. (16
OR

Q.1. ~The wealth maximizing objective is superior to the profit maximizaiion objective .
Explain (10)
Q.2. a) Calculate OL, FL and CL from the following (3)
A company hos sales of Rs. 1.00.000. The variable cost is 40%6 of the sales while the Fixed
operating cost amount to Rs. 30.000. The amount of interest on long term loan
Debt is Rs. 14.000.

b) Calculate Weighted Average Cost of Capital (WACC) from the ()

following based on Book Value Weights and Market Value Weights of the following
capital structure and The company pays dividend at 10%.

B Sources ~ Book Value (Rs.) Market Value (Rs.) Post Tax Costs %
- Equity Share capital ~ 10.00.000 ~14.00.000 14 )
i Preference share capital ~ 4.00.000  :  4.50.000 9
Debentures . 10.00.000 . 8.00.000 I i
‘ OR
Q.2. a) Calculate three leverages from the following (3)
_ Units sold (number) 50000 _‘
Units Sales Price | Rs. 10 .
- Fixed Cost | Rs. 30000 |
Variable cost per unit | Rs. 6 i
| 10% Debt Capital | Rs. 70000 |

SIBACA
LONAvVALA



h) The entire capital structure of o company is provided. Caleulate Weighted
Average Cost of Capital (W ACC) before tax and after tax,

assuminyg the tax rate of 23% (3
Components ol Capital (Rs.)

Equity Share capital (Expected Dividend 11%%) 15.00.000

10.53%0 preference share capital 10.00.000

9% Debentures

20.00.000

.3, The standard ratios for the industry and the ratios of Rina Ltd. are given below.
Comment on the {inancial position of the company compared to industry
Standards and give suggestions for improvement: (10)
Ratios Indusiry Standard Ratio Ratio of Rina Lid ¢
Current Ratio 2.3 2.6
Quick Ratio 1.06 1.10
Inventory Turnover Ratio O 3
Average Collection Period 40 43
Net Profit Ratio 9% 1676
— |
OR
0.5, From the following balance sheet prepare fund flow statement and also prepare
Statement showing changes in working capital. (10)
Liabilities 131703821 31705422 | Assets i 3170321 | 31/03/22
Equity Share Capital ¢ 10000"! 120000 ; Building 33400 113200
Pref. Share Capital | -- 10000 ; Machinery i 35600 51300
General Reserve 6000 11000 | Fumiture 2400 2500
Profit & L0>3 Ac 7300 20700 Stock 36300 38000
3 % Debentures L = 26000i Debtors 52100 38000
Sundry Creditors 43300 48400 Bank 4800 4000
Bank Overdraf 9800 0900 | .
166800 747000 . 166800 1 247000

Adjustment:- Depreciation written oft during the year on machinery is Rs. 12800 and on
Furniture is Rs. 400.

Q.4. PQR Ltd. is planning investment in new project. The investment of the company
1s Rs. 30,00,000. Assume cost of capital at 12%. Find out Payback period, NPV

and Profitability Index. (10)
. Year | Cash Inflow (Rs.)
i 1 [ 7.00.000
; 2 | 10.00.000
3 ; 9.00.000
| 4 8.00.000 SIBACA
3 JI 4.00.000 ' LONAVALA
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OR

a) What are the factors affecting working capital requirement? (5)
b) Write a note on importance of capital structure planning. (3)

[From the following information prepdre a estimated working capital requirement
Statement — (10)
1) Projected annual sales 31200 units. Selling price per unit 1s Rs. 80
2) Raw material 43% of Selling price. Direct Labour 23% of selling price.
Overheads 13% of selling price
3) Average raw material in stock — 3 weeks.
<) Average work in progress — 3 weeks (assume 30% of completion stage with full
Material consumption).
3) Average Finished Good in stock — 2 weeks.
6) Credit ailowed by creditors — 4 weeks.
7) Credit allowed 10 Debtors — 3 weeks.
8) Time lag in pavment of wages and overheads — 2 weeks.
9) Cash balance is expected to be Rs. 40000.
10Y All sales are on credit basis only.
OR
Answer any five : (10)
1) Define Earning Per Share
2) What is Operating Cycle?
3) What is Gross Working Capital and Net Working Capital?
4) What is Combined Leverage?
~) What is NP\™?
6) What is Trading on Equity?
7) Define Time Vaiue of Money.
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Instractions to the

D Aillg

N
v

: =)
; |
o1) Answ&e @O‘m‘ Multiple Choice Question (Any 5}52’) [10]
1) Funm financial resources in the form of: <%

-y

aL\;ﬁCa'.potm capital by Busini@s Funds
w Cash Equivalents AN A]@f these
i) Q]"hc sum of short term and lon&@n @‘bes of finance is ktiow as :
a) Capital structure \V b)~ VBoth of these
»-c)/ Finamcial structure @"Q \63’ None of these

iy The decisions of investi lofy term or fixed assets on the basis of °
cost - bemefit analysis @Qssk -{_'};tum analysis are known as:

o
a) Working capi ig\icgb b) Financial Decisions t:‘\}
~¢) Capital budgeting g_-qiéion d) None of these ({,?E-)
iv) The decisions relati ““i% the use of profit or income of an entiddy or
organization are h{ﬁ r{f-’
a) Finanoe degiion “b) Dividend degiStens o,
¢) Investmentdecision d) Anyof t%usav N
v) The concept that value of a rupee to be received&dﬁm@ﬂ less than the
value of & rupe¢ on hand today is named as @ ‘Q}
a) Recovery factor comcept B Titaeh alu& money
c¢) Compounding factor conceptd) e pf\aﬂ\ese
vi) The methaod of converting the amoun sl‘:}_\,aﬁ\d cash equivalents value
in present.is known as: N
( .
2) Compounding b) (\&a’wty
¢) Disommting d)\b&None of these

Ny

b




vil) The decisions which are concerned u,f("th allocation of funds to the short
term investment proposal are kl]()WJVﬂb
a) Capital investment b}\ Workmg Capital decisions
¢) Capital budgeting ﬂ‘) None of these

viii) Through leaVngthq‘\mlysmlhe financial manager measure the relationship
between. .
a) Cost and’\,,;!‘m% ' b)  Sales revenue and earning
¢c) C osta%}'sdwb revenue d)—Cost sales, revenue and earning

Q’ \\
02) Write sho{fijtes; Mnyz) _ [10]

a) PK lal@‘i—uc‘dsmw

b) Fauom}g oy

c) ()pefminb cycle. &

d) l@ﬁ‘ng on equity. ) Vi

\,’\V' x\ *"“.;;

03) The following is the Balance Sheetn#aﬁ}dhdl Idia Pvt, Ltd .. , Ahmednagar as
on 31° March 2022. ALY f‘ v [10]
Balance 9@3& as on 51 03. 2022
Lisbilites | Amair | Avsets | Amount |

Share capltal - ﬂ*ﬁoo qu_ul';nd_éulldmg - 140 000 @
Profit and | loss A/C | 80 009, ‘ Plant zirid_l!Iachmery ___ 13,50,000 :?"
General Reserve | @ _Stock in Trade 12,00 OQQC

12% Debenture _ @ 7,000 | Debtors A IOOJQOO
Creditors | hal 00,000 | Bills Recelvable ! I‘ﬂ 0(}()
Billspayable | 150,000 | Bak § j v [5540,000
_ Teal| sdowo | UViowl| 8;‘_‘3000 ]
Calculate: ,\‘*‘ o)

1)  Current Ratio. Q__\S f_-:‘.f
2)  Quick Ratio. »-:.\\ ¥ o
3) Inventory to working capital. i ,«{ /s > ~4 N\
4) Debt to Equity. N "[ spaca B\

5) Proprietary Ratio. Q;_‘-“ \\k LORAEEY

OR ™ N

[5860] - 202 2 NUE IS



The following Balance Sheet of Amrish btﬁ’ in as follow:
Balance Sheet As 0@,3/ 1.03.2022

Liabilities Amount ﬁsse.ts Amount
Equity capital 1,00 OOQ\V: “Goodwill 5,00,000
6% per share "Q,OO,Q@Q Plant and Machinery 6,00,000
General Reserve }1,0&960 LandandBuilding | 7,00,000
Profit and loss -“’*@VV 490,000 | Further 1,00,000
provision for }& ‘ \09—276,000 Inventory ) 6,00,000
Billspayablé> [P 124,000 | BillsReceivable | 30,000
Bank o/dyyy Y 20000 | Debtor 1, 1,550,000
Creditels> ~ | 80,000 | Bank ~ 2,00,000
12% Debep\‘uu*é 5,00,000 | Short term Invesmo@&lt 20,000

Total™” 29,00,000 | Total | 29,00,000
Calculaié:: = "‘:7
) ~Current Ratio. «\t” . f"f,fj
ii) v Liquid Ratio. ,ff\\/ (_\QF
iii)y Current Asset to Fix Asset. \j"x 5 R \Q v
iv) Debt to Equity. Q\ an’
v) Proprietary Ratio. & N

S N

a) Swaraj Ltd. is uons}mmg’lﬁ‘vestmb in a project that is expected to cost A
T 12,00,000 and has an gffective life of 5 year. The projected cash mf@v

04)

for this period is as fgﬂbws ~’[5]
©
Year %omt ) | AV
1 > 3,00,000 N
N A\, &
2 3,00,000 e\ Y Q
™
3 4,50,000 NS A
= -~ 7 N
4 4,50,000 QR
5 7,50,000 ~w S
Calculate: ‘1:? 8
i)  Pay Back Period. \‘S:k ﬁ
i) Net Present value @10% rate of dlauwm
ii) Profitability Index. ‘ ‘j,'
OR J
3
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a) A firm whom 10% is consider in to.ﬁhtual exclusive proposal. X & Y.
Then details of which are as follow;

Year Proposal < X Proposal ‘Y’
1 1,00,800 6,50,000
2 | 250,000 6,00,000
3N 350,000 6,00,000
o) 75,50,000 5,75,000
..by |y 7,50,000 525,000 |
Calculat of\ﬁy: following proposal X and Y. for an intial investment
of T15 qu‘go
b) (ln& Lt(h has following capital structur h:’\ [5]
Sowrce V' Amount A
Equitycapital (Expected divided 12%)| 10,00 Q00| -
10%,preference share 5,00,000
8% loan 150,000

\\, our required to calculate wenght&d,,?\vgq?ge cost of capital (WACC)
Assuming that 50% as the rate,e{/ comE\

OR ’\v*
b) Calculate weighted averaga%t oﬂ@apltai from the following.

Source of Capital Bowalug':ﬁ capital rupee | Specific cost %)

Equity share ff?“?‘ 25,00,000 1 N

Preferance share 4.~ . 18,00,000 13 N

Bank loan’ A 13,00,000 10 T*‘Q‘P
N &

Q5) The Board of Directors ogﬁaﬁhdk limited request you to prepare a sta%ément
showing the working apital requirements for a level of a-e,tywty r\?t 30 000

units of output for t}dear
( The cost structure for the company’s product for{b\‘f ab,q% mentioned
activity level is given below. Q} \R?\_;
Particular Cost per unit (RS) q Y
Raw materials 20 N . W
Direct labor 5 w N
‘Q:"'l‘. (W,
Overheads 15 Y o
Total 40 ~
-' e

PTOﬁt 10 - ~

ing Pri 50 2
I_S_ellmg, Price Q?‘

, WY
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0

a) Past experience indicates that raw @terials are held in stock, on an
average for 2 months. v

b) Work in progress (100% conllﬁ}‘?%} in regard to materials and 50% for
labour and overhead) will be ilf a month’s production.

¢) Finished goods are in stocl{‘iﬁ an average for 1 month,

d) Credit allowed te{mnhq‘,ﬂﬂl month.

e) Credit allowqc@)dek s : 2 month.

) A minimuS.a @aﬁce of T 25,000 is expected to be maintained.

eng.éaf of working capital requirements, [10]

PrepareQ

@ A OR
Calcul§ k wei'k‘ing capital requirement of “RJM Litd.”. NG
Particu v | Cost per unit (Rs) A
— = I "\E:"\
Raw mate{m;\ . 800 O
D- g ..-_«\'
Over, hizads 600 N qﬁi L
To@l‘:'cost 1700 . & 4
Profit 00 A
Selling price 20000 O
Additional information. <

1)  Output 60,000 units p

N
@r‘(? O

2) Raw material in sto | gq'fh ,\:\

3)  W/P - half month (considet 100% Raw material and 50% labour astdl
OH). {:’“‘ W

4)  Finish godds in stoci1 month, Ao’

5) Credit allowed bm}ppliers - 1 month. _\:\ ; _

6) Credit allowed te debtors 2 month. ™\ V' Q\‘:b'

7)  Delay in payment of wages half month. :\:}v" f{:w

8) Delay in payment of overheads half month. Q f\\[}\

Assume that production is carried out evenly thit

are credit sales.
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